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1. Answer: C 
Explanation: 
● Gunpowder was introduced in India during the 

Sultanate period. It was prepared by using 
saltpetre, sulphur and charcoal in different 
ratios for use in different types of guns. 

So, statement 1 is not correct. 
● Yantranaja, an astronomical instrument, was 

developed by Mahindra Suri who is a court 
poet of Firoz Shah Tughlaq. So, statement 2 is 
not correct. 

● The use of paper began during the period of 
Delhi Sultanate. The well known centres of 
paper production are Patna, Murshidabad and 
Aurangabad etc. So, statement 3 is correct. 

Therefore, option (c) is the correct answer. 
 

2. Answer: A 
Explanation: 

 According to a late 18th century glossary, the 
word khud-kasht is defined as one who, 
“having paid himself the money (for the 
purchase of) oxen etc, gets the cultivation 
done by the peasants”. It sums up by saying, 
“if the owner of land (malik-i-zamin) 
cultivates his own land, he is called khud-
kasht”. The peasants who owned the land they 
tilled were called khudkasht. They paid land 
revenue at customary rates. Some of them had 
many ploughs and bullocks which they let out 
to their poorer brethren, the tenants or 
muzarian who generally paid land revenue at a 
higher rate. These two groups were the largest 
section among the cultivators in the village. 
Thus, the village society was highly unequal. 

 The khud-kasht or owner-cultivators are 
sometimes equated wrongly with the entire 
body of resident cultivators. They are also 
contrasted with the pahi or pai-kasht that came 
from neighbouring villages or parganas to 
cultivate surplus land, or to resettle a ruined 
village or to settle a new one.  

 Apart from the cultivators, there were landless 
persons who worked as labourers (majurs). In 
addition, there were the service people- the 
ironsmith, the carpenter, the rope-maker, the 
potter, the leather worker, barber, washer men, 
the village watchman, etc. 

Therefore, option (a) is the correct answer. 
 
3. Answer D 

● The Poverty Gap is the average of the 
differences between the income of each 
individual poor and the poverty line. 

● Poverty gap measures the total amount of 
income necessary to raise everyone who is 
below the poverty line up to that line. 

● The total poverty gap can be considered as the 
amount of money per day it would take to 
bring every poor person in an economy up to 
our defined minimum income standards. 

 
4. Answer A 

The term "inverted duty structure" refers to a 
situation where the tax rate on inputs or raw 
materials used in the production process is higher 
than the tax rate on the finished goods or products. 
In other words, it occurs when the tax burden is 
higher on inputs compared to the final product. 
So, statement 2 is correct. 
The inverted duty structure can be particularly 
problematic for industries that rely heavily on 
imported inputs or raw materials. It can hinder the 
competitiveness of domestic manufacturers, create 
inefficiencies in the supply chain, and negatively 
impact sectors that are dependent on exports. So, 
statement 1 is correct. 
 

5. Answer C 
● Statement 1 is incorrect: Under cash reserve 

ratio (CRR), the commercial banks have to 
hold a certain minimum amount of deposit as 
reserves with the central bank.  

●  Statement 2 is correct: These are not reserved 
with the Reserve Bank of India (RBI), but 
with banks themselves. 

●  Statement 3 is incorrect: Banks can’t lend the 
CRR money to corporates or individual 
borrowers. 

 
6. Answer C 

● Statement 1 is correct: It is the rate at which 
the Reserve Bank is ready to buy or rediscount 
bills of exchange or other commercial papers. 

● Statement 2 is correct: This rate has been 
aligned to the MSF rate. 
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● Statement 3 is incorrect: The current Bank 
Rate (as on 22 August) is 5.65%, 25 basis 
point above the Repo Rate. 

 
7. Answer D 

Statement 1 is incorrect: It is the rate at which 
only short term funds are borrowed and lent in the 
money market. 
Statement 2 is incorrect: A tight liquidity 
condition leads to a rise in call money rate. 
 Statement 3 is correct: When banks borrow for 
one day it is known as call-money. 
 

8. Answer A  
Explanation 
●  Suppose a nation like China is dumping 

(exporting) its goods at cheap prices in order 
to capture the market, these cheap prices 
cannot be justified by market forces alone. 

● So the Indian government has to impose a 
duty on the product to increase its price.  

● This is for the safety of household products. 
 
9. Answer: D 

Explanation: 
● The Ramsar Convention is an international 

treaty for the conservation and sustainable 
utilization of wetlands, recognizing the 
fundamental ecological functions of wetlands 
and their economic, cultural, scientific, and 
recreational value. 

● The local time of longitude of 82°30'E has 
been taken as the Indian Standard Time. This 
meridian or longitude is also termed as the 
Standard Meridian of India. 

 
10. Answer: D 

Explanation: 
 Sir Syed Ahmed was a liberal, modern socio-

religious reformer born in 1817 who served 
the British administration before the revolt of 
1857. United Indian Patriotic association was 
a political organization founded in 1888 by Sir 
Syed Ahmed Khan and Raja Shiv Prasad 
Singh of Benares. It opposed the Indian 
National Congress and aimed to develop 
closer ties between Muslim community and 
the British Raj. So, statement 1 is correct. 

 Sir Syed Ahmed Khan propagated western 
scientific education among the Muslim 
masses. He wanted to reconcile western 

scientific education with the teachings in the 
Quran. So, statement 2 is not correct. 

 He established the Scientific Society in 1864 
to spread western education among Muslims 
through Urdu translation. So, statement 3 is 
correct.Therefore, option (d) is the correct 
answer. 

 
11. Answer: C 

Explanation:  
● The earth’s crust is composed of rocks. A rock 

is an aggregate of one or more minerals. 
● Statement 1 is incorrect: Igneous rocks are 

classified based on their texture. The texture 
depends upon the size and arrangement of 
grains or other physical conditions of the 
materials. If molten material is cooled slowly 
at great depths, mineral grains may be very 
large. Sudden cooling of the molten material 
at the surface results in small and smooth 
grains. 

● Statement 2 is correct: Some common 
examples of Igneous rocks are Granite, 
Gabbro, Pegmatite, Basalt, Volcanic Breccia 
and Tuff. 

● Statement 3 is correct: Thermal 
metamorphism changes the chemical 
composition of rocks and causes them to 
recrystallize. Metamorphism is a term that 
refers to a change in form. Thermal 
metamorphism can be divided into two 
categories - Contact and Regional 
metamorphism. 

 
12. Answer: C 

Explanation: 
 The Constitution of India does not define 

minorities. So, statement 1 is not correct. 
 The National Commission for Minorities Act, 

1992 defines a minority as “a community 
notified as such by the Central government.” 

 In India, religious minorities are determined 
by the Central Government on a national 
level. On the other hand, the linguistic 
minorities are identified on a state-wise basis 
thus determined by the state government. So, 
statement 2 is not correct. 

 Initially five religious’ communities, viz., 
Muslims, Christians, Sikhs, Buddhists and 
Zoroastrians (Parsis) were notified as minority 
communities by the Union Government. 
Further vide notification dated 27th January 
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2014, Jains were also notified as another 
minority community. So, statement 3 is 
correct. 

 Therefore, option (c) is the correct answer. 
 
13. Answer: (c) 

Explanation: 
● Anti-partition movements was nationalist 

response against the decision to divide the 
province of Bengal on the communal lines.  

● Statement 1 is correct: The boycott suggestion 
first came from Krishnakumar Mitra's 
Sanjivani 1905, and was later accepted by the 
prominent public men at the Town Hall 
meeting in 1905. 

● Statement 2 is correct: Chidambaram Pillai 
was an Indian freedom fighter. He was a 
prominent lawyer, trade union leader, and 
leader in the Indian National Congress. He 
mobilized the workers of the Coral Mills, 
thereby expanding the social base of the 
Swadeshi movement. 

● Statement 3 is incorrect: The periodical Bande 
Mataram was published by Aurobindo Ghosh. 
He came up with the theory of organised and 
relentless boycott of British goods, British 
system of education, judiciary and executive, 
and the social boycott of the loyalists and civil 
disobedience of unjust laws in his article 
Bande mataram. The Bande Mataram was an 
English language weekly newspaper published 
from Calcutta (now Kolkata) founded in 1905 
by Bipin Chandra Pal and edited by Sri 
Aurobindo. 

 
14. Answer: C 

Explanation: 
 The jurisdiction of the Central Vigilance 

Commission (CVC) extends to Members of 
All India Services and Group A officers of the 
Central Government, Officers of the rank of 
Scale V and above in the Public Sector Banks, 
Officers in Grade D and above in Reserve 
Bank of India, NABARD and SIDBI, etc. The 
jurisdiction of CVC does not extend to the 
officials of state services. So, statement 1 is 
not correct. 

 The CVC does not have any investigation 
wing of its own and cannot investigate any 
complaints and depends on other bodies for 
their investigation report. It also does not have 
any adjudicatory powers as it is not the 

competent authority to sanction criminal 
prosecutions for offences committed by the 
officials. So, statement 2 is not correct. 

 
15. Answer: A 

Explanation:  
 The 97th Constitutional Amendment Act of 

2011 gave constitutional status and protection 
to co-operative societies. In this context, it 
made the following three changes in the 
Constitution: 

 It made the right to form co-operative 
societies a fundamental right (Article 19). So, 
statement 1 is correct. 

 It included a new Directive Principle of State 
Policy on promotion of co-operative societies 
(Article 43-B). So, statement 2 is correct. 

 It added a new Part IX-B in the Constitution 
which is entitled as “The Cooperative 
Societies” (Articles 243-ZH to 243-ZT). 

 However, Part IX-B has been struck down by 
the Supreme Court for being unconstitutional.  

 The Amendment has not added any 
fundamental duty for participation in 
cooperative duties. So, statement 3 is not 
correct. 

 Therefore, option (a) is the correct answer. 
 
16. Answer: B 

Explanation: 
● Soft loans are loans that have more generous 

repayment terms than most commercially 
available loans. They are also referred to as 
"concessional loans". 

● Statement 1 is incorrect: A soft loan is a loan 
on comparatively generous terms and 
conditions as compared to other loans that are 
available. Soft loans are typically offered by 
governments, government agencies such as 
export-import banks, and developmental 
institutions to aid developing nations and 
address crises. 

● A Hard loan is a loan from a private or non-
traditional lender backed by a tangible asset. 

● Statement 2 is correct: They can have below-
market interest rates and long grace periods 
before repayment starts. Soft loans can 
provide opportunities foreconomic growth to 
borrowers, but lenders who make soft loans 
may not see positive returns on their financing 
for years, if ever. And, in some cases, 
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borrowers can become overwhelmed with 
payment obligations, which can worsen their 
economic situation rather than improve it. 

 
17. Answer: A  

Explanation:  
● Cabinet Committees are extra-constitutional 

bodies. In other words, they are not mentioned 
in the Constitution. They are of two types–
standing and ad hoc. The former is of a 
permanent nature while the latter are of a 
temporary nature. They are an organisational 
device to reduce the enormous workload of 
the Cabinet. They also facilitate in-depth 
examination of policy issues and effective 
coordination. At present, the following 8 
Cabinet Committees are functional:  
○ Cabinet Committee on Political Affairs - 

headed by Prime Minister (PM)  
○ Cabinet Committee on Economic Affairs - 

headed by PM  
○  Appointments Committee of the Cabinet 

- headed by PM 
○  Cabinet Committee on Security - headed 

by PM  
○  Cabinet Committee on Parliamentary 

Affairs- headed by Defence Minister 
○  Cabinet Committee on Accommodation- 

headed by Home Minister 
○  Cabinet Committee on Investment and 

Growth- headed by PM  
●  Cabinet Committee on Employment and Skill 

Development- headed by PM. So, points 1 and 
3 are correct.  

● Therefore, option (a) is the correct answer. 
 
18. Answer: (a) 

Explanation: 
Ellora is a UNESCO World Heritage Site located 
in the Aurangabad district of Maharashtra, India. 
It is one of the largest rock-cut Hindu temple cave 
complexes in the world. 
● Statement 1 is incorrect: Ellora caves is an 

embodiment of not only Hinduism but it also 
dealt with Jainism and buddhism. They 
illustrate the spirit of tolerance, which 
permitted these three religions in a single 
place, which thus served to reinforce its 
universal value. 

● Statement 2 is correct: The sculpture depicting 
Ravana attempting to lift Mount Kailasa is a 
part of Ellora caves. This sculpture is a part of 

the Kailasanatha temple which is situated 
inside the Ellora caves. 

● Statement 3 is correct: Buddhist caves are big 
in size and are of single, double and triple 
storeys. Their pillars are massive.  

● Ajanta has excavated double-storeyed caves 
but at Ellora, the triple storey is a unique 
achievement. The Triple storey building is 
specific to the Ellora caves. 

 
19. Answer: A 

Explanation: 
● Public interest litigation is not defined in any 

statute or in any act in India. It has been 
interpreted by judges to consider the intent of 
the public at large. Although the main and 
only focus of such litigation is only Public 
Interest, there are various areas where a public 
interest litigation can be filed. The concept of 
Public Interest Litigation (PIL) originated and 
developed in the USA in the 1960s. 

● The Court in the exercise of powers under 
Articles 32 and 226 of the Constitution can 
entertain a petition filed by any interested 
person in the welfare of the people who are in 
a disadvantaged position and thus not in a 
position to knock the doors of the Court. The 
Court is constitutionally bound to protect the 
Fundamental Rights of such disadvantaged 
people and direct the State to fulfil its 
constitutional promises. So, statement 1 is 
correct. 

● The PIL is an exception to the traditional rule 
of ‘locus standi’. According to this rule, only 
that person whose rights are infringed alone 
can move the court for the remedies, whereas, 
the PIL is an exception to this traditional rule. 
Under the PIL, any public-spirited citizen or a 
social organisation can move the court for the 
enforcement of the rights of any person or 
group of persons. Any person can file a PIL 
and the petitioner need not be the aggrieved 
person. Even an organization can file a PIL. 
So, statement 2 is not correct. 

● The court fee for filing a Public Interest 
Litigation is Rs.50 per respondent. So, 
statement 3 is not correct. 

Therefore, option (a) is the correct answer. 
 
20. Answer: (c) 

Explanation:  
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● Tropic of Cancer is an imaginary line, at an 
angle of 23.50 degrees North from the 
Equator, that passes almost through the 
middle of India. 

● Statement 1 is correct: Mahi River is the only 
river in India that cuts the Tropic of Cancer 
twice, first in Madhya Pradesh from where it 
flows towards Rajasthan and enters Gujarat 
where it cuts for the second time. 

● Statement 2 is incorrect: The Tropic of Cancer 
passes through eight states in India: Gujarat, 
Rajasthan, Madhya Pradesh, Chhattisgarh, 
Jharkhand, West Bengal, Tripura and 
Mizoram. 

● Statement 3 is correct: Tropic of Cancer and 
the Indian Standard Time meridian meet in the 
Indian State of Chattisgarh. 

 
21. Answer: C 

Explanation: 
● The term ‘Preamble’ refers to the introduction 

or preface to the Constitution. It contains the 
summary or essence of the Constitution. It is 
based on the ‘Objectives Resolution’, drafted 
and moved by Pandit Nehru, and adopted by 
the Constituent Assembly. The Preamble is a 
part of the Constitution, is in consonance with 
the opinion of the founding fathers of the 
Constitution.  

● However, two things should be noted: 1. The 
Preamble is neither a source of power to 
legislature nor a prohibition upon the powers 
of legislature. 2. It is non-justiciable, that is, 
its provisions are not enforceable in courts of 
law. So, statement 1 is not correct. 

● It has been amended by the 42nd 
Constitutional Amendment Act (1976), which 
added three new words–Socialist, Secular and 
Integrity. So, statement 2 is not correct. 

● The question as to whether the Preamble can 
be amended under Article 368 of the 
Constitution arose for the first time in the 
historic Kesavananda Bharati case (1973). The 
court held that the Preamble can be amended, 
subject to the condition that no amendment is 
done to the basic features. In other words, the 
Court held that the basic elements or the 
fundamental features of the Constitution as 
contained in the Preamble cannot be altered 
by an amendment under Article 368. So, 
statement 3 is correct. 

● Therefore, option (c) is the correct answer. 

 
22. Answer: (a) 

Explanation: 
● Simon Commission was appointed to review 

the Act of 1919 and to suggest measures to 
improve the functioning of the institutions. 

● Statement 1 is correct: The Indian Statutory 
Commission was a British commission 
appointed on November 26, 1927, to enquire 
into the working of the system of government, 
the growth of education and the development 
of representative institutions in British India 
and to recommend future policy regarding 
further constitutional reforms. 

● Statement 2 is correct: The members of the 
commission all belonged to the British ruling 
classes, and the exclusion of Indian members 
understandable prompted outrage in India, 
with both Congress and the Muslim League 
boycotting the commission. 

● Statement 3 is incorrect: The Simon 
Commission had stated that in order to cope 
with the diversity of the country the ultimate 
character of the Indian government had to be 
federal. It declared that the establishment of a 
responsible government at the centre was to 
wait indefinitely. It recommended that a 
Greater India consisting of British India and 
the Princely States as a federal association 
was to be established in the future. 

 
23. Answer: B 

Explanation: 
● Sattriya dance is one of the eight classical 

dances of India. The art form derives its name 
from the Vaishnava monasteries known as 
Sattras where it is primarily practiced. The 
dance is generally performed in groups by 
male monks known as Bhokots as part of their 
daily rituals. So, statement 1 is not correct. 

● It was originated by Vaishnava saint 
Shankaradeva in the state of Assam in the 
15th century AD. So, statement 2 is correct. 

● Paurashik Bhangi is the masculine style and 
Stri-Bhangi is the feminine style of Sattriya 
dance.So, statement 3 is correct. 

Therefore, option (b) is the correct answer. 
 
24. Answer: (d) 

Explanation: 
● There are two types of temple architecture 

styles in India. The Nagara architecture of 
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northern India and Dravidian architecture of 
Southern India. 

● Statement 1 is correct: Nagara style of 
architecture has multiple shikharas while 
Dravida style has one single shikhara. 

● Statement 2 is correct: In North India it is 
common for an entire temple to be built on a 
stone platform with steps leading up to it. 
Further, unlike in South India it does not 
usually have elaborate boundary walls or 
gateways. 

 
25. Answer: C 

Explanation 
● Gandhara school emerged during the second 

half of 2nd century BC in the regions of north 
western parts of the Indian subcontinent. 
Secular elements were absent in the Gandhara 
school. Mathura school flourished in and 
around the region of Mathura. Various secular 
elements are present in Mathura school such 
as the Headless figure of Kanishka and Vima 
Kadphises, figures of trees and animals etc. 
So, statement 1 is not correct. 

● Gandhara school has heavy influence of Greek 
or Hellenistic sculpture, so it is also called 
Indo-Greek art. But in the Mathura school, 
initially foreign influence was absent but 
when Mathura came under the rule of Shakas 
and Kushanas, the influence of Greco-Roman 
art started becoming visible. So, statement 2 is 
not correct. 

● Mainly Buddhist imagery was present in the 
Gandhara school, whereas in the Mathura 
school various Jain sculptures and 
Brahmanical figures such as Shiva, Vishnu, 
Krishna and Balarama were also depicted. So, 
statement 3 is correct. 

Therefore, option (c) is the correct answer. 
 

26. Answer: (c) 
Explanation:  
● Option (a) is incorrect: Socialist orientation 

gathered pace after the emergence of Nehru 
and S.C Bose as dominant members of 
congress. It was not at the Nagpur session that 
socialistic orientation arose. 

● Option (b) is incorrect: The Fiftieth Session of 
the Indian National Congress was held in 
1936 at Faizpur, a village. It was, here, for the 
first time that Congress held its Annual 
Session in a backward rural area. 

Option (c) is correct: The Nagpur session also 
brought a revolutionary change in the congress 
organisation. The changes were: 
o formation of a working committee of 15 

members, 
o formation of an All India Committee of 350 

members, 
o formation of Congress Committees from town 

to village level. 
o reorganization of Provincial Congress 

Committees on a linguistic basis, and 
o opening of Congress membership to all men 

and women of the age of 21 or more on 
payment of 4 annas as an annual subscription. 

● This was the first positive move on the part of 
the Congress to make it a real mass-based 
political party. This period also witnessed a 
fundamental change in the social composition 
of the party as well as in its outlook and 
policies. 

● Option (d) is incorrect: The Swaraj Party, 
established as the Congress-Khilafat Swaraj 
Party, was a political party formed in India in 
1923 after the Gaya annual conference in 
December 1922 of the National Congress, that 
sought greater self-government and political 
freedom for the Indian people from the British 
Raj. 

 
27. Answer: A 

Explanation: 
• The Sufi saints considered self-discipline as 

the main prerequisite to gain knowledge of 
God by sense of perception. It emphasized 
intense love and devotion for God as effective 
means of the realization of God. So, statement 
1 is correct. 

• Sufi saints embraced the path of moderation 
and did not practice celibacy and also did not 
renounce the world completely. So, statement 
2 is not correct. 

• Wahadat-ul-shujud means Unity of 
appearance. It states that God and creation are 
not the same rather the latter is a shadow of 
divine name and attributes. So, statement 3 is 
not correct. 

Therefore, option (a) is the correct answer. 
 
28. Answer: D 

Explanation: 
• Megasthenes was the ambassador of the 

Bactrian king Selecus Nicator in the court of 
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Chandragupta Maurya who stayed in India 
from 304 BC to 299 BC. Megasthenes informs 
in his book Indica that there was no slavery 
and practice of usury in India during the 
Mauryan period. So, statement 1 is correct. 

• He informs that there exists no famine in 
India, peace and prosperity prevails 
throughout the extent of the Mauryan empire. 
So, statement 2 is correct. 

• Pataliputra city was surrounded by a wooden 
palisade and had a well-developed municipal 
administration managed by various officials 
such as Nagaraka, Adhyaksha, 
Paanyadhyaksha etc. So, statement 3 is 
correct. 

• He informs that Indians during the Mauryan 
period worshipped Dionysius (Lord Shiva) 
and Heracles (Lord Krishna). So, statement 4 
is correct. Therefore, option (d) is the correct 
answer 

 
29. Answer: (d) 

Explanation: 
3D printing is the process of fabricating three-
dimensional objects by layering two-dimensional 
cross-sections sequentially, one on top of another, 
known as additive manufacturing. Layering can be 
repeated hundreds or thousands of times until the 
entire object is finished. 3D printing has several 
advantages over traditional manufacturing 
techniques. It is less wasteful as there is no cutting 
of material and it can also reuse plastic. It can be 
used to build rare parts much more quickly and 
cheaply. 
● Point 1 is correct: NASA has organized a 3D 

printed habitat challenge to build a 3D printed 
home for deep space exploration and AI Space 
factory won the challenge with their 
prototype. 

● Point 2 is correct: 3D printing can be used to 
build one’s own gloves, belts or glasses which 
offer a high degree of personalization. 

● Point 3 is correct: Bioprinting uses bio-ink, 
which is suspensions of living cells and cell 
growth medium which can be used to print 
human cells and grow human tissue.  

This can have applications in therapy and even in 
organ replacement. 
● Point 4 is correct: Relativity Space is a 

privately owned rocket company that is 
building their rockets using 3D printing 
technology. It has several advantages 

including quicker build times, faster building 
and testing of prototypes etc. 

● Point 5 is correct: Banks are using 3D printing 
to design and produce ATM components that 
can prevent card skimming at ATMs or PoS 
machines. 

 
30. Answer: (d) 

Explanation: 
• Kalamkari is a type of hand-printed or hand 

block printed cotton textile belonging to the 
state of Andhra Pradesh. Kalahasti and 
Masulipatnam are its main centres. So, 
statement 1 is not correct. 

• The unique feature of these paintings is its use 
of natural dyes on cotton and silk fabric to 
make paintings. Date palm or bamboo stick 
with a pointed end is used to make the brush. 
Vegetable dyes are used in the paintings along 
with minerals such as copper, tin etc. So, 
statement 2 is correct. 

• Hindu mythology, epics such as Ramayana 
and Mahabharata are the main themes of 
kalamkari paintings. So, statement 3 is not 
correct. 

• This art of painting is practised hereditarily 
mainly by the male members of the families. 
So, statement 4 is correct. 

Therefore, option (d) is the correct answer. 
 
31. Answer: (b) 

Explanation: 
● Tax Havens, or offshore financial centers, are 

generally countries or places with low or no 
corporate taxes that allow outsiders to easily 
set up businesses there. Tax havens also 
typically limit public disclosure about 
companies and their owners. 

● Statement 1 is incorrect: Tax Havens can be 
independent countries like Panama, the 
Netherlands and Malta; Regions within 
countries, like the U.S. state of Delaware; or 
overseas territories of countries like the 
Cayman Islands. 

● Statement 2 is correct: They make significant 
income from fees paid by people and 
companies who create and use shell 
companies. They also create work for lawyers, 
accountants and secretaries. A shell company 
is a legal entity created in a tax haven. Shell 
companies typically exist only on paper, with 
no full-time employees, and no office. 
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32. Answer ( a) 

Explanation: 
• The stone sculpture of a dancing girl made of 

steatite is found at Harappa. And the dancing 
girl made of bronze is found at Mohenjo Daro 
which is the oldest bronze sculpture in the 
whole world.  

So, statement 1 is correct. 
• Unicorn was the most commonly depicted 

animal on the Harappan seals. Fish was the 
most common zoomorphic sign depicted. 
Other animals which were depicted on 
Harappan seals are Elephant, bull, tiger, 
rhinoceros, antelope and crocodile. So, 
statement 2 is correct. 

• Seal depicting the Mother Goddess with plants 
growing from her womb is found at 
Mohenjodaro.So, statement 3 is not correct. 

Therefore, option (a) is the correct answer. 
 
33. Answer  D 

● Iran announced the successful launch of three 
satellites into space using the Simorgh rocket.  

● The named satellites – Mahda, Kayhan-2, and 
Hatef-1 – serve various purposes, including 
research, global positioning, and 
communication. So, option D is correct. 

 
34. Answer A 

● Indore and Surat were jointly awarded the 
cleanest city title. Hence, statement 1 is not 
correct. 

● Maharashtra secured the top position among 
states in the annual cleanliness rankings for 
urban areas. Hence, statement 2 is correct. 

● Chandigarh received the Safaimitra Surakshit 
Shehar award for the city with the best safety 
standards for sanitation workers. Hence, 
statement 3 is correct. 

 
35. Answer: A  

Explanation:  
Compressed Natural Gas (CNG):  
 The use of Compressed Natural Gas (CNG) as 

a transport fuel is a mature technology and 
widely used in parts of the world. Although 
compressed natural gas is a fossil fuel, it is the 
cleanest burning fuel at the moment in terms 
of NOx and soot (PM) emissions. So, point 1 
is correct. 

 Low emissions: CNG passenger vehicles emit 
5-10% less CO2 than comparable gasoline 
powered passenger vehicles. Generally, there 
is no benefit over diesel powered cars in terms 
of CO2 emission reduction. In comparison 
with diesel, CNG vehicles emit 80 per cent 
particulate matter and 35 per cent lesser 
hydrocarbons, but over five times more 
carbon monoxide than diesel. So, point 2 is 
correct. 

 Low fuel price: CNG is 30 to 50 per cent 
cheaper than diesel per litre. The fuel 
consumption is also better, thus making CNG 
more cost-efficient. So, point 3 is correct.  

 The calorific Value of CNG is 12500Kcal/KG 
as compared with Diesel which has a calorific 
value of 10000Kcal/Kg. So, point 4 is not 
correct.Therefore, option (a) is the correct 
answer. 

 
36. Answer: (c) 

Explanation: 
● A mutual fund is a pool of money managed by 

a professional Fund Manager. It is a trust that 
collects money from a number of investors 
who share a common investment objective 
and invests the same in equities, bonds, 
money market instruments and/or other 
securities. 

● Statement 1 is correct: These are financial 
instruments in which money is collected from 
a group of people to invest it in stocks and 
bonds. And the income / gains generated from 
this collective investment is distributed 
proportionately amongst the investors after 
deducting applicable expenses and levies, by 
calculating a scheme’s “Net Asset Value” or 
NAV. It is a professionally-managed 
investment scheme that is run by asset 
management companies. 

● Statement 2 is correct: All the mutual funds 
are registered under the Securities and 
Exchange Board of India (SEBI). The scheme 
functions within the provisions of strict 
regulation created to protect the interests of 
the investor. 

 
37. Answer: A 

Explanation: 
 Khadi and Village Industries Commission 

(KVIC) has launched a unique project of 
creating “bee-fences” to mitigate human-
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elephant conflicts in the country. Project RE-
HAB is a sub-mission of KVIC’s National 
Honey Mission. So, statement 1 is correct. 

 The objective of Project RE-HAB (Reducing 
Elephant-Human Attacks using Bees) is to 
thwart elephant attacks in human habitations 
using honey bees and thus reduce fatalities of 
humans as well as retaliatory deaths of 
elephants in the hands of humans. So, 
statement 2 is not correct.  

 Under Project RE-HAB, “Bee-fences” are 
created by setting up bee boxes in the 
passageways of elephants to block their 
entrance to human territories. The boxes are 
connected with a string so that when elephants 
attempt to pass through, a tug or pull causes 
the bees to swarm the elephant herds and 
dissuade them from progressing further. It is a 
cost-effective way of reducing human-wild 
conflicts without causing any reason. 

 
38. Answer: (a) 

Explanation: 
● Vertical farming is the method in which crops 

are grown indoors, using artificial light and 
temperature regulation. It tries to achieve 
higher productivity in smaller spaces and can 
be useful in overcoming land constraints in 
increasing food production. It uses soil-less 
methods like hydroponics, aquaponics and 
aeroponics. 

● Statement 1 is correct: In vertical farming, 
crops can be grown in an inert medium like 
coco coir or vermiculite (hydroponics) or even 
without any medium (aeroponics).  

● In aeroponics, a liquid solution is used in air 
where plants are located, through which plants 
absorb nutrients. 

● Statement 2 is incorrect: Vertical farming uses 
significantly less water and pesticides than 
traditional methods, as these inputs can be 
applied with precision. 

● Statement 3 is correct: Conditions like light, 
temperature and humidity can be accurately 
controlled and hence productivity is not 
affected by seasons. Indoor vertical farming 
ensures the high productivity of crops 
throughout the year. 

● Statement 4 is incorrect: Japan is a pioneer in 
vertical farming and has the highest share in 
global vertical farming. 

 

39. Answer: B 
Explanation:  
 Among all the states, Madhya Pradesh has 

covered the largest area under organic 
certification followed by Rajasthan, 
Maharashtra, Chhattisgarh, Himachal Pradesh, 
Jammu & Kashmir and Karnataka. During 
2016, Sikkim has achieved a remarkable 
distinction of converting its entire cultivable 
land (more than 75000 ha) under organic 
certification. So, statement 1 is correct. 

 In terms of export value realization, processed 
foods including Soya meal (57%) leads among 
the products followed by Oilseeds (9%), 
Cereals and millets (7%), Plantation crop 
products such as Tea and Coffee (6%), Spices 
and condiments (5%), Medicinal plants (5%), 
Dry fruits (3%), Sugar (3%), and others. So, 
statement 2 is not correct. 

 PGS-India (Participatory Guarantee System of 
India) under the Union Agriculture Ministry, 
is a quality assurance initiative that is locally 
relevant, emphasizes the participation of 
stakeholders, including producers and 
consumers and operates outside the frame of 
third-party certification. So, statement 3 is not 
correct. 

Therefore, option (b) is the correct answer. 
 
40. Answer: A 

Explanation: 
 According to Article 358, when a 

proclamation of National Emergency is made, 
the six fundamental rights under article 19 are 
automatically suspended. No separate order 
for the suspension is required. However, the 
44th Amendment Act of 1978 laid out that 
Article 19 can only be suspended when the 
National Emergency is declared on the 
grounds of war or external aggression and not 
on the ground of armed rebellion. So, 
statement 1 is correct. 

 Article 359 authorizes the President to 
suspend the right to move any court for the 
enforcement of Fundamental Rights during a 
National Emergency. The 44 Amendment Act 
restricted its scope. It mandates that the 
President cannot suspend the right to move the 
court for the enforcement of Fundamental 
Rights guaranteed by Article 20 and 21. So, 
statement 2 is not correct. 

Therefore, option (a) is the correct answer. 
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41. Answer: C 

Explanation: 
 All the union territories belong to one 

category but there is no uniformity in their 
administrative system. Every union territory is 
administered by the President acting through 
an administrator appointed by him. The 
President can specify the designation of an 
administrator; it may be Lieutenant Governor 
or Chief Commissioner or Administrator. So, 
statement 1 is not correct. 

 Dadra and Nagar Haveli was ruled by the 
Portuguese until its liberation in 1954. Also, 
Goa along with Daman and Diu were acquired 
by India from the Portuguese by means of a 
police action in 1961. The territory of 
Puducherry comprises the former French 
establishments in India. So, statement 2 is not 
correct. 

 Himachal Pradesh, Manipur, Tripura, 
Mizoram, Arunachal Pradesh and Goa which 
are states today were formerly union 
territories. So, statement 3 is 
correct.Therefore, option (c) is the correct 
answer. 

 
42. Answer: (a) 

Explanation: 
● All the members of a municipality shall be 

elected directly by the people of the municipal 
area. The state legislature may provide the 
manner of election of the chairperson of a 
municipality. It may also provide for the 
representation of certain categories of persons 
in a municipality. 

● Point 1 is correct: Persons having special 
knowledge or experience in municipal 
administration without the right to vote in the 
meetings of the municipality. 

● Point 2 is incorrect: The members of the Lok 
Sabha and the state legislative assembly 
representing constituencies that comprise 
wholly or partly the municipal area and the 
members of the Rajya Sabha and the state 
legislative council registered as electors 
within the municipal area. 

● Point 3 is incorrect: The chairpersons of 
committees (other than wards committees). 

 
43. Answer: a 

Explanation: 

1. Government of India Act 1935: 
 Features: 
●  Office of Governor. So, point 1 is correct. 
●  Federal Scheme. So, point 2 is correct. 
●  Emergency Provisions. So, point 3 is correct. 
2. United States Constitution: 
Features: 
● Fundamental rights 
● Independence of judiciary and judicial review. 

So, point 4 is not correct. 
● Impeachment of the president 
● Removal of Supreme Court and high court 

judges 
● Post of vice-president 

 
44. Answer: (d) 

Explanation: 
● The objective of the PESA Act is to extend 

the provisions of Part IX of the Constitution 
relating to the panchayats to the scheduled 
areas with certain modifications and to 
provide self-rule for the bulk of the tribal 
population. 

● Statement 1 is incorrect: The state government 
may nominate such Scheduled Tribes which 
have no representation in the Panchayat at the 
intermediate level or the Panchayat at the 
district level. But such nominations shall not 
exceed one-tenth of the total members to be 
elected in that Panchayat. 

● Statement 2 is incorrect: The prior 
recommendation of the Gram Sabha or the 
Panchayats at the appropriate level shall be 
mandatory for grant of concession for the 
exploitation of minor minerals by auction in 
the Scheduled Areas. 

 
45. Answer: c 

Explanation:  
 The Indian Constitution has established an 

integrated judicial system with the Supreme 
Court at the top and the state high courts 
below it. This single system of courts enforces 
both the Central laws. However, it is a unitary 
feature of the Constitution. So, point 1 is 
correct. 

 The Constitution is the supreme (or the 
highest) law of the land. The laws enacted by 
the Centre and the states must conform to its 
provisions. Otherwise, they can be declared 
invalid by the Supreme Court or the high 
courts through their power of judicial review. 
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 This helps to maintain the federal 
characteristic of the country. So, point 2 is not 
correct. 

 The Governor, who is the head of the state, is 
appointed by the President. He holds office 
during the pleasure of the President. He also 
acts as an agent of the Centre. Through him, 
the Centre exercises control over the states. 
Thus, it is a unitary feature which makes the 
Central government strong in India. So, point 
3 is correct. 

 States not indestructible: unlike in other 
federations, the states in India have no right of 
territorial integrity. Thus, it is a unitary feature 
of the constitution. So, point 4 is correct. 

Therefore, option (c) is the correct answer. 
 
46. Answer (d) 

Explanation: 
●  In December 1905, at the Benaras session of 

the Indian National Congress presided over by 
Gokhale, the Moderate- Extremist differences 
came to the fore. 

●  The Extremists wanted to extend the Boycott 
and Swadeshi Movement to regions outside 
Bengal and also to include all forms of 
associations (such as government service, law 
courts, legislative councils, etc.) within the 
boycott programme. 

● Thus, start a nationwide mass movement. The 
Extremists wanted a strong resolution 
supporting their programme at the Benaras 
session. Hence, statement 1 is correct. 

●  The Moderates, on the other hand, were not 
in favour of extending the movement beyond 
Bengal and were totally opposed to boycott of 
councils and similar associations. Hence, 
statement 2 is correct. 

● The goal of the Indian National Congress was 
defined as ‘swarajya or self-government’. 
Also, a resolution supporting the programme 
of swadeshi, boycott and national education 
was passed. Hence, statement 3 is correct. 

●  The word swaraj was mentioned for the first 
time, but its connotation was not spelt out, 
which left the field open for differing 
interpretations by the Moderates and the 
Extremists. 

 
47. Answer: a 

Explanation:  

● Basai wetland is located close to Delhi, about 
2 km west of Gurgaon and 8 km east of 
Sultanpur National Park, in Haryana state. So, 
statement 1 is not correct. 

● The main source of water is from a breached 
water channel bringing wastewater and 
supposedly treated sewage from the Gurugram 
Water and Sewage Works. This has created a 
permanent shallow wetland of about 250 acres 
comprising open water, Water Hyacinth and 
Typha reed beds. Rainwater and the 
channeling of the water by farmers to irrigate 
their crops (particularly rice) regularly floods 
an area of up to 1 sq. km in the monsoon.  

● The wetland is a rich oasis for avian life—
attracting and hosting thousands of migratory 
guests from as far as Europe and Siberia. 
Migratory eagles, harriers, cranes, songbirds, 
ducks and geese, waders like sandpipers, 
godwits, stints, snipes and plovers mingle with 
local birds like herons, storks, egrets, 
flamingos, ibises and spoonbills. 

● In 2004, the Basai wetland was marked as an 
“Important Bird Area” by Birdlife 
International, a global conservation non-
governmental organization, giving it the status 
of important habitat for conservation of bird 
population. So, statement 2 is correct. 

● Marbled Duck, Sarus Crane, Imperial Eagle, 
Greater Spotted Eagle, Lesser Spotted Eagle, 
and Lesser Kestrel are threatened species that 
have been recorded at the site. Near 
Threatened species include the Black-necked 
Stork, Painted Stork, Black-headed Ibis etc. 
So, statement 3 is correct. 

 
48. Answer (a) 

Explanation: 
●  Red tide is a phenomenon caused by algal 

blooms during which algae become so 
numerous that they discolor coastal waters 
(hence the name “red tide”).  

● The algal bloom may also deplete oxygen in 
the waters and/or release toxins that may 
cause illness in humans and other animals.  

●  Some species that release these harmful 
toxins include: Alexandrium fundyense, 
Alexandrium catenella, Karenia brevis. 

● While many people call these blooms ‘red 
tides,’ scientists prefer the term harmful algal 
bloom. Harmful Algal Blooms, or HABs, 
occur when colonies of algae grow out of 
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control and produce toxic or harmful effects 
on people, fish, shellfish, marine mammals, 
and birds.Blooms are more likely to happen in 
summer or fall but can occur any time of year. 
Hence, statement 1 is correct. 

●  Florida has been battling outbreaks of red 
tide, caused by the algae Karenia Brevis, for 
several years. This year’s bloom may have 
been aggravated due to the release of 
contaminated water into Tampa Bay earlier. 
Hence, statement 2 is NOT correct. 

 
49. Answer (a) 

Explanation: 
●  Raja Ram Mohan Roy started his public life 

in 1815 with the establishment of the Atmiya 
Sabha. This sabha vehemently protested 
against the prevalent practice of selling young 
girls to prospective husbands due to some 
pecuniary interests, in the name of the Kuleen 
tradition. Hence, statement 1 is correct. 

●  It also opposed polygamy and worked for the 
removal of caste disabilities. Roy believed in 
the progressive role of the British rule in India 
and sought government held in the matter of 
social reforms, especially in the form of 
socially progressive legislations.  

●  He started the Atmiya Sabha and carried on 
consistent struggle against the religious and 
social malpractices. This sabha denounced 
idolatry and advocated monotheism and not 
atheism. Hence, statement 2 is not correct. 

 
50. Answer: a 

Explanation: 
 Located in peninsular India, the Pennar basin 

extends over states of Andhra Pradesh and 
Karnataka. It is bounded by the Erramala 
range on the north, by the Nallamala and 
Velikonda ranges of the Eastern Ghats on the 
east, by the Nandidurga hills on the south and 
by the narrow ridge separating it from the 
Vedavati valley of the Krishna Basin on the 
west. 

 Pennar (also known as Uttara Pinakini) is on 
the 12 major river basins in India (having 
catchment area more than 20000 kms). It 
flows towards the east eventually draining into 
the Bay of Bengal. 

So, statement 1 is correct. 
 It has a fan-shaped basin. The Pennar rises in 

the Chennakesava hill of the Nandidurga 

range, in Chikkaballapura district of 
Karnataka and flows towards east eventually 
draining into the Bay of Bengal. So, statement 
2 is correct. 

 Pennar basin extends over states of Andhra 
Pradesh and Karnataka having an area of 
55,213 Sq.km with a maximum length and 
width of 433 km and 266 km. So, statement 3 
is not correct. 

Therefore, option (a) is the correct answer. 
 
51. Answer: d 

Explanation:  
 The Equatorial hot and wet climate is found 

between 50 to 100 north and south of the 
equator. Its greatest extent is found in the 
lowlands of the Amazon, the Congo, Malaysia 
and the East Indies. 

 There is no month without rain in this region, 
Although the variation in rainfall may occur in 
different regions. Some important 
characteristics of Equatorial Vegetation is the 
high variety of vegetation, a distinct layered 
arrangement, Multiple species and clearing of 
forests for lumbering and shifting cultivation. 
So, statement 1 is correct. 

 The Equatorial climate is suitable for the 
cultivation of Natural rubber (hevea 
brasiliensis), which was first discovered in the 
Amazon basin in Brazil. So, statement 2 is 
correct. 

 The Indian tribes of the Amazon Basin, 
Pygmies of Congo and the Orang Asli of 
Malaysia are the tribes of these regions. So, 
statement 3 is correct.Therefore, option (d) is 
the correct answer. 

 
52. Answer (c)  

Explanation: 
●  The Indian army was carefully reorganized 

after 1858. Some changes were made 
necessary by the transfer of power to the 
Crown. Firstly, the domination of the army by 
its European branch was carefully guaranteed.  

●  The proportion of Europeans to Indians in the 
army was raised. Moreover, the European 
troops were kept in key geographical and 
military positions. Hence, statement 1 is not 
correct. 

●  The organization of the Indian section of the 
army was based on the policy of divide and 
rule so as to prevent its chance of uniting 
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again in an anti-British uprising. Communal, 
caste, tribal and regional loyalties were 
encouraged. For example caste and communal 
companies were introduced in most of the 
regiments. Hence, statement 2 is correct. 

● The policy of excluding Indians from the 
officer corps was strictly maintained. Till 
1914, no Indian could rise higher than the 
rank of a subedar. Hence, statement 3 is 
correct. 

 
53. Ans : C 

Explanation 
● Dibru-Saikhowa National Park is a national 

park located in Dibrugarh and Tinsukia 
districts of Assam, India. It was designated a 
Biosphere Reserve in July 1997. As you travel 
from Arunachal Pradesh to Assam, you will 
cross this first. So, statement 1 is correct. 

●  Kaziranga National Park is a national park in 
the Golaghat, Karbi Anglong and Nagaon 
districts of the state of Assam, India. The 
sanctuary, which hosts two-thirds of the 
world's great one-horned rhinoceroses, is a 
World Heritage Site. Along the Brahmaputra 
River, Dibrugarh is located upstream as 
compared to Kaziranga National Park, as is 
clear from the map above. So, statement 2 is 
not correct. 

●  Deepor Beel is located to the south-west of 
Guwahati city, in Kamrup (on map) 
Metropolitan district of Assam, India. It is a 
permanent freshwater lake and a former 
channel of the Brahmaputra River, to the 
south of the main river. It is also a designated 
wetland under the Ramsar Convention. Manas 
river joins the Brahmaputra further 
downstream as compared to the Deepor Beel. 
So, statement 3 is correct. 

● Therefore, option (c) is the correct answer. 
 
54. Answer: C 

Explanation: 
Dugong: 
 The dugong is a large herbivorous marine 

mammal with paddle-like forelimbs and no 
hind limbs or dorsal fin. Its tail is broad, 
triangular in shape, and horizontally flattened, 
which it moves up and down to swim. It can 
be found in warm coastal waters from East 
Africa to Australia, including the Red Sea, 
Indian Ocean, and Pacific. 

 Dugongs are listed as Vulnerable on the IUCN 
Red List of Threatened Species. The loss of 
seagrass habitats, water pollution and 
degradation of the coastal ecosystem due to 
developmental activities have made life tough 
for these slow-moving animals. 
Internationally, dugongs are listed in 
Appendix I of the Convention on International 
Trade in Endangered Species of Wild Fauna 
and Flora (CITES), which prohibits the trade 
of the species and its parts. So, statement 1 is 
correct. 

 
55. Answer: D 

Explanation: 
● X-ray Polarimetry Satellite (XPoSat) will be 

launched onboard a PSLV in the second 
quarter of 2022. 

● XPoSat Mission Objectives: 
● To measure polarization (degree and 

direction) of X-ray photons from ~50 potential 
celestial sources of interest in the energy band 
of 5-30 keV. So, statement 1 is correct. 
▪ Mission Life – 5 years, Platform – Modified 
IMS-2 Bus 
▪ Payload – Polarimeter Instrument in X-rays 
(POLIX) from Raman Research  
Institute 
▪ Orbit – Circular LEO (500-700 km), 
Inclination ≤ 30° The Gaganyaan Programme 
envisages undertaking the demonstration of 
human spaceflight to Low Earth Orbit (LEO) 
in the short-term and will lay the foundation 
for a sustained Indian human space 
exploration programme in the long run. So, 
statement 2 is correct. 

● The objective of Gaganyaan programme is to 
demonstrate indigenous capability to 
undertake human space flight missions to 
LEO. As part of this programme, two 
unmanned missions and one manned mission 
are approved by Government of India (GoI). 

● The NASA-ISRO Synthetic Aperture Radar 
mission is a joint project between NASA and 
ISRO to co-develop and launch a dual-
frequency synthetic aperture radar on an Earth 
observation satellite. The satellite will be the 
first radar imaging satellite to use dual 
frequencies. 
◦ The NISAR spacecraft will accommodate 
two fully capable synthetic aperture radar 
instruments: NASA’s 24 cm wavelength L-
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band Synthetic Aperture Radar (L-SAR) and a 
10 cm wavelength S-band Synthetic Aperture 
Radar (S-SAR) provided by ISRO. 
◦ NISAR has a ~ 240 km swath, 7 m 
resolution along track and 2-8 m resolution 
cross-track (depending on mode). 

●  NISAR will be the first radar of its kind in 
space to systematically map Earth, using two 
different radar frequencies (L-band and S-
band) to measure changes in our planet's 
surface less than a centimeter across. 
Synthetic aperture radar (SAR) refers to a 
technique for producing fine-resolution 
images from a resolution-limited radar system. 
So, statement 3 is correct. 

● Therefore, option (d) is the correct answer. 
 
56. Answer: B 

Explanation:  
 Forex flows have implications for the conduct 

of domestic monetary policy and exchange 
rate management. When someone invests in a 
country from outside of it, it will deposit 
certain forex (e.g. – US Dollars) in a bank. 
The bank will deposit this forex with RBI, and 
get INR as per the prevailing exchange rate. 
Due to increased forex inflow, liquidity in the 
banking system increases, which might result 
in inflation. To check this, RBI will sell 
securities to the bank, equivalent to the INR 
due to be given to the bank, thus absorbing 
excess liquidity. The balance sheet of both 
RBI & Bank is now having no dues, and it 
absorbed or sterilized the excess liquidity 
situation in the banking system. This is known 
as Sterilization. 

 Sterilization is carried out to absorb excessive 
liquidity in an economy when large forex 
inflows occur in any country. Such 
transactions happen through the banking 
system, and cannot check black money or 
hawala transactions. 

 By sterilization, central banks absorb excess 
liquidity in the banking system, thus checking 
inflation. High inflation is indicative of bad 
macroeconomic fundamentals, which results 
in deterioration of exchange rate, which in the 
case of India would mean depreciation of 
Rupee. Since sterilization is able to check both 
to some extent;  

 Sterilization helps to check inflation & 
counters rupee depreciation; hence it might 

result in rupee appreciation. But it makes our 
exports costly in importing countries, as 
depreciating currency results in competitive 
exports.  

 Sterilization increases forex reserves of the 
central bank. So, statement d is not 
correct.Therefore, option (b) is the correct 
answer. 

 
57. Answer D 

EXPLANATION:  
● The inadequate weapons and transportation 

resources with the Indian rebels were one of 
the major causes of the small duration of the 
1857 revolt. The British company, on the 
other hand, had godowns of weaponry, 
transportation, and communication resources 
to suppress the revolt within months. So, 
statement 1 is correct. 

● The Zamindars of Bengal presidency, Awadh 
Taluqdars, and few other Indian rulers and 
intelligentsia provided support to the British 
company in the revolt of 1857. This proved to 
be of great importance to the British. So, 
statement 2 is correct. 

● There were diverse elements among the rebels 
with different ideologies, plans, and motives. 
Most of the leaders of the revolt were fighting 
for personal gains and lack a coherent idea for 
modern India. Modern nationalism had not yet 
evolved in India at that time. So, statement 3 
is correct. 
 

58. Answer B 
Explanation  
● The Asiatic black bear (Ursus thibetanus), and 

sloth bear (Melursus ursinus) are currently 
listed as Vulnerable on the IUCN Red List of 
Threatened Species. Hence statement 1 is not 
correct. 

● Both these species are protected under the 
Indian Wildlife (Protection) Act 1972 and you 
can be imprisoned for three to seven years and 
charged a hefty fine or both for the illegal 
trade. 

● They are also listed in Appendix I of CITES 
which prohibits international trade of these 
species. 

● The gall bladder of the Asiatic black bear was 
poached in high numbers for use in traditional 
medicine, while sloth bears were killed for 
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their skin and claws. Hence statement 2 is 
correct. 

● Asiatic Black Bears hibernate through the 
winter months and so spend the autumn 
months consuming foods such as acorns, 
beechnuts and walnuts that have a high-fat 
content in order to build up a good layer of fat 
to keep them sustained throughout the winter. 

● The sloth bear usually spends the day 
snoozing in a cave, preferring one near a river 
bank and unlike other bears, it doesn’t 
hibernate but does have a period of 
comparative inactivity during the monsoon. 
Hence statement 3 is not correct. 

 
59. Answer D 

Explanation  
● Startup India Seed Fund Scheme (SISFS) 

provides financial assistance to startups for 
proof of concept, prototype development, 
product trials, market-entry, and 
commercialization. Hence statement 1 is not 
correct. 

● It is an initiative of the government of India 
with the Department for Promotion of 
Industry and Internal Trade (DPIIT). 

● The Seed Fund is disbursed to selected 
startups through eligible incubators across 
India. 

● A startup, recognized by DPIIT, incorporated 
not more than 2 years ago at the time of 
application, is invited to apply for the scheme. 
Hence statement 2 is not correct. 

• Individual entrepreneurs are not eligible to apply for 
support under the scheme. 
• The scheme provides: 

●  Up to Rs. 20 Lakhs as a grant for validation 
of Proof of Concept, prototype development, 
or product trials. 

● Up to Rs. 50 Lakhs of investment for market 
entry, commercialization, or scaling up 
through convertible debentures or debt or 
debt-linked instruments. 

● A startup applicant can avail of seed support 
in the form of grants and debt/convertible 
debentures each once as per the guidelines of 
the scheme. Hence statement 3 is correct. 

 
60. Answer B 

Explanation  
● Balban constantly sought to increase the 

prestige and power of the monarchy, because 

he was convinced that this was the only way 
to face the internal and external dangers 
facing him. 

● In order to prove his claim to noble blood, 
Balban stood forth as the champion of the 
Turkish nobility. He refused to entertain for 
important government posts anyone who did 
not belong to a noble family. This virtually 
meant the exclusion of Indian Muslims from 
all positions of power and authority. Hence, 
statement 1 is not correct. 

● To repel the Mongols who had entrenched 
themselves in Punjab and posed a serious 
danger to the Delhi Sultanate, Balban 
reorganized the military department (diwan-i-
arz), and pensioned off those soldiers and 
troopers who were no longer fit for service. 
Hence, statement 2 is correct. 

● Balban also introduced the famous Persian 
festival of Nowruz in India to impress the 
nobles and people with his wealth and power. 
Hence, statement 3 is correct. 

 
61. Answer C 

Explanation  
● During Quit India Movement, the peasant 

movement in Bihar was ruthlessly suppressed 
by the British Army which was given a free 
hand to torture and burn down entire villages. 

● The movement thereafter went underground 
and was coordinated from around 1943 by a 
new organizational structure called the Azad 
Dastas (Freedom Brigades) or guerilla bands, 
which operated mainly in south Bihar. 

● These Azad Dastas were organized by 
Jaiprakash Narayan in the terrains of Nepal 
and trained them in guerrilla warfare. It 
conducted raids on ammunition depots, 
treasuries, and other government offices. 

● Some of the Congress Socialist Party leaders 
like Jayaprakash Narayanan tried to maintain 
control over Azad Dastas, but the latter soon 
developed links with professional dacoit 
gangs and Congress Socialist Party distanced 
from Dastas. Dastas were suppressed finally 
in 1944. 

Hence, option (c) is the correct answer. 
 
62. Answer B 

Explanation  
● Pancha Rathas is an example of monolithic 

Indian rock-cut architecture made from 
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granite. Each of the five monuments in the 
Pancha Rathas complex resembles a chariot 
(ratha), and each is carved over a monolith 
that slopes in a north-south direction with a 
marginal incline. The structures were not 
consecrated because they were not completed 
following the death of Narasimhavarman I. 
Hence, statement 1 is correct. 

●  These 7th-century shrines (or temples; either 
term is appropriate) were carved during the 
reign of King Mamalla (Narasimhavarman I, 
c. 630 - 670), after whom the site 
(Mamallapuram, also called Mahabalipuram) 
is named. Hence, statement 2 is not correct. 

●  They are named individually after Draupadi 
and the Pandavas brothers from the 
Mahabharata, although they have nothing to 
do with temple carts or the Mahabharata. 
Hence, statement 3 is not correct. 

 
63. Answer A 

Explanation  
● Literally translated as ‘the boy’ and ‘the girl’ 

in the Spanish language, El Nino and La Nina 
are the exact opposite phases of a climatic 
phenomenon called the El Niño-Southern 
Oscillation (ENSO) cycle, which takes place 
in the Pacific Ocean. 

• It involves temperature changes in the waters 
of the Eastern and Central Pacific Oceans. 

• La Niña means Little Girl in Spanish. 
• La Niña is also sometimes called El Viejo, 

anti-El Niño, or simply "a cold event." 
• La Niña has the opposite effect of El Niño. 
• During La Niña events, trade winds are even 

stronger than usual, pushing more warm water 
toward Asia. Hence statement 1 is correct. 

• Off the west coast of the Americas, upwelling 
increases, bringing cold, nutrient-rich water to 
the surface. 

• During La Niña, waters off the Pacific coast 
are colder and contain more nutrients than 
usual. 

• This environment supports more marine life 
and attracts more cold-water species, like 
squid and salmon, to places like the California 
coast. 

• It causes drought in the South American 
countries of Peru and Ecuador, heavy floods 
in Australia, high temperatures in the Western 
Pacific, Indian Ocean, off the Somalian coast 

and comparatively better monsoon rains in 
India. Hence statement 2 is not correct. 

• Generally, El Nino and La Nina occur every 4 
-5 years. 

• El Nino is more frequent than La Nina. 
 
64. Answer B 

Explanation  
● The Javadhu Hills (also Jawadhi, Jawadhu 

Hills) are an extension of the Eastern Ghats 
spread across parts of Vellore and 
Tiruvannamalai districts in the northern part 
of the state of Tamil Nadu in southeastern 
India. So, statement 1 is correct. 

● The Malayali tribal people constitute 92.60% 
of the total population in this block and their 
mainstay is through the non-timber forest 
produce and a variety of trees grown on this 
patta land such as tamarind, jackfruit, coconut, 
lemon and plantain and gooseberry. So, 
statement 2 is not correct. 

● Vainu Bappu Observatory, India’s 
astronomical observatory owned and operated 
by the Indian Institute of Astrophysics, is 
located at Kavalur in the Javadi Hills. So, 
statement 3 is correct. 

 
65. Answer :C 

EXPLANATION:  
● Under the Financial Assistance for support to 

Centres of Excellence of the scheme "Tribal 
Festival, Research, information and Mass 
Education", financial assistance is provided to 
repute Institution for carrying out research 
study programmes including documentation of 
tribal languages. 

● In this regard, the Ministry has sanctioned 
projects to Bhasha Research and Publication 
Centre during 2018-19 and 2019-20 which 
inter- alia covered activity of identification 
and documentation of threatened/dying 
languages.1. The organization has carried out 
documentation of Korku, Nihali, Kolami, 
Vadi, Halpati, Dungra Bhili, Dhavadi, Dhatti, 
Thali, Nahal and Seheriya languages. So 
option (c) is correct. 

 
66. Answer B 

Explanation:  
● The Dandeli Wildlife Sanctuary is located in 

Uttara Kannada, Karnataka, and is located on 
the banks of River Kali. 
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● It is part of the Kali Tiger Reserve (earlier 
called the Dandeli Anshi Tiger Reserve). [The 
Kali Tiger Reserve has two protected areas - 
Dandeli Wildlife Sanctuary and Anshi 
National Park]. So, option (b) is correct. 

 
67. Answer A 

EXPLANATION:  
● The Supreme Court Portal for Assistance in 

Court’s Efficiency is a tool that collects 
relevant facts and laws and makes them 
available to a judge. So, statement 1 is correct.  

● It has not been designed to take any decisions 
on it. It will be used on an experimental basis 
by the judges of Bombay and Delhi High 
Courts. So, statements 2 and 3 are not correct. 

 
68. Ans: D  

Explanation.  
● SDR was created by IMF in 1969  
● It is operated as a supplement to the existing 

currency reserves of the member countries. 
● SDR is also called paper gold but it is neither 

paper nor gold this is an accounting entry. 
 
69. Answer.B  

Explanation. 
● BOP refers to a statistical statement that 

records the accounting of monetary 
transactions of the residents of a country with 
the world during a given period of time.  

● The bop strengthens as exports improve and 
imports decline. A country's bop is used as an 
indicator of an increase or depreciation in the 
value of a country's currency.  

● The theme of Reid's 2022 conference also 
reflects the change in foreign exchange 
reserves. 

 
70. Answer A 

Explanation 
● Information itself can lead to market failures. 

The market for lemons refers to a situation 
where sellers are better informed than buyers 
about the quality of the good for sale, like 
used cars. 

● The informational asymmetry sellers know 
more than buyers causes the market to 
collapse.  

● Inspections, warranties, and certification 
mitigate the lemons problem.  

● The existence of these costly solutions is itself 
evidence that the lemons problem 
(informational asymmetry is an impediment to 
trade) is a real and  significant problem. 

● An example of the lemons problem is the 
inventor who creates an idea that is difficult or 
impossible to patent and cannot be verified 
without being revealed  
 So, option (a) is correct. 

 
71. Answer : C 

Explanation 
● It is India's officially designated single point 

of contact for liaison with Interpol 
(International Criminal Police Organization). 
So, Statement 1 is correct. 

● In the case of States, CBI can take up a case in 
a state only if the state government asks the 
Centre for an investigation by the agency, or 
on the orders of the High Court or Supreme 
Court. But with Union Territories, it can take 
up suo moto investigation of offenses.  

● It operates under the jurisdiction of the 
Ministry of Personnel, Public Grievances, and 
Pensions.  

● Originally set up to investigate bribery and 
governmental corruption, in 1965 it received 
expanded jurisdiction to investigate breaches 
of central laws enforceable by the 
Government of India, multi-state organized 
crime, and multi-agency or international 
cases. So, Statement 3 is correct. 
 

72. Answer : D 
 Explanation 
● Fazl Ali Commission was set up to re-

examine the creation of the state on a 
linguistic basis.  

● Fazl Ali commission supported Linguistic and 
cultural homogeneity but, it rejected the 
theory of ‘one language-one state’. Its view 
was that the unity of India should be regarded 
as the primary consideration in any redrawing 
of the country’s political units. So, Statement 
1 is not correct. 

● Justice J.C.Shah commission was set up as a 
commission of inquiry appointed by the 
government of India in 1977 to inquire into all 
the excesses committed in the Indian 
Emergency (1975-77). On the 
recommendation of the Shah Commission 
1966. 
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● The Punjabi-speaking areas were constituted 
into the unilingual state of Punjab, the Hindi-
speaking areas were constituted into the State 
of Haryana and the hill areas were merged 
with the adjoining union territory of Himachal 
Pradesh. So, Statement 2 is not correct. 

 
73. Answer : C 

EXPLANATION:  
● Press Censorship was imposed by Lord 

Wellesley in the year 1799 through 
Censorship of the Press Act which imposed 
strict restriction on the newspapers published 
from India. So, Statement 1 is correct. 

● According to the Act, The newspapers were 
instructed to print clearly every issue, the 
name of the printer, the editor and the 
proprietor. The Publishers had to submit all 
the material for pre-censorship to the 
Secretary to the Government. Breach of these 
rules were a punishable offense. These 
restrictions were relaxed under Lord Hastings. 
So, Statement 2 is correct.  

● Every publisher was required to get a license 
from the government, in case of default, the 
penalty was Rs.400 and the Press would be 
ceased by the government, is a provision of 
Licensing Regulations, 1823 enacted by 
Governor General John Adams. So, Statement 
3 is not correct. 

 
74. Answer C 

Explanation 
● Before 1793, land ownership was based on 

community, and there was no concept of 
individual ownership of land. But Lord 
Cornwallis introduced Permanent Settlement, 
which created individual property rights over 
land.  

● He hoped that the rule of law and private 
property rights would liberate individual 
enterprises from the shackles of custom and 
tradition. And it would increase investment in 
agricultural land and bring modernization to 
the economy and society. So, Statement 1 is 
correct.  

● Sir Thomas Munro, governor of Madras, 
thought that the Cornwallis permanent 
settlement system did not heed Indian 
tradition and experience. 

●  He thought such reforms had to be modified 
to suit the Indian context and so he introduce 

the Ryotwari Settlement to preserve India’s 
village communities and emphasize the 
protective role of the company’s government. 

●  But ultimately, he aimed to consolidate the 
Company’s state in the south by expanding its 
revenue base, where land taxes would be 
collected directly from the peasants by a large 
number of British officers. So, Statement 2 is 
correct. 

 
75. Answer D 

Explanation  
● The ministers are collectively responsible to 

the Parliament in general and to the Lok 
Sabha in particular. This means that they 
continue in office so long as they enjoy the 
confidence of the majority members in the 
Lok Sabha. In other words, the council of 
ministers can be removed from office by the 
Lok Sabha by passing a no-confidence 
motion. 

The Lok Sabha can also express lack of 
confidence in the government in the following 
ways:  

 By rejecting a money bill  
 By not passing a motion of thanks on the 

President’s inaugural address.  
 By defeating the government on a vital 

issue. (Rejection of the Constitutional 
Amendment Bill does not amount to 
expressing of lack of confidence in the 
government)  

 By passing a censure motion or an 
adjournment motion.  

 By passing a cut motion 
 

76. Answer A 
● It allows for creation of an ‘autonomous state’ 

within Assam in certain tribal areas.  
● It was inserted by The Constitution (Twenty-

second Amendment) Act, 1969. 
● In Autonomous Councils under the Sixth 

Schedule, they do not have jurisdiction of law 
and order. 

 
77. Answer A 

● It is an air-launched medium-range ballistic 
missile. 

● It is designed to target high-value fixed and 
moveable assets of potential adversaries, such 
as long-range radars and air defense systems. 
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● This new medium-range ballistic missile is not 
part of the 'Agni' series of missile systems. 

 
78. Answer D 

Statement 1 is correct: 
Article 361 grants the President and Governors 
immunity from being sued or prosecuted during 
their terms of office. This protection is critical to 
ensuring that the highest constitutional authorities 
can carry out their duties without interference 
from legal actions directed at them personally. 
Statement 2 is correct: 
Article 361 represents an exception to certain 
fundamental rights guaranteed by the Constitution, 
including Article 14, which upholds the Right to 
Equality. While Article 14 establishes equality 
before the law and equal protection of laws for all 
citizens, Article 361 carves out specific exceptions 
for the President and Governors due to the unique 
nature of their constitutional roles. This 
recognition acknowledges the special status and 
responsibilities associated with these offices. 
Statement 3 is correct: 
Article 361 grants immunity for actions taken by 
the Governor or President even prior to their 
appointment to office. This implies that, whether 
initiated before or during their election, any civil 
action seeking redress for actions taken in their 
individual capacities is barred from proceeding 
while they are in office. 
Statement 4 is correct: 
The President and Governors are protected from 
arrest and imprisonment while serving in office by 
Article 361. In order to safeguard the dignity of 
the office and make sure that judicial proceedings 
do not interfere with the constitutional authorities' 
ability to carry out their duties, this provision is 
required. 
 

79. Answer A 
● It is a cost-effective re-usable high subsonic 

aerial target system powered by a gas turbine 
engine. 

● It was designed and built by the Aeronautical 
Development Establishment (ADE), a 
subsidiary of DRDO, for the Indian Armed 
Forces. 

 
80. Answer D 

The Economic Community of West African States 
was established by the Lagos Treaty. So, 
statement 1 is correct. 
It has a mandate to promote economic integration 
among its members. So, statement 2 is correct. 
The vision of ECOWAS is the creation of a 
“borderless region”. So, statement 3 is correct. 
West African Monetary Agency is a specialized 
agency of ECOWAS. So, statement 4 is correct. 
 

81. Answer A 
Under this Scheme, students can avail of Pre-
Matric Scholarships from Class 9 to 10 and Post 
Matric Scholarships for their higher studies at the 
post-matriculation or post-secondary stage. So, 
statement 2 is incorrect. 
The Ministry of Social Justice and Empowerment 
is implementing an umbrella scheme, namely the 
PM Young Achievers Scholarship Award Scheme 
for Vibrant India (PM –YASASVI) for OBC and 
others. So, statement 3 is not correct. 
 

82. Answer c 
● Jeevan Raksha Padak series of awards are 

given to a person for a meritorious act of 
human nature in saving the life of a person. 
So, statement 1 is correct. 

● The award is given in three categories, 
namely, Sarvottam Jeevan Raksha Padak, 
Uttam Jeevan Raksha Padak and Jeevan 
Raksha Padak. So, statement 2 is correct. 

● Persons of all walks of life are eligible for 
these awards. The award can also be conferred 
posthumously. So, statement 3 is correct. 

 
83. Answer B 

● Statement 1 is incorrect: It is a two-stage 
canistered missile with a maximum range of 
1,000 to 2,000 km. 

● Statement 2 is correct: The 'Agni Prime' or 
'Agni-P' is a nuclear-capable new-generation 
advanced variant of the Agni class of missiles. 
It is the sixth missile in the Agni series made 
under IGMDP - Integrated Guided Missile 
Development Program. 

● Statement 3 is correct: The 'Agni Prime' 
missile is lighter than all the earlier Agni 
series of missiles. 
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84. Answer- C 
Explanation 
Statement 1 is correct: The Indian Laurel tree, 
scientifically known as Ficus microcarpa, is 
tropical or subtropical tree. 
Statement 2 is correct: In India, it is mainly found 
in both dry and moist deciduous forests in 
southern India up to 1000 m. 
Statement 3 is correct: Its leaves are used as food 
by Antheraea paphia (silkworms) which produce 
the tussar silk (Tussah), a form of commercially 
important wild silk. 
 

85. Answer C 
Kallakkadal is essentially coastal flooding during 
the pre-monsoon (April-May) season by swell 
waves on the southwest coast of India, according 
to a paper. 
 

86. Answer A 
Statement 1 is incorrect: 
It is the second Pollution Control Vessel of India 
(the first wasICGS Samudra Prahari). 
Statement 2 is incorrect: 
Samudra Paheredarwas indigenously built by 
ABG Shipyard, Surat. 
Statement 3 is correct: 
The ship is capable of unhindered oil-recovery 
operations, with a storage capacity of 502 
kilolitres. 
Statement 4 is incorrect: 
Indian Coast Guard Vessel Samudra Paheredar 
makes a port call at Muara, Brunei Visit was done 
as part of its ongoing overseas deployment to 
ASEAN countries. 
The visit of ICG specialized vessels to ASEAN 
countries is in pursuance of India ASEAN 
Initiative for Marine Pollution, as announced by 
Raksha Mantri Shri Rajnath Singh in the year 
2022 in Cambodia during the ASEAN Defence 
Minister Plus Meeting. 
 

87. Answer B 
Drip pricing is a pricing technique in which firms 
advertise only part of a product’s price and reveal 
other charges later as the customer goes through 
the buying process. 
 

88. Answer A 

It is a high-altitude, long-endurance armed 
Unmanned Aerial Vehicle (UAV), capable of 
remotely controlled or autonomous flight 
operations. 
It is a variant of the MQ-9 "Reaper" developed by 
General Atomics Aeronautical Systems (GA-ASI), 
with its primary purpose being for the United 
States Air Force (USAF). 
It can safely integrate into civil airspace, enabling 
joint forces and civil authorities to obtain real-time 
situational awareness in the maritime domain, day 
or night. 
 

89. Answer B 
● Generally, these institutions are not allowed to 

take traditional demand deposits from the 
public. They can only accept time deposits, 
and they do not provide savings or current 
account facilities. 

● NBFCs cannot accept demand deposits. 
● NBFCs do not form part of the payment and 

settlement system and cannot issue cheques 
drawn on itself 

● Deposit insurance facility of Deposit 
Insurance and Credit Guarantee Corporation is 
not available to depositors of NBFCs, unlike 
in the case of banks. 

 
90. Answer B 

● It is located in the Sahyadri Ranges of the 
Western Ghats in Maharashtra. 

● The most distinct feature of the Tiger Reserve 
is the presence of numerous barren rocky and 
lateritic plateaus, locally called “Sadas”. 

● The region of this Tiger Reserve includes the 
area around the Koyna Dam, the Warna River, 
and many other small rivers and streams 
originating from the Western Ghats and 
flowing to the east. 

 
91. Answer A 

● It is the first free-standing 2D metal and is 
only one atom thick. It can be used in the 
electronics industry. 

● It could also be used in carbon dioxide 
conversion, hydrogen-generating catalysis, 
selective production of value-added 
chemicals, hydrogen production, water 
purification, etc. 
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92. Answer B 

FWD-200B - A medium-altitude, long-endurance 
(MALE) unmanned combat aerial vehicle. 
Developed by - Flying Wedge Defence and 
Aerospace Technologies, an Indian defence and 
aerospace firm in Bengaluru. 
It has a payload capacity of 100 kgs and can carry 
optical surveillance payloads as well as precision 
air-strike weapons. 
 

93. Answer D 
It is the first free-standing 2D metal and the 
world's thinnest gold leaf, which is just a single 
atom thick. 
It can be used as a catalyst because it is much 
more economically viable than thicker, three-
dimensional gold. 
 

94. Answer A 
● It is known for its rapid speed. 
● Eta Aquariid meteor shower – Is  formed 

when Earth passes through the orbital plane of 
the famous Halley’s Comet, which takes about 
76 years to orbit the Sun once. 

● Meteors – Are simply grains of dust or rock 
that burn up as they enter the Earth’s 
atmosphere. This burning also creates a brief 
tail. 

 
95. Answer : B 

Penicillin, discovered in 1928 by Alexander 
Fleming, is an antibiotic agent derived from the 
Penicillium mold. 
Carbapenems and amoxicillin are derivatives of 
penicillin. 
This led to India companies to become entirely 
dependent on China for the production of 
penicillin and its intermediates. 
 

96. Answer B 
CPGRAMS also provides an appeal facility to the 
citizens if they are not satisfied with the resolution 
by the Grievance Officer. Hence, statement 3 is 
not correct. 
 

97. Answer A 
Global GDP Growth: The report forecasts a 
deceleration in global gross domestic product 

(GDP) growth, from an estimated 2.7% in 2023 to 
2.4% in 2024. Hence, statement 1 is not correct. 
Inflation: Global headline inflation fell from 8.1% 
in 2022 to an estimated 5.7% in 2023 and is 
projected to decline to 3.9% in 2024. Hence, 
statement 2 is not correct. 
Climate Change: IPCC estimates predict a range 
of 10 to 23% global GDP losses by 2100 due to 
temperature impacts alone. Hence, statement 3 is 
correct. 
 

98. Answer  C 
● Recently, the Ministry of Social Justice and 

Empowerment highlighted the Pradhan Mantri 
Anusuchit Jaati Abhuyday Yojana (PM-
AJAY) is a comprehensive scheme 
amalgamating three Centrally Sponsored 
Schemes. 

These schemes include: 
● Pradhan Mantri Adarsh Gram Yojana 

(PMAGY), 
● Special Central Assistance to Scheduled 

Castes Sub Plan (SCA to SCSP), and 
● Babu Jagjivan Ram Chhatrawas Yojana 

(BJRCY). 
● (PMAY is not merged under this scheme). 

Hence, statement 1 and statement 3 are 
correct. 

● This initiative, launched in the fiscal year 
2021-22, aims to uplift Scheduled Caste (SC) 
communities by generating employment 
opportunities through skill development, 
income-generating schemes, and various 
initiatives. Hence, statement 2 is correct. 

 
99. Answer D 

India-Maldives Relations: 
● Eight Degree Channel separates Indian 

Minicoy (part of Lakshadweep Islands) from 
that of Maldives. Hence, statement 1 is 
correct. 

● Defense cooperation extends to the areas of 
Joint Exercises - “Ekuverin”, “Dosti”, 
“Ekatha” and “Operation Shield” (begun in 
2021). Hence, statement 2 is correct. 

● India provides the largest number of training 
opportunities for the Maldivian National 
Defence Force (MNDF), meeting around 70% 
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of their defense training requirements. Hence, 
statement 3 is correct. 
 

100. Answer C 
● Lentils, a legume with flat disc-shaped seeds, 

are bushy annual plants bearing short stature 
and self-pollinated flowers. Hence, statement 
1 is correct. 

● Lentil, a rainfed crop, thrives in cold 
temperatures during vegetative growth and 
warm temperatures at maturity, typically 
cultivated in the rabi season. Hence, statement 
2 is correct. 

● The Bundelkhand region of Uttar Pradesh and 
Madhya Pradesh is considered as a lentil bowl 
which contributes nearly 25% to the total 
lentil production in the country. Hence, 
statement 3 is correct. 
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1- उȅर: C 

ʩाƥा:  
● सʔनत काल के दौरान भारत मŐ गनपाउडर पेश िकया गया 

था। इसे िविभɄ Ůकार की बंदूको ंमŐ उपयोग के िलए अलग-
अलग अनुपात मŐ शोरा, सʚर और चारकोल का उपयोग 
करके तैयार िकया गया था। अत: कथन 1 सही नही ंहै।  

● यȸनाजा, एक खगोलीय उपकरण, मिहंūा सूरी Ȫारा िवकिसत 
िकया गया था जो िफरोज शाह तुगलक के दरबारी किव थे। 
अत: कथन 2 सही नही ंहै। 

●  कागज का उपयोग िदʟी सʔनत के काल मŐ शुŝ Šआ। 
कागज उȋादन के ŮिसȠ कŐ ū पटना, मुिशŊदाबाद और 
औरंगाबाद आिद हœ। इसिलए, कथन 3 सही है। 

● इसिलए, िवकʙ (सी) सही उȅर है। 
 
2- उȅर: A 

ʩाƥा:  
 18वी ंशताɨी के अंत की शɨावली के अनुसार, खुद-काʱ 

शɨ की पįरभाषा उस ʩİƅ के ŝप मŐ दी गई है, जो "बैल 
आिद की खरीद के िलए खुद को पैसा देकर िकसानो ंसे खेती 
करवाता है"। यह "यिद भूिम का ˢामी (मिलक-ए-ज़मीन) 
अपनी भूिम पर खेती करता है तो उसे खुदकाʱ कहा जाता 
है।" िजन कृषको ं के पास जोतने वाली भूिम होती थी, वे 
खुदकाʱ कहलाते थे। उɎोनें Ůथागत दरो ंपर भू-राजˢ का 
भुगतान िकया। उनमŐ से कुछ के पास बŠत से हल और बैल 
थे, िजɎŐ वे अपने गरीब भाइयो,ं काʱकारो ंया मुजाįरयो ंको दे 
देते थे, जो आम तौर पर उǄ दर पर भू-राजˢ का भुगतान 
करते थे। ये दो समूह गाँव के कृषको ंमŐ सबसे बड़े वगŊ थे। इस 
Ůकार, Ťामीण समाज अȑिधक असमान था।  

 कभी-कभी खुद-काʱ या मािलक-काʱकारो ं को िनवासी 
काʱकारो ंके पूरे शरीर के साथ गलत तरीके से जोड़ा जाता 
है। वे पाही या पाई-कʱ के साथ भी िभɄ हœ जो पड़ोसी गांवो ं
या परगना से अिधशेष भूिम पर खेती करने के िलए, या एक 
बबाŊद गांव को पुन̾थाŊिपत करने या एक नया बसाने के िलए 
आए थे। 

 काʱकारो ं के अलावा, भूिमहीन ʩİƅ भी थे जो मजदूर 
(मजूर) के ŝप मŐ काम करते थे। इसके अलावा, सेवा करने 
वाले लोग थे- लोहार, बढ़ई, रˣी बनाने वाला, कुʉार, चमड़े 
का काम करने वाला, नाई, धोबी, गाँव का चौकीदार, आिद।  
इसिलए, िवकʙ (a) सही उȅर है।  

 
3- उȅर डी 

गरीबी अंतर Ůȑेक गरीब ʩİƅ की आय और गरीबी रेखा 
के बीच अंतर का औसत है। 
गरीबी अंतर गरीबी रेखा से नीचे रहने वाले Ůȑेक ʩİƅ को 
उस रेखा तक ऊपर उठाने के िलए आवʴक आय की कुल 
रािश को मापता है। 
कुल गरीबी अंतर को Ůित िदन उस धनरािश के ŝप मŐ माना 
जा सकता है जो िकसी अथŊʩव̾था मŐ Ůȑेक गरीब ʩİƅ 
को हमारे पįरभािषत Ɋूनतम आय मानको ं तक लाने मŐ 
लगेगी। 

4- उȅर ए 

शɨ "उलटा शुʋ संरचना" उस İ̾थित को संदिभŊत करता 
है जहां उȋादन ŮिŢया मŐ उपयोग िकए जाने वाले इनपुट या 
कǄे माल पर कर की दर तैयार माल या उȋादो ंपर कर की 
दर से अिधक है। दूसरे शɨो ंमŐ, यह तब होता है जब अंितम 
उȋाद की तुलना मŐ इनपुट पर कर का बोझ अिधक होता है। 
तो, कथन 2 सही है। 
उलटा शुʋ संरचना उन उȨोगो ं के िलए िवशेष ŝप से 
सम˟ाŤˑ हो सकती है जो आयाितत इनपुट या कǄे माल 
पर बŠत अिधक िनभŊर हœ। यह घरेलू िनमाŊताओ ं की 
Ůित˙धाŊȏकता मŐ बाधा डाल सकता है, आपूितŊ ŵंृखला मŐ 
अƗमता पैदा कर सकता है और िनयाŊत पर िनभŊर Ɨेũो ंपर 
नकाराȏक Ůभाव डाल सकता है। अतः , कथन 1 सही है। 
 

5- उȅर सी 
कथन 1 गलत है: नकद आरिƗत अनुपात (सीआरआर) के 
तहत, वािणİǛक बœको ं को कŐ ūीय बœक के पास आरिƗत 
रािश के ŝप मŐ एक िनिʮत Ɋूनतम रािश जमा रखनी होती 
है। 
 कथन 2 सही है: ये भारतीय įरज़वŊ बœक (आरबीआई) के पास 
आरिƗत नही ंहœ, बİʋ ˢयं बœको ंके पास आरिƗत हœ। 
 कथन 3 गलत है: बœक सीआरआर का पैसा कॉरपोरेट्स या 
ʩİƅगत उधारकताŊओ ंको उधार नही ंदे सकते हœ। 
 

6- उȅर सी 
कथन 1 सही है: यह वह दर है िजस पर įरज़वŊ बœक िविनमय 
िबलो ंया अɊ वािणİǛक पũो ंको खरीदने या िफर से छूट 
देने के िलए तैयार है। 
 कथन 2 सही है: इस दर को एमएसएफ दर से जोड़ िदया 
गया है। 
 कथन 3 गलत है: वतŊमान बœक दर (22 अगˑ को) 5.65% 
है, जो रेपो दर से 25 आधार अंक अिधक है 
 

7- उȅर डी 
कथन 1 गलत है: यह वह दर है िजस पर मुūा बाजार मŐ 
केवल अʙकािलक धनरािश उधार ली जाती है और उधार 
दी जाती है। 
 कथन 2 गलत है: तंग तरलता की İ̾थित से कॉल मनी दर मŐ 
वृİȠ होती है। 
 कथन 3 सही है: जब बœक एक िदन के िलए उधार लेते हœ तो 
इसे कॉल-मनी के ŝप मŐ जाना जाता है। 
 

8- उȅर : A  
ʩाƥा  
● मान लीिजए िक चीन जैसा देश बाजार पर कɥा करने के 

िलए सˑे दामो ंपर अपने माल की डंिपंग (िनयाŊत) कर रहा है, 
तो इन सˑी कीमतो ं को अकेले बाजार की ताकतो ं Ȫारा 
उिचत नही ंठहराया जा सकता है।  
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● इसिलए भारत सरकार को इसकी कीमत बढ़ाने के िलए 
उȋाद पर शुʋ लगाना पड़ता है। यह घरेलू उȋादो ं की 
सुरƗा के िलए है। 

 
9- उȅर: D  

ʩाƥा: 
●  रामसर कɋŐशन आūŊभूिम के संरƗण और सतत उपयोग के 

िलए एक अंतररा Ō̓ ीय संिध है, जो आūŊभूिम के मौिलक 
पाįरİ̾थितक कायŘ और उनके आिथŊक, सांˋृितक, वैǒािनक 
और मनोरंजक मूʞ को पहचानती है। 

●  82°30'E के देशांतर के ̾थानीय समय को भारतीय मानक 
समय के ŝप मŐ िलया गया है। इस याʄोȅर या देशांतर को 
भारत की मानक याʄोȅर भी कहा जाता है। 

 
10- उȅर: D 

 ʩाƥा:  
 सर सैयद अहमद 1817 मŐ पैदा Šए एक उदार, आधुिनक 

सामािजक-धािमŊक सुधारक थे िजɎोनें 1857 के िवūोह से 
पहले िŰिटश Ůशासन की सेवा की थी। यूनाइटेड इंिडयन 
पैिटŌ योिटक एसोिसएशन 1888 मŐ बनारस के सर सैयद 
अहमद खान और राजा िशव Ůसाद िसंह Ȫारा ̾थािपत एक 
राजनीितक संगठन था। . इसने भारतीय रा Ō̓ ीय कांŤेस का 
िवरोध िकया और इसका उȞेʴ मुİˠमो ंके बीच घिनʿ संबंध 
िवकिसत करना था । अत: कथन 1 सही है।  

 सर सैयद अहमद खान ने मुİˠम जनता के बीच पिʮमी 
वैǒािनक िशƗा का Ůचार िकया। वह कुरान की िशƗाओ ंके 
साथ पिʮमी वैǒािनक िशƗा का िमलान करना चाहते थे। अत: 
कथन 2 सही नही ंहै।  

 उɎोनें उदूŊ  अनुवाद के माȯम से मुसलमानो ंमŐ पिʮमी िशƗा 
का Ůसार करने के िलए 1864 मŐ साइंिटिफक सोसाइटी की 
̾थापना की। इसिलए, कथन 3 सही है।  
इसिलए, िवकʙ (d) सही उȅर है। 

 
11- उȅर: C  

ʩाƥा:  
● पृțी की पपड़ी चǥानो ंसे बनी है। एक चǥान एक या एक से 

अिधक खिनजो ंका योग है। कथन 1 गलत है:  
● आưेय चǥानो ंको उनकी बनावट के आधार पर वगŎकृत िकया 

जाता है। बनावट आकार पर िनभŊर करती है अनाज या सामŤी 
की अɊ भौितक İ̾थितयो ं की ʩव̾था। यिद िपघला Šआ 
पदाथŊ अिधक गहराई पर धीरे-धीरे ठंडा िकया जाता है, तो 
खिनज कण बŠत बड़े हो सकते हœ। िपघली Šई सामŤी का 
अचानक ठंडा होना सतह छोटे और िचकने दानो ंमŐ पįरणत 
होती है। कथन 2 सही है:  

● आưेय चǥानो ं के कुछ सामाɊ उदाहरण हœ Ťेनाइट, गैŰो, 
पेगमेटाइट, बेसाʐ, ǜालामुखी Breccia और Tuff। कथन 3 
सही है:  

● ऊˆीय कायांतरण चǥानो ं की रासायिनक संरचना को बदल 
देता है और उɎŐ पुन: ̾थािपत करने का कारण बनता है। 
कायांतरण एक शɨ है जो ŝप मŐ पįरवतŊन को संदिभŊत 

करता है। तापीय कायांतरण को दो भागो ंमŐ िवभािजत िकया 
जा सकता है ŵेिणयां - संपकŊ  और Ɨेũीय कायांतरण। 

 
12- उȅर: C 

ʩाƥा:   
 भारत का संिवधान अʙसंƥको ं को पįरभािषत नही ं करता 

है। अत: कथन 1 सही नही ंहै। 
 रा Ō̓ ीय अʙसंƥक आयोग अिधिनयम, 1992 अʙसंƥक 

को "कŐ ū सरकार Ȫारा अिधसूिचत समुदाय" के ŝप मŐ 
पįरभािषत करता है। 

 भारत मŐ धािमŊक अʙसंƥको ं का िनधाŊरण रा Ō̓ ीय ˑर पर 
कŐ ū सरकार Ȫारा िकया जाता है। दूसरी ओर, भाषाई 
अʙसंƥको ं की पहचान राǛ-वार आधार पर की जाती है, 
जो इस Ůकार राǛ सरकार Ȫारा िनधाŊįरत होते हœ । अत: 
कथन 2 सही नही ंहै। 

 Ůारंभ मŐ पांच धािमŊक समुदायो,ं अथाŊत, मुİˠम, ईसाई, िसख, 
बौȠ और पारसी को कŐ ū सरकार Ȫारा अʙसंƥक समुदायो ं
के ŝप मŐ अिधसूिचत िकया गया था। आगे िदनांक 27 जनवरी 
2014 की अिधसूचना Ȫारा जैनो ं को भी एक अɊ 
अʙसंƥक समुदाय के ŝप मŐ अिधसूिचत िकया गया था। 
अत: कथन 3 सही है। इसिलए, िवकʙ (C) सही उȅर है। 

 
13- उȅर: C  

ʩाƥा:  
● िवभाजन-िवरोधी आंदोलन सांŮदाियक आधार पर बंगाल Ůांत 

को िवभािजत करने के फैसले के İखलाफ रा Ō̓ वादी ŮितिŢया 
थी। कथन 1 सही है:  

● बिहʺार का सुझाव सबसे पहले कृˁकुमार िमũा की 
संजीवनी 1905 से आया था, और बाद मŐ 1905 मŐ टाउन हॉल 
की बैठक मŐ Ůमुख सावŊजिनक लोगो ं Ȫारा ˢीकार िकया 
गया। कथन 2 सही है: 

●  िचदंबरम िपʟई एक भारतीय ˢतंũता सेनानी थे। वह एक 
Ůमुख वकील, टŌ ेड यूिनयन के नेता, और भारतीय रा Ō̓ ीय 
कांŤेस मŐ नेता थे। उɎोनें कोरल िमलो ंके मजदूरो ंको लामबंद 
िकया, िजससे ˢदेशी आंदोलन के सामािजक आधार का 
िवˑार Šआ। कथन 3 गलत है:  

● आविधक "बंदे मातरम" था अरिबंदो घोष Ȫारा Ůकािशत। 
उɎोनें िŰिटश वˑुओ,ं अंŤेजो ं के संगिठत और अनवरत 
बिहʺार के िसȠांत को Ůˑुत िकया िशƗा, Ɋायपािलका 
और कायŊपािलका की ʩव̾था, और वफादारो ंका सामािजक 
बिहʺार और अɊायपूणŊ कानूनो ं का सिवनय अवǒा उनके 
लेख बंदे मातरम मŐ। बंदे मातरम एक अंŤेजी भाषा थी 
कलकȅा (अब कोलकाता) से Ůकािशत होने वाला साɑािहक 
समाचार पũ 1905 मŐ िबिपन चंū पाल Ȫारा ̾थािपत िकया 
गया था और ŵी अरिबंदो Ȫारा संपािदत िकया गया था।  

 
14- उȅर: C 

ʩाƥा: 
 कŐ ūीय सतकŊ ता आयोग (सीवीसी) का अिधकार Ɨेũ अİखल 

भारतीय सेवाओ ं के सद˟ो ं और कŐ ū सरकार के Ťुप ए के 
अिधकाįरयो,ं ˋेल वी और उससे ऊपर के रœक के 
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अिधकाįरयो ंतक फैला Šआ है। सावŊजिनक Ɨेũ के बœको ंमŐ, 
भारतीय įरजवŊ बœक, नाबाडŊ और िसडबी आिद मŐ Ťेड डी और 
उससे ऊपर के अिधकारी। सीवीसी का अिधकार Ɨेũ राǛ 
सेवाओ ंके अिधकाįरयो ंतक नही ंहै। अत: कथन 1 सही नही ं
है।  

 CVC की अपनी कोई जांच शाखा नही ं है और वह िकसी भी 
िशकायत की जांच नही ंकर सकता है और अपनी जांच įरपोटŊ 
के िलए अɊ िनकायो ं पर िनभŊर करता है। इसका कोई 
ɊायिनणŊय भी नही ंहै Ɛोिंक यह अिधकाįरयो ंȪारा िकए गए 
अपराधो ंके िलए आपरािधक मुकदमो ंको मंजूरी देने के िलए 
सƗम Ůािधकारी नही ंहै। अत: कथन 2 सही नही ंहै। 

 
15- उȅर: A  

ʩाƥा:  
 2011 के 97वŐ संिवधान संशोधन अिधिनयम ने सहकारी 

सिमितयो ंको संवैधािनक दजाŊ और संरƗण Ůदान िकया। इस 
संदभŊ मŐ, इसने संिवधान मŐ िनɻिलİखत तीन पįरवतŊन िकए: 

 इसने सहकारी सिमितयो ं के गठन के अिधकार को मौिलक 
अिधकार बना िदया (अनुǅेद 19)। अत: कथन 1 सही है।  

 इसमŐ सहकारी सिमितयो ं के Ůचार पर राǛ नीित का एक 
नया िनदőशक िसȠांत शािमल है (अनुǅेद 43-बी)। अत: 
कथन 2 सही है।  

 इसने संिवधान मŐ एक नया भाग IX-B जोड़ा जो "सहकारी 
सिमितयो"ं के ŝप मŐ हकदार है (अनुǅेद 243-ZH से 243-
ZT)।  

 हालांिक, भाग IX-B को सवŖǄ Ɋायालय Ȫारा असंवैधािनक 
होने के कारण रȞ कर िदया गया है।  

 संशोधन मŐ सहकारी कतŊʩो ं मŐ भागीदारी के िलए कोई 
मौिलक कतŊʩ नही ंजोड़ा गया है। अत: कथन 3 सही नही ंहै।  

इसिलए, िवकʙ (ए) सही उȅर है। 
 
16- उȅर:  B  

ʩाƥा:  
● नरम ऋण वे ऋण होते हœ िजनमŐ अिधकांश ʩावसाियक ŝप 

से उपलɩ ऋणो ंकी तुलना मŐ अिधक उदार चुकौती शतŒ होती 
हœ। उɎŐ "įरयायती ऋण" भी कहा जाता है। 

●  कथन 1 गलत है: अɊ ऋणो ंकी तुलना मŐ आसान ऋण शतŘ 
और शतŘ पर अपेƗाकृत उदार ऋण है। सॉɝ लोन आम तौर 
पर सरकारो,ं सरकारी एजŐिसयो ंजैसे िनयाŊत-आयात बœको ंऔर 
िवकासाȏक सं̾थानो ं Ȫारा िवकासशील देशो ं की सहायता 
करने और संकटो ं को दूर करने के िलए पेश िकए जाते हœ। 
एक किठन ऋण एक िनजी या गैर-पारंपįरक ऋणदाता से एक 
मूतŊ संपिȅ Ȫारा समिथŊत ऋण है।  

● कथन 2 सही है: चुकौती शुŝ होने से पहले उनके पास बाजार 
की ɯाज दरŐ  और लंबी įरयायती अविध हो सकती है। नरम 
ऋण उधारकताŊओं को आिथŊक िवकास के अवसर Ůदान कर 
सकते हœ, लेिकन नरम ऋण देने वाले ऋणदाता यह नही ं देख 
सकते हœ वषŘ के िलए उनके िवȅपोषण पर सकाराȏक įरटनŊ, 
यिद कभी हो। और, कुछ मामलो ं मŐ, उधारकताŊ भुगतान 
दाियȕो ं से अिभभूत हो सकते हœ, िजससे उनकी आिथŊक 
İ̾थित और िबगड़ सकती है ।  

 
17- उȅर: A  

ʩाƥा: 
●  कैिबनेट सिमितयां अितįरƅ संवैधािनक िनकाय हœ। दूसरे 

शɨो ंमŐ, उनका उʟेख संिवधान मŐ नही ं है। वे दो Ůकार के 
होते हœ- ̾थायी और तदथŊ।  

● पूवŊ एक ̾थायी Ůकृित का है जबिक बाद वाला एक अ̾थायी 
Ůकृित का है। वे कैिबनेट के भारी कायŊभार को कम करने के 
िलए एक संगठनाȏक उपकरण हœ।  

● वे नीितगत मुȞो ं और Ůभावी समɋय की गहन जांच की 
सुिवधा भी देते हœ। 

 वतŊमान मŐ, िनɻिलİखत 8 कैिबनेट सिमितयां कायŊ कर रही हœ:  
● राजनीितक मामलो ं की मंिũमंडलीय सिमित - Ůधान मंũी 

(Ůधानमंũी) की अȯƗता मŐ 
● आिथŊक मामलो ं की मंिũमंडलीय सिमित - Ůधान मंũी की 

अȯƗता मŐ 
● कैिबनेट की िनयुİƅ सिमित - Ůधान मंũी की अȯƗता मŐ 
● सुरƗा पर कैिबनेट सिमित - Ůधान मंũी की अȯƗता मŐ 

संसदीय मामलो ंकी कैिबनेट सिमित- रƗा मंũी की अȯƗता 
मŐ  

● आवास पर कैिबनेट सिमित- गृह मंũी की अȯƗता मŐ िनवेश 
और िवकास पर कैिबनेट सिमित- पीएम की अȯƗता मŐ 
रोजगार और कौशल िवकास पर कैिबनेट सिमित- पीएम की 
अȯƗता मŐ।  

अत: िबंदु 1 और 3 सही हœ। इसिलए, िवकʙ (a) सही उȅर है। 
 
18- उȅर: A 

ʩाƥा:  
● एलोरा भारत के महारा Ō̓  के औरंगाबाद िजले मŐ İ̾थत एक 

यूनेˋो िवʷ धरोहर ̾थल है। यह दुिनया के सबसे बड़े रॉक-
कट िहंदू मंिदर गुफा पįरसरो ंमŐ से एक है। कथन 1 गलत है:  

● एलोरा की गुफाएँ न केवल िहंदू धमŊ का Ůतीक हœ बİʋ यह 
जैन धमŊ और बौȠ धमŊ से भी संबंिधत हœ। वे सिहˁुता की 
भावना को िचिũत करते हœ, िजसने इन तीन धमŘ को एक ही 
̾थान पर अनुमित दी, िजसने इस Ůकार इसके सावŊभौिमक 
मूʞ को सु̊ढ़ करने का काम िकया। कथन 2 सही है: 

● रावण Ȫारा कैलास पवŊत को उठाने का Ůयास करने वाली मूितŊ 
एलोरा की गुफाओ ं का एक िहˣा है। यह मूितŊकला 
कैलासनाथ मंिदर का एक िहˣा है जो एलोरा की गुफाओ ंके 
अंदर İ̾थत है। कथन 3 सही है:  

● बौȠ गुफाएँ आकार मŐ बड़ी हœ और एक, दो और तीन मंिजला 
हœ। उनके ˑंभ बड़े पैमाने पर हœ। अजंता ने दो मंिजला 
गुफाओ ं की खुदाई की है लेिकन एलोरा मŐ तीन मंिजला एक 
अनूठी उपलİɩ है। तीन मंिजला इमारत एलोरा की गुफाओ ं
के िलए िविशʼ है।  
 

19- उȅर: A 
ʩाƥा: 
 जनिहत यािचका को भारत मŐ िकसी भी कानून या अिधिनयम 

मŐ पįरभािषत नही ं िकया गया है। बड़े पैमाने पर जनता की 
मंशा पर िवचार करने के िलए Ɋायाधीशो ंȪारा इसकी ʩाƥा 



 

 
 

27 
RACE 

IAS 
 

9044137462 

   ALIGANJ | INDIRA NAGAR | ALAMBAGH | GOMTI NAGAR, LUCKNOW 
 WEBSITE :www.raceias.com,  /raceiaslucknow 

 E-mail ID : raceias.2010@gmail.com 

 

[GS]  
Explanation 
 

RACE 
IAS 

की गई है। हालांिक इस तरह के मुकदमो ं का मुƥ और 
एकमाũ फोकस केवल जनिहत है, ऐसे कई Ɨेũ हœ जहां एक 
जनिहत यािचका दायर की जा सकती है। जनिहत यािचका 
(पीआईएल) की अवधारणा का जɉ 1960 के दशक मŐ 
संयुƅ राǛ अमेįरका मŐ Šआ और िवकिसत Šआ।  

 Ɋायालय संिवधान के अनुǅेद 32 और 226 के तहत 
शİƅयो ंके Ůयोग मŐ िकसी भी इǅुक ʩİƅ Ȫारा उन लोगो ं
के कʞाण मŐ दायर यािचका पर िवचार कर सकता है जो 
वंिचत İ̾थित मŐ हœ और इस Ůकार Ɋायालय का दरवाजा 
खटखटाने की İ̾थित मŐ नही ंहœ . Ɋायालय ऐसे वंिचत लोगो ंके 
मौिलक अिधकारो ंकी रƗा करने के िलए संवैधािनक ŝप से 
बाȯ है और राǛ को अपने संवैधािनक वादो ंको पूरा करने 
का िनदőश देता है। अत: कथन 1 सही है।  

 जनिहत यािचका 'लोकस œːडी' के पारंपįरक िनयम का 
अपवाद है। इस िनयम के अनुसार केवल वही ʩİƅ उपचार 
के िलए Ɋायालय जा सकता है िजसके अिधकारो ं का हनन 
होता है, जबिक जनिहत यािचका है इस पारंपįरक िनयम का 
अपवाद। जनिहत यािचका के तहत, कोई भी जनिहतैषी 
नागįरक या सामािजक संगठन िकसी भी ʩİƅ या ʩİƅयो ं
के समूह के अिधकारो ं के ŮवतŊन के िलए अदालत का Ŝख 
कर सकता है। कोई भी ʩİƅ जनिहत यािचका दायर कर 
सकता है और यािचकाकताŊ को पीिड़त ʩİƅ होने की 
आवʴकता नही ं है। यहां तक िक कोई सं̾था भी जनिहत 
यािचका दायर कर सकती है। अत: कथन 2 सही नही ंहै।  

 एक जनिहत यािचका दाİखल करने के िलए Ɋायालय शुʋ 
50 Ŝपये Ůित Ůितवादी है। अत: कथन 3 सही नही ं है। 
इसिलए, िवकʙ (ए) सही उȅर है।  

 
20- उȅर: C 

ʩाƥा:  
● ककŊ  रेखा एक काʙिनक रेखा है, जो भूमȯ रेखा से 23.50 

िडŤी उȅर के कोण पर है, जो लगभग भारत के मȯ से होकर 
गुजरती है। कथन 1 सही है:  

● माही नदी भारत की एकमाũ नदी है जो ककŊ  रेखा को दो बार 
काटती है, मȯ Ůदेश मŐ पहली जहाँ से यह राज̾थान की ओर 
बहती है और गुजरात मŐ Ůवेश करती है जहाँ यह दूसरी बार 
कटती है। कथन 2 गलत है: 

● ककŊ  रेखा भारत मŐ आठ राǛो ंसे होकर गुजरती है: गुजरात, 
राज̾थान, मȯ Ůदेश, छȅीसगढ़, झारखंड, पिʮम बंगाल, 
िũपुरा और िमजोरम। कथन 3 सही है:  

● ककŊ  रेखा और भारतीय मानक समय मȯा˥ भारतीय राǛ 
छȅीसगढ़ मŐ िमलते हœ। 

 
21- उȅर: C 

ʩाƥा:  
● शɨ 'Ůˑावना' संिवधान के पįरचय या Ůˑावना को संदिभŊत 

करता है। इसमŐ संिवधान का सारांश या सार िनिहत है। यह 
'उȞेʴ संकʙ' पर आधाįरत है, िजसे पंिडत नेहŝ ने तैयार 
िकया था और िजसे संिवधान सभा ने अपनाया था। Ůˑावना 
संिवधान का एक भाग है, संिवधान िनमाŊताओ ं के मत के 
अनुŝप है। हालाँिक, दो बातो ंपर ȯान िदया जाना चािहए:  

○  Ůˑावना न तो िवधाियका की शİƅ का ŷोत है और न 
ही िवधाियका की शİƅयो ंपर रोक है।  

○ यह गैर-Ɋाियक है, अथाŊत इसके Ůावधान हœ Ɋायालयो ं
मŐ ŮवतŊनीय नही ंहै। अत: कथन 1 सही नही ंहै।  

● इसमŐ 42वŐ संिवधान संशोधन अिधिनयम (1976) Ȫारा संशोधन 
िकया गया है, िजसमŐ तीन नए शɨ-समाजवादी, धमŊिनरपेƗ 
और अखंडता जोड़े गए हœ। अत: कथन 2 सही नही ंहै।  

● ● ऐितहािसक केशवानंद भारती मामले (1973) मŐ पहली बार 
यह सवाल उठा िक Ɛा संिवधान के अनुǅेद 368 के तहत 
Ůˑावना मŐ संशोधन िकया जा सकता है। अदालत ने कहा िक 
Ůˑावना मŐ संशोधन िकया जा सकता है, बशतő िक बुिनयादी 
सुिवधाओ ंमŐ कोई संशोधन न िकया जाए।  

● दूसरे शɨो ंमŐ, Ɋायालय ने माना िक Ůˑावना मŐ िनिहत मूल 
तȕो ं या संिवधान की मौिलक िवशेषताओ ंको अनुǅेद 368 
के तहत एक संशोधन Ȫारा बदला नही ंजा सकता है। इसिलए, 
कथन 3 सही है। इसिलए, िवकʙ (सी) सही उȅर है। 
 

22- उȅर: A  
ʩाƥा:  
● साइमन कमीशन को 1919 के अिधिनयम की समीƗा करने 

और सं̾थानो ंके कामकाज मŐ सुधार के उपाय सुझाने के िलए 
िनयुƅ िकया गया था। कथन 1 सही है: 

● भारतीय वैधािनक आयोग 26 नवंबर, 1927 को िनयुƅ एक 
िŰिटश आयोग था, जो िŰिटश भारत मŐ सरकार की Ůणाली, 
िशƗा के िवकास और Ůितिनिध सं̾थानो ंके िवकास की जांच 
करने और भिवˈ की नीित के बारे मŐ िसफाįरश करने के िलए 
िनयुƅ िकया गया था। आगे संवैधािनक सुधार। कथन 2 सही 
है:  

● आयोग के सभी सद˟ िŰिटश शासक वगŊ के थे, और भारतीय 
सद˟ो ं के बिहʺार से भारत मŐ आŢोश पैदा Šआ, कांŤेस 
और मुİˠम लीग दोनो ं ने इसका बिहʺार िकया। कथन 3 
गलत है:  

● साइमन कमीशन ने कहा था िक देश की िविवधता से िनपटने 
के िलए भारत सरकार का अंितम चįरũ संघीय होना था। इसने 
घोषणा की िक कŐ ū मŐ एक िजʃेदार सरकार की ̾थापना 
अिनिʮत काल तक ŮतीƗा करनी थी। इसने िसफाįरश की िक 
भिवˈ मŐ एक संघीय संघ के ŝप मŐ िŰिटश भारत और 
įरयासतो ंसे िमलकर एक वृहȅर भारत ̾थािपत िकया जाना था 

 
23- उȅर: B 

ʩाƥा:  
● सिũया नृȑ भारत के आठ शा˓ीय नृȑो ंमŐ से एक है। इस 

कला ŝप का नाम वैˁव मठो ंसे िलया गया है, िजɎŐ सȅरो ं
के नाम से जाना जाता है, जहां यह मुƥ ŝप से Ůचिलत है। 
नृȑ आम तौर पर समूहो ंमŐ पुŜष िभƗुओ ंȪारा िकया जाता है 
िजɎŐ भोकोट के ŝप मŐ जाना जाता है जो उनके दैिनक 
अनुʿानो ंके िहˣे के ŝप मŐ होते हœ। अत: कथन 1 सही नही ं
है।  

● इसकी उȋिȅ 15वी ं शताɨी ईˢी मŐ असम राǛ मŐ वैˁव 
संत शंकरदेव Ȫारा की गई थी। अत: कथन 2 सही है। 
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● पौरािशक भंगी पुİʟंग शैली है और ˓ी-भंगी सİ̝͕या नृȑ की 
˓ी शैली है। इसिलए, कथन 3 सही है। इसिलए, िवकʙ (बी) 
सही उȅर है। 

 
24- उȅर: D 

ʩाƥा:  
● भारत मŐ दो Ůकार की मंिदर ̾थापȑ शैिलयाँ हœ। उȅरी भारत 

की नागर वाˑुकला और दिƗणी भारत की ūिवड़ वाˑुकला। 
कथन 1 सही है:  

● नागर शैली की वाˑुकला मŐ कई िशखर हœ जबिक ūिवड़ शैली 
मŐ एक ही िशखर है। कथन 2 सही है: 

●  उȅर भारत मŐ एक पȈर के मंच पर एक पूरे मंिदर का 
िनमाŊण होना आम बात है, िजसमŐ ऊपर जाने के िलए सीिढ़याँ 
होती हœ। इसके अलावा, दिƗण भारत के िवपरीत इसमŐ 
आमतौर पर िवˑृत चारदीवारी या Ůवेश Ȫार नही ंहोते हœ। 

 
25- उȅर: C 

ʩाƥा  
● भारतीय उपमहाȪीप के उȅर पिʮमी भागो ंके Ɨेũो ंमŐ दूसरी 

शताɨी ईसा पूवŊ के उȅराधŊ के दौरान गांधार ˋूल का उदय 
Šआ। गांधार ˋूल मŐ धमŊिनरपेƗ तȕ अनुपİ̾थत थे। मथुरा 
ˋूल मथुरा के Ɨेũ मŐ और उसके आसपास फला-फूला। 
मथुरा ˋूल मŐ िविभɄ धमŊिनरपेƗ तȕ मौजूद हœ जैसे किनʺ 
और िवमा कडिफसेस की िबना िसर वाली आकृित, पेड़ो ंऔर 
जानवरो ंकी आकृितयाँ आिद। इसिलए, कथन 1 सही नही ंहै। 

●   गांधार शैली मŐ Ťीक या हेलेिनİːक मूितŊकला का भारी 
Ůभाव है, इसिलए इसे इंडो-Ťीक कला भी कहा जाता है। 
लेिकन मथुरा ˋूल मŐ, शुŝ मŐ िवदेशी Ůभाव अनुपİ̾थत था 
लेिकन जब मथुरा शको ं और कुषाणो ं के शासन मŐ आने के 
बाद Ťीको-रोमन कला का Ůभाव िदखाई देने लगा। अत: 
कथन 2 सही नही ंहै। 

●   मुƥ ŝप से गांधार ˋूल मŐ बौȠ िचũ मौजूद थे, जबिक 
मथुरा ˋूल मŐ िविभɄ जैन मूितŊयां और िशव, िवˁु, कृˁ और 
बलराम जैसे Űा˦णवादी आंकड़े भी िचिũत िकए गए। अत: 
कथन 3 सही है। इसिलए, िवकʙ (सी) सही उȅर है। 

 
26- उȅर: C 

ʩाƥा: 
● िवकʙ (a) गलत है: कांŤेस के Ůमुख सद˟ो ं के ŝप मŐ 

नेहŝ और एस.सी. बोस के उभरने के बाद समाजवादी Ŝझान 
मŐ तेजी आई। नागपुर अिधवेशन मŐ समाजवादी Ŝझान पैदा 
नही ंŠआ था।  

● िवकʙ (b) गलत है: भारतीय रा Ō̓ ीय कांŤेस का पचासवां सũ 
1936 मŐ एक गांव फैजपुर मŐ आयोिजत िकया गया था। यह 
यहाँ, पहली बार कांŤेस ने अपना वािषŊक अिधवेशन िकसी 
िपछड़े Ťामीण Ɨेũ मŐ आयोिजत िकया था। 

● िवकʙ (c) सही है: नागपुर अिधवेशन ने कांŤेस संगठन मŐ 
एक Ţांितकारी पįरवतŊन भी लाया।  
 15 सद˟ो ंकी कायŊसिमित का गठन,  
 350 सद˟ो ंकी एक अİखल भारतीय सिमित का गठन, 
 • शहर से गांव ˑर तक कांŤेस कमेिटयो ंका गठन। 

 • भाषाई आधार पर Ůांतीय कांŤेस सिमितयो ं का पुनगŊठन, 
और  
• चार आने के भुगतान पर 21 वषŊ या उससे अिधक आयु के 
सभी पुŜषो ं और मिहलाओ ं के िलए कांŤेस की सद˟ता 
खोलना वािषŊक सद˟ता के ŝप मŐ। 
●  यह कांŤेस की ओर से वाˑिवक जन-आधाįरत 

राजनीितक दल बनाने का पहला सकाराȏक कदम था। 
इस अविध मŐ पाटŎ की सामािजक संरचना के साथ-साथ 
इसके ̊िʼकोण और नीितयो ं मŐ भी मूलभूत पįरवतŊन 
देखा गया। िवकʙ (डी) गलत है:  

● कांŤेस-İखलाफत ˢराज पाटŎ के ŝप मŐ ̾थािपत 
ˢराज पाटŎ, रा Ō̓ ीय कांŤेस के िदसंबर 1922 मŐ गया 
वािषŊक सʃेलन के बाद 1923 मŐ भारत मŐ गिठत एक 
राजनीितक दल थी, िजसने अिधक मांग की थी िŰिटश 
राज से भारतीय लोगो ंके िलए ˢशासन और राजनीितक 
ˢतंũता। 

 
27- उȅर: A 

ʩाƥा: 
 सूफी संत आȏ-अनुशासन को बोध की भावना से ईʷर का 

ǒान Ůाɑ करने के िलए मुƥ शतŊ मानते थे। इसने ईʷर के 
िलए गहन Ůेम और भİƅ को Ůभावी साधन के ŝप मŐ बल 
िदया ईʷर की Ůाİɑ। अत: कथन 1 सही है।  

 सूफी संतो ंने संयम का मागŊ अपनाया और Ű˦चयŊ का पालन 
नही ं िकया और पूरी तरह से दुिनया का ȑाग भी नही ं िकया। 
अत: कथन 2 सही नही ंहै। 

 वहादत-उल-शुजुद का अथŊ है िदखने की एकता। इसमŐ कहा 
गया है िक ईʷर और सृिʼ एक नही ंहœ बİʋ सृिʼ ईʷरीय नाम 
और गुणो ंकी छाया है। अत: कथन 3 सही नही ं है। इसिलए, 
िवकʙ (ए) सही उȅर है। 

 
28- उȅर: D 

ʩाƥा: 
 मेग̾थनीज चंūगुɑ मौयŊ के दरबार मŐ बैİƃŌ यन राजा सेलेकस 

िनकेटर का राजदूत था जो 304 ईसा पूवŊ से 299 ईसा पूवŊ तक 
भारत मŐ रहा था। मेग̾थनीज ने अपनी पुˑक इंिडका मŐ 
बताया है िक मौयŊ काल मŐ भारत मŐ दास Ůथा और सूदखोरी 
की Ůथा नही ंथी। अत: कथन 1 सही है। 

 वह सूिचत करता है िक भारत मŐ कोई अकाल नही ं है, मौयŊ 
साŲाǛ की सीमा मŐ शांित और समृİȠ बनी Šई है। अत: 
कथन 2 सही है। 

 पाटिलपुũ शहर एक लकड़ी के खंभे से िघरा Šआ था और एक 
अǅी तरह से िवकिसत नगरपािलका Ůशासन था िजसका 
Ůबंधन नागरक, अȯƗ, पंचअȯƗ आिद जैसे िविभɄ 
अिधकाįरयो ंȪारा िकया जाता था। इसिलए, कथन 3 सही है।  

 उɎोनें बताया िक मौयŊ काल के दौरान भारतीय डायोिनिसयस 
(भगवान िशव) और हेराƑीज़ (भगवान कृˁ) की पूजा करते 
थे। इसिलए, कथन 4 सही है। इसिलए, िवकʙ (डी) सही 
उȅर है 

 
29- उȅर: D 
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ʩाƥा: 
● 3डी िŮंिटंग दो आयामी Ţॉस-सेƕन Ţिमक ŝप से, एक के 

ऊपर एक करके, एिडिटव मैɊुफैƁįरंग के ŝप मŐ जानी 
जाने वाली िũ-आयामी वˑुओ ंको बनाने की ŮिŢया है।  

● लेयįरंग को सैकड़ो ंया हजारो ंबार दोहराया जा सकता है पूरी 
वˑु समाɑ हो गई है। पारंपįरक िनमाŊण तकनीको ंकी तुलना 
मŐ 3डी िŮंिटंग के कई फायदे हœ।  

● यह कम बेकार है Ɛोिंक सामŤी की कोई कटाई नही ंहोती है 
और यह ɘाİːक का पुन: उपयोग भी कर सकता है। इसे 
इˑेमाल िकया जा सकता है अिधक तेजी से और सˑे मŐ 
दुलŊभ भागो ंका िनमाŊण करने के िलए। 

● ɚाइंट 1 सही है: नासा ने गहरे अंतįरƗ अɋेषण के िलए 3डी 
िŮंटेड घर बनाने के िलए 3डी िŮंटेड आवास चुनौती का 
आयोजन िकया है और एआई ˙ेस फैƃŌ ी ने चुनौती जीती है 
उनके Ůोटोटाइप के साथ। 

● िबंदु 2 सही है: 3डी िŮंिटंग का उपयोग अपने ˢयं के दˑाने, 
बेʐ या चʳा बनाने के िलए िकया जा सकता है जो उǄ ˑर 
की पेशकश करते हœ िनजीकरण। 

●  िबंदु 3 सही है: बायोिŮंिटंग बायो-इंक का उपयोग करता है, 
जो जीिवत कोिशकाओ ंऔर सेल िवकास माȯम का िनलंबन 
है िजसका उपयोग मानव कोिशकाओ ं को िŮंट करने और 
मानव ऊतक को िवकिसत करने के िलए िकया जा सकता है। 
यह िचिकȖा मŐ और यहां तक िक अंग Ůित̾थापन मŐ भी लागू 
हो सकता है  

● िबंदु 4 सही है: įरलेिटिवटी ˙ेस एक िनजी ˢािमȕ वाली 
रॉकेट कंपनी है जो 3डी िŮंिटंग का उपयोग करके अपने 
रॉकेट बना रही है तकनीकी। इसके कई फायदे हœ िजनमŐ 
ȕįरत िनमाŊण समय, तेजी से िनमाŊण और Ůोटोटाइप का 
परीƗण आिद शािमल हœ। 

●  ɚाइंट 5 सही है: बœक एटीएम घटको ं को िडजाइन और 
उȋादन करने के िलए 3डी िŮंिटंग का उपयोग कर रहे हœ जो 
एटीएम या पीओएस मशीनो ंपर काडŊ İˋिमंग को रोक सकते 
हœ।  

 
30- उȅर: D  

ʩाƥा: 
 कलमकारी आंŬ Ůदेश राǛ से संबंिधत हाथ से मुिūत या हाथ 

से मुिūत सूती व˓ का एक Ůकार है। कालाहˑी और 
मसूलीपǥनम इसके Ůमुख कŐ ū हœ। अत: कथन 1 सही नही ंहै।  

 इन िचũो ंकी अनूठी िवशेषता यह है िक पŐिटंग बनाने के िलए 
सूती और रेशमी कपड़े पर Ůाकृितक रंगो ंका उपयोग िकया 
जाता है। Űश बनाने के िलए नुकीले िसरे वाली खजूर या बांस 
की छड़ी का उपयोग िकया जाता है। तांबे, िटन आिद जैसे 
खिनजो ंके साथ-साथ वन˙ित रंगो ंका उपयोग िचũो ंमŐ िकया 
जाता है। इसिलए, कथन 2 सही है।  

 िहंदू पौरािणक कथाओ,ं रामायण और महाभारत जैसे 
महाकाʩ कलमकारी िचũो ंके मुƥ िवषय हœ। अत: कथन 3 
सही नही ंहै।  

 पŐिटंग की यह कला वंशानुगत ŝप से मुƥ ŝप से पįरवारो ं
के पुŜष सद˟ो ंȪारा अɷास की जाती है। अत: कथन 4 सही 
है। इसिलए, िवकʙ (डी) सही उȅर है। 

 

31- उȅर: B 
ʩाƥा: 
●  टैƛ हेवन, या अपतटीय िवȅीय कŐ ū, आम तौर पर ऐसे देश 

या ̾थान होते हœ जहां कम या कोई कॉपŖरेट टैƛ नही ंहोता है 
जो बाहरी लोगो ंको वहां आसानी से ʩवसाय ̾थािपत करने 
की अनुमित देता है। टैƛ हेवन भी आम तौर पर कंपिनयो ं
और उनके बारे मŐ सावŊजिनक Ůकटीकरण को सीिमत करते 
हœ मािलको।ं 

●  कथन 1 गलत है: टैƛ हेवन पनामा, नीदरलœड और माʐा 
जैसे ˢतंũ देश हो सकते हœ; Ɨेũो ं देशो ं के भीतर, अमेįरकी 
राǛ डेलावेयर की तरह; या केमैन Ȫीप जैसे देशो ंके िवदेशी 
Ɨेũ। 

●  कथन 2 सही है: वे शेल कंपिनयो ं का िनमाŊण और उपयोग 
करने वाले लोगो ंऔर कंपिनयो ंȪारा भुगतान की गई फीस से 
महȕपूणŊ आय अिजŊत करते हœ। वे वकीलो,ं लेखाकारो ं और 
सिचवो ं के िलए भी कायŊ सृिजत करते हœ। शेल कंपनी एक 
टैƛ हेवन मŐ बनाई गई एक कानूनी इकाई है। शेल कंपिनयां 
आमतौर पर केवल कागजो ं पर मौजूद होती हœ, कोई 
पूणŊकािलक कमŊचारी नही ंहै, और कोई कायाŊलय नही ंहै। 

  
32- उȅर :A  

ʩाƥा: 
 हड़ɔा मŐ सेलखड़ी से बनी नतŊकी की पȈर की मूितŊ िमली है। 

और कां˟ से बनी नतŊकी मोहनजोदड़ो मŐ पाई जाती है जो 
पूरी दुिनया मŐ सबसे पुरानी कां˟ मूितŊ है। अ त: कथन 1 सही 
है।  

 हड़ɔाई मुहरो ं पर गŐडा सबसे अिधक िचिũत जानवर था। 
मछली सबसे आम जूमोिफŊ क संकेत दशाŊया गया था। अɊ 
जानवर िजɎŐ हड़ɔा की मुहरो ंपर िचिũत िकया गया है, वे हœ 
हाथी, बैल, बाघ, गœडा, मृग और मगरमǅ। अत: कथन 2 सही 
है। 

 मोहनजोदड़ो मŐ देवी मां के गभŊ से उगने वाले पौधो ंको दशाŊती 
मुहर िमली है। इसिलए, कथन 3 सही नही ं है। इसिलए, 
िवकʙ (ए) सही उȅर है। 

 
33- उत्तर d 

ईरान ने िसमोगŊ रॉकेट का उपयोग करके अंतįरƗ मŐ तीन 
उपŤहो ंके सफल ŮƗेपण की घोषणा की। 
नािमत उपŤह- महदा, कायहान-2, और हतेफ-1 - 
अनुसंधान, वैिʷक İ̾थित और संचार सिहत िविभɄ उȞेʴो ं
को पूरा करते हœ। अतः , िवकʙ D सही है। 
 

34- उȅर ए 

इंदौर और सूरत को संयुƅ ŝप से सबसे ˢǅ शहर का 
İखताब िदया गया। इसिलए, कथन 1 सही नही ंहै। 
शहरी Ɨेũो ंकी वािषŊक ˢǅता रœ िकंग मŐ महारा Ō̓  ने राǛो ंमŐ 
शीषŊ ̾थान हािसल िकया। अतः , कथन 2 सही है। 
ˢǅता किमŊयो ं के िलए सवŖȅम सुरƗा मानको ंवाले शहर 
के िलए चंडीगढ़ को सफ़ाईिमũ सुरिƗत शहर पुरˋार 
िमला। अतः , कथन 3 सही है। 
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35- उȅर: A  

ʩाƥा: 
● Ƹोबल वािमōग पोटŐ िशयल (GWP) को िविभɄ गैसो ंके Ƹोबल 

वािमōग Ůभावो ंकी तुलना करने के िलए िवकिसत िकया गया 
था। िवशेष ŝप से, यह एक माप है िक 1 टन काबŊन 
डाइऑƛाइड (CO2) के उȖजŊन के सापेƗ, 1 टन गैस का 
उȖजŊन एक िनिʮत अविध मŐ िकतनी ऊजाŊ अवशोिषत 
करेगा। GWP िजतना बड़ा होगा उस समय अविध मŐ CO2 की 
तुलना मŐ दी गई गैस पृțी को अिधक गमŊ करती है। िवकʙ 
(a) सही है:  

● 100 साल की समय सीमा मŐ Ƹोबल वािमōग Ɨमता (GWP) के 
बढ़ते Ţम मŐ ʩवİ̾थत गैसो ंका सही Ţम 1-3 -2-5-4 है।  

● 1- उपयोग की गई समय अविध की परवाह िकए िबना काबŊन 
डाइऑƛाइड का GWP 1 है, Ɛोिंक यह संदभŊ के ŝप मŐ 
उपयोग की जा रही गैस है। 

●  3- मीथेन का GWP 21 है। 2- नाइटŌ स ऑƛाइड का GWP 
310 है। 5- Perfluorohexane का GWP 7400 है। 4- 
सʚर हेƛाɢोराइड का GWP 23900 होता है 

 
36- उȅर: (सी)  

ʩाƥा:  
● ʄुचुअल फंड एक पेशेवर फंड मैनेजर Ȫारा Ůबंिधत धन का 

एक पूल है। यह एक टŌ ː है जो कई िनवेशको ंसे धन एकũ 
करता है जो एक सामाɊ िनवेश उȞेʴ साझा करते हœ और 
उसे इİƓटी, बॉȵ, मनी माकő ट इं śː मŐट्स और/या अɊ 
Ůितभूितयो ंमŐ िनवेश करते हœ।  

● कथन 1 सही है: ये िवȅीय साधन हœ िजनमŐ िनवेश करने के 
िलए लोगो ं के एक समूह से धन एकũ िकया जाता है शेयरो ं
और बांडो।ं और इस सामूिहक िनवेश से उȋɄ आय / लाभ 
योजना के "नेट एसेट वैʞू" या एनएवी की गणना करके लागू 
खचŘ और लेवी को घटाकर िनवेशको ं के बीच आनुपाितक 
ŝप से िवतįरत िकया जाता है। यह एक पेशेवर ŝप से 
Ůबंिधत िनवेश योजना है जो पįरसंपिȅ Ůबंधन कंपिनयो ंȪारा 
चलाई जाती है। 

●  कथन 2 सही है: सभी ʄुचुअल फंड भारतीय Ůितभूित और 
िविनमय बोडŊ (सेबी) के तहत पंजीकृत हœ। योजना िनवेशक के 
िहतो ंकी रƗा के िलए बनाए गए सƢ िविनयमन के Ůावधानो ं
के भीतर कायŊ करती है।  

 
37- उȅर: A 

 ʩाƥा:  
 खादी और ŤामोȨोग आयोग (KVIC) ने देश मŐ मानव-हाथी 

संघषŊ को कम करने के िलए "मधुमƀी-बाड़" बनाने की एक 
अनूठी पįरयोजना शुŝ की है। Ůोजेƃ RE-HAB KVIC के 
रा Ō̓ ीय हनी िमशन का एक उप-िमशन है। अत: कथन 1 सही 
है।  

 Ůोजेƃ RE-HAB (रेǰूिसंग एिलफŐ ट-ह्यूमन अटैƛ यूिजंग 
बीज़) का उȞेʴ मधुमİƀयो ं का उपयोग करके मानव 
आवासो ं मŐ हािथयो ं के हमलो ं को िवफल करना है और इस 
Ůकार मनुˈो ंकी मृȑु के साथ-साथ मनुˈो ंके हाथो ंहािथयो ं

की जवाबी मौत को कम करना है। इसिलए, कथन 2 सही नही ं
है।  

 Ůोजेƃ RE-HAB के तहत, हािथयो ं के मानव Ɨेũो ं मŐ उनके 
Ůवेश को अवŜȠ करने के िलए उनके मागŊ मŐ मधुमİƀयो ंके 
बƛो ं को ̾थािपत करके "मधुमƀी-बाड़" बनाई जाती है। 
बƛो ंको एक डोरी से जोड़ा जाता है तािक जब हाथी वहां से 
गुजरने की कोिशश करŐ  तो एक रˣाकशी या İखंचाव की 
वजह से मधुमİƀयां हािथयो ं के झुǷ मŐ आ जाती हœ और 
उɎŐ आगे बढ़ने से रोकती हœ। यह िबना िकसी कारण के 
मानव-जंगली संघषŘ को कम करने का एक लागत Ůभावी 
तरीका है 

 
38- उȅर: A 

 ʩाƥा:  
● विटŊकल फािमōग वह िविध है िजसमŐ कृिũम Ůकाश और 

तापमान िविनयमन का उपयोग करके फसलो ंको घर के अंदर 
उगाया जाता है। यह छोटे ̾थानो ं मŐ उǄ उȋादकता Ůाɑ 
करने की कोिशश करता है और बढ़ते भोजन मŐ भूिम की कमी 
पर काबू पाने मŐ उपयोगी हो सकता है उȋादन। यह 
हाइडŌ ोपोिनƛ, एƓापोिनƛ और एरोपोिनƛ जैसी िमǥी 
रिहत िविधयो ंका उपयोग करता है। 

●  कथन 1 सही है: ऊȰाŊधर खेती मŐ, फसलो ंको कोको कॉयर 
या वमŎƐूलाइट (हाइडŌ ोपोिनƛ) जैसे अिŢय माȯम मŐ या 
िबना िकसी माȯम (एरोपोिनƛ) के भी उगाया जा सकता है। 
एरोपोिनƛ मŐ, हवा मŐ एक तरल घोल का उपयोग िकया जाता 
है जहां पौधे İ̾थत होते हœ, िजसके माȯम से पौधे पोषक तȕो ं
को अवशोिषत करते हœ।  

● कथन 2 गलत है: विटŊकल फािमōग पारंपįरक तरीको ं की 
तुलना मŐ काफी कम पानी और कीटनाशको ं का उपयोग 
करती है, Ɛोिंक इन इनपुटो ंको सटीकता के साथ लागू िकया 
जा सकता है। 

●  कथन 3 सही है: Ůकाश, तापमान और आūŊता जैसी İ̾थितयो ं
को सटीक ŝप से िनयंिũत िकया जा सकता है और इसिलए 
उȋादकता मौसम से Ůभािवत नही ं होती है। इंडोर विटŊकल 
फािमōग साल भर फसलो ंकी उǄ उȋादकता सुिनिʮत करती 
है।  

● कथन 4 गलत है: जापान विटŊकल फािमōग मŐ अŤणी है और 
वैिʷक विटŊकल फािमōग मŐ इसकी िहˣेदारी सबसे अिधक है। 

 
39- उȅर: B 

ʩाƥा: 
 सभी राǛो ंमŐ, मȯ Ůदेश ने जैिवक Ůमाणन के तहत सबसे 

बड़ा Ɨेũ शािमल िकया है, इसके बाद राज̾थान, महारा Ō̓ , 
छȅीसगढ़, िहमाचल Ůदेश, जʃू और कʳीर और कनाŊटक 
का ̾थान आता है। 2016 के दौरान, िसİſम ने जैिवक 
Ůमाणन के तहत अपनी पूरी खेती योƶ भूिम (75000 हेƃेयर 
से अिधक) को पįरवितŊत करने का एक उʟेखनीय गौरव 
हािसल िकया है। अत: कथन 1 सही है। 

 िनयाŊत मूʞ Ůाİɑ के मामले मŐ, सोया मील (57%) सिहत 
Ůसंˋृत खाȨ पदाथŊ उȋादो ं मŐ सबसे आगे हœ, इसके बाद 
ितलहन (9%), अनाज और बाजरा (7%), रोपण फसल उȋाद 
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जैसे चाय और कॉफी (6%), मसाले और मसाले (5%), 
औषधीय पौधे (5%), सूखे मेवे (3%), चीनी (3%), और अɊ। 
अत: कथन 2 सही नही ंहै।  

 कŐ ūीय कृिष मंũालय के तहत पीजीएस-इंिडया (भारत की 
भागीदारी गारंटी Ůणाली), एक गुणवȅा आʷासन पहल है जो 
̾थानीय ŝप से Ůासंिगक है, िहतधारको ं की भागीदारी पर 
जोर देती है, उȋादको ं और उपभोƅाओ ं सिहत और तीसरे 
पƗ के Ůमाणीकरण के ढांचे के बाहर काम करता है। अत: 
कथन 3 सही नही ंहै। इसिलए, िवकʙ (बी) सही उȅर है।  

 
40- उȅर: A  

ʩाƥा:  
 अनुǅेद 358 के अनुसार, जब रा Ō̓ ीय आपातकाल की घोषणा 

की जाती है, तो अनुǅेद 19 के तहत छह मौिलक अिधकार 
ˢत: ही िनलंिबत हो जाते हœ। िनलंबन के िलए अलग से िकसी 
आदेश की आवʴकता नही ं है। हालाँिक, 1978 के 44वŐ 
संशोधन अिधिनयम ने इसे िनधाŊįरत िकया अनुǅेद 19 को 
केवल तभी िनलंिबत िकया जा सकता है जब रा Ō̓ ीय 
आपातकाल युȠ या बाहरी आŢमण के आधार पर घोिषत 
िकया जाता है न िक सश˓ िवūोह के आधार पर। अत: कथन 
1 सही है। 

 अनुǅेद 359 रा Ō̓ ीय आपातकाल के दौरान मौिलक अिधकारो ं
के ŮवतŊन के िलए िकसी भी अदालत मŐ जाने के अिधकार को 
िनलंिबत करने के िलए रा Ō̓ पित को अिधकृत करता है। 44वŐ 
संशोधन अिधिनयम ने इसके दायरे को सीिमत कर िदया। यह 
जनादेश देता है िक रा Ō̓ पित ̾थानांतįरत करने के अिधकार 
को िनलंिबत नही ं कर सकता है अनुǅेद 20 और 21 Ȫारा 
गारंटीकृत मौिलक अिधकारो ं के ŮवतŊन के िलए Ɋायालय। 
इसिलए, कथन 2 सही नही ं है। इसिलए, िवकʙ (ए) सही 
उȅर है। 

 
41-  उȅर: C 

ʩाƥा:  
 सभी कŐ ū शािसत Ůदेश एक ŵेणी के हœ लेिकन उनकी 

Ůशासिनक ʩव̾था मŐ एकŝपता नही ंहै। Ůȑेक कŐ ū शािसत 
Ůदेश को एक Ůशासक के माȯम से रा Ō̓ पित Ȫारा Ůशािसत 
िकया जाता है उसके Ȫारा िनयुƅ। रा Ō̓ पित एक Ůशासक का 
पदनाम िनिदŊʼ कर सकता है; यह लेİɝनŐट गवनŊर या मुƥ 
आयुƅ या Ůशासक हो सकता है। अत: कथन 1 सही नही ंहै। 

 1954 मŐ अपनी मुİƅ तक दादरा और नगर हवेली पर 
पुतŊगािलयो ंका शासन था। इसके अलावा, दमन और दीव के 
साथ-साथ गोवा को भारत Ȫारा पुतŊगािलयो ं से एक पुिलस 
कारŊवाई के माȯम से अिधŤिहत िकया गया था। 1961. 
पुडुचेरी के Ɨेũ मŐ भारत मŐ पूवŊ ůांसीसी Ůितʿान शािमल हœ। 
अत: कथन 2 सही नही ंहै।  

 िहमाचल Ůदेश, मिणपुर, िũपुरा, िमजोरम, अŜणाचल Ůदेश 
और गोवा जो आज के राǛ हœ, पहले कŐ ū शािसत Ůदेश थे। 
इसिलए, कथन 3 सही है। इसिलए, िवकʙ (सी) सही उȅर 
है। 

 
42- उȅर: A  

ʩाƥा:  
● नगर पािलका के सभी सद˟ सीधे नगरपािलका Ɨेũ के लोगो ं

Ȫारा चुने जाएंगे। राǛ िवधानमंडल सकता है नगर पािलका 
के अȯƗ के चुनाव के तरीके Ůदान करŐ। यह नगर पािलका 
मŐ ʩİƅयो ंकी कुछ ŵेिणयो ंके Ůितिनिधȕ के िलए भी Ůदान 
कर सकता है। 

●  िबंदु 1 सही है: नगर पािलका की बैठको ं मŐ मतदान के 
अिधकार के िबना नगरपािलका Ůशासन मŐ िवशेष ǒान या 
अनुभव रखने वाले ʩİƅ। 

●  िबंदु 2 गलत है: लोक सभा और राǛ िवधान सभा के सद˟ 
जो िनवाŊचन Ɨेũो ंका Ůितिनिधȕ करते हœ नगरपािलका Ɨेũ के 
भीतर पूणŊ या आंिशक ŝप से नगरपािलका Ɨेũ और राǛ 
सभा और राǛ िवधान पįरषद के सद˟ िनवाŊचक के ŝप मŐ 
पंजीकृत होते हœ।  

● िबंदु 3 गलत है: सिमितयो ं के अȯƗ (वाडŊ सिमितयो ं के 
अलावा)। 

  
43- उȅर: A  

ʩाƥा :  
 भारत सरकार अिधिनयम 1935: िवशेषताएं: राǛपाल का 

कायाŊलय। अतः  िबंदु 1 सही है।  
 संघीय योजना। अतः  िबंदु 2 सही है।  
 आपातकालीन Ůावधान। तो िबंदु 3 सही है। 
 संयुƅ राǛ अमेįरका का संिवधान: िवशेषताएं: मौिलक 

अिधकार Ɋायपािलका और Ɋाियक समीƗा की ˢतंũता। 
अत: िबंदु 4 सही नही ंहै।  

 रा Ō̓ पित का महािभयोग सवŖǄ Ɋायालय और उǄ Ɋायालय 
के Ɋायाधीशो ंको हटाना उप रा Ō̓ पित का पद 

 
44- उȅर: D 

ʩाƥा: 
● पेसा अिधिनयम का उȞेʴ पंचायतो ं से संबंिधत संिवधान के 

भाग IX के Ůावधानो ं को कुछ संशोधनो ं के साथ अनुसूिचत 
Ɨेũो ं तक िवˑाįरत करना और जनजातीय आबादी के थोक 
के िलए ˢ-शासन Ůदान करना है। 

●  कथन 1 गलत है: राǛ सरकार ऐसी अनुसूिचत जनजाितयो ं
को नामांिकत कर सकती है िजनका मȯवतŎ ˑर पर पंचायत 
मŐ या पंचायत मŐ कोई Ůितिनिधȕ नही ंहै। िजला ˑर। लेिकन 
इस तरह के नामांकन उस पंचायत मŐ चुने जाने वाले कुल 
सद˟ो ंके दसवŐ िहˣे से अिधक नही ंहोगें।  

● कथन 2 गलत है: उपयुƅ ˑर पर Ťाम सभा या पंचायतो ंकी 
पूवŊ िसफाįरश होगी अनुसूिचत Ɨेũो ं मŐ नीलामी Ȫारा गौण 
खिनजो ंके दोहन हेतु įरयायत Ůदान करना अिनवायŊ होगा। 

 
45- उȅर: सी  

ʩाƥा:  
 भारतीय संिवधान ने शीषŊ पर सवŖǄ Ɋायालय और उसके 

नीचे राǛ उǄ Ɋायालयो ं के साथ एक एकीकृत Ɋाियक 
Ůणाली की ̾थापना की है। अदालतो ं की यह एकल Ůणाली 
दोनो ंकŐ ūीय कानूनो ंको लागू करती है। हालाँिक, यह संिवधान 
की एकाȏक िवशेषता है। तो, िबंदु 1 है सही।  
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 संिवधान देश का सवŖǄ (या उǄतम) कानून है। कŐ ū और 
राǛो ंȪारा बनाए गए कानूनो ंको इसके Ůावधानो ंके अनुŝप 
होना चािहए। अɊथा, उɎŐ Ɋाियक समीƗा की शİƅ के 
माȯम से सवŖǄ Ɋायालय या उǄ Ɋायालयो ंȪारा अमाɊ 
घोिषत िकया जा सकता है। यह देश की संघीय िवशेषता को 
बनाए रखने मŐ मदद करता है। अत: िबंदु 2 सही नही ंहै।  

 राǛपाल, जो राǛ का Ůमुख होता है, की िनयुİƅ रा Ō̓ पित 
Ȫारा की जाती है। वह रा Ō̓ पित के ŮसादपयŊȶ पद धारण 
करता है। वह कŐ ū के एजŐट के ŝप मŐ भी कायŊ करता है। 
उसके माȯम से कŐ ū राǛो ंपर िनयंũण रखता है। इस Ůकार, 
यह एक एकाȏक िवशेषता है जो भारत मŐ कŐ ū सरकार को 
मजबूत बनाती है। तो िबंदु 3 सही है।  

 ● राǛ अिवनाशी नही:ं अɊ संघो ंके िवपरीत, भारत मŐ राǛो ं
को Ɨेũीय अखंडता का कोई अिधकार नही ंहै। इस Ůकार, यह 
संिवधान की एकाȏक िवशेषता है। अत: िबंदु 4 सही है। 
इसिलए, िवकʙ (सी) सही उȅर है।  

 
46- उȅर : D 

ʩाƥा: 
● िदसंबर 1905 मŐ, गोखले की अȯƗता मŐ भारतीय रा Ō̓ ीय 

कांŤेस के बनारस अिधवेशन मŐ, उदारवादी-उŤवादी मतभेद 
सामने आए। चरमपंथी बिहʺार और ˢदेशी आंदोलन को 
बंगाल के बाहर के Ɨेũो ंतक िवˑाįरत करना चाहते थे और 
बिहʺार कायŊŢम के भीतर सभी Ůकार के संघो ं (जैसे 
सरकारी सेवा, कानून अदालतो,ं िवधान पįरषदो ंआिद) को भी 
शािमल करना चाहते थे। अत: देशʩापी जन आȽोलन Ůारʁ 
करŐ । उŤवादी बनारस अिधवेशन मŐ अपने कायŊŢम के 
समथŊन मŐ एक मजबूत Ůˑाव चाहते थे। अतः  कथन 1 सही 
है। 

● दूसरी ओर, नरमपंथी, आंदोलन को बंगाल से आगे बढ़ाने के 
पƗ मŐ नही ं थे और पįरषदो ं और इसी तरह के संघो ं के 
बिहʺार के पूरी तरह से िवरोधी थे। अतः  कथन 2 सही है। 

● भारतीय रा Ō̓ ीय कांŤेस के लƙ को 'ˢराǛ या ˢशासन' के 
ŝप मŐ पįरभािषत िकया गया था। साथ ही ˢदेशी, बिहʺार 
और रा Ō̓ ीय िशƗा के कायŊŢम के समथŊन मŐ एक Ůˑाव 
पाįरत िकया गया। अतः  कथन 3 सही है। 

● ˢराज शɨ का पहली बार उʟेख िकया गया था, लेिकन 
इसका अथŊ ˙ʼ नही ंिकया गया था, िजसने उदारवािदयो ंऔर 
उŤवािदयो ं Ȫारा अलग-अलग ʩाƥाओं के िलए Ɨेũ को 
खुला छोड़ िदया। 
 

47- उȅर: A 
 ʩाƥा:  
 बसई आūŊभूिम िदʟी के करीब, गुड़गांव से लगभग 2 िकमी 

पिʮम मŐ और हįरयाणा राǛ मŐ सुʔानपुर रा Ō̓ ीय उȨान से 8 
िकमी पूवŊ मŐ İ̾थत है। अत: कथन 1 सही नही ंहै।  

 पानी का मुƥ ŷोत एक टूटे Šए जल चैनल से है जो गुŜŤाम 
वाटर एंड सीवेज वƛŊ से अपिशʼ जल और किथत ŝप से 
उपचाįरत सीवेज लाता है। इसने एक ̾थायी बनाया है लगभग 
250 एकड़ की उथली आūŊभूिम िजसमŐ खुला पानी, जल 
जलकंुभी और टायफा रीड बेड शािमल हœ। वषाŊ जल और 

िकसानो ं Ȫारा अपनी फसलो ं की िसंचाई के िलए पानी का 
Ůवाह (िवशेष ŝप से चावल) मानसून मŐ िनयिमत ŝप से 1 
वगŊ िकमी तक के Ɨेũ मŐ बाढ़ आ जाती है। 

 आūŊभूिम एिवयन जीवन के िलए एक समृȠ नखिलˑान है—
यूरोप और साइबेįरया तक के हजारो ं Ůवासी मेहमानो ं को 
आकिषŊत और उनकी मेजबानी करता है। Ůवासी चील, 
हैįरयर, Ţेन, सोगंबडŊ, बȅख और गीज़, सœडिपपसŊ, गॉडिवट्स, 
İːंट्स, ि˘ɛ और ɘोवसŊ जैसे वैटर ̾थानीय पिƗयो ं जैसे 
बगुले, सारस, एŤेट्स, ɢेिमंगो, आइिबस और ˙ूनिबʤ के 
साथ घुलिमल जाते हœ। 

 2004 मŐ, बसई आūŊभूिम को एक वैिʷक संरƗण गैर-सरकारी 
संगठन, बडŊलाइफ़ इंटरनेशनल Ȫारा "महȕपूणŊ पƗी Ɨेũ" के 
ŝप मŐ िचि˥त िकया गया था, िजसने इसे इसके िलए महȕपूणŊ 
िनवास ̾थान का दजाŊ िदया था। पƗी आबादी का संरƗण अत: 
कथन 2 सही है। 

● माबŊʒ डक, सॉसŊ Ţेन, इंपीįरयल ईगल, Ťेटर ˙ॉटेड ईगल, 
लेसर ˙ॉटेड ईगल, और लेसर के Ōː ेल खतरे वाली Ůजाितयां 
हœ जो साइट पर दजŊ की गई हœ। िनकट संकटŤˑ Ůजाितयो ंमŐ 
ɰैक-ने̋ड ːॉकŊ , पŐटेड ːॉकŊ , ɰैक-हेडेड आइिबस आिद 
शािमल हœ। इसिलए, कथन 3 सही है। 

 
48- उȅर (ए)  

ʩाƥा:  
● लाल ǜार एक ऐसी घटना है जो शैवाल के İखलने के कारण 

होती है, िजसके दौरान शैवाल इतने अिधक हो जाते हœ िक वे 
तटीय जल को फीका कर देते हœ (इसिलए नाम "लाल ǜार")। 
शैवाल Ů˛ुटन भी पानी मŐ ऑƛीजन की कमी कर सकता है 
और/या िवषाƅ पदाथŘ को छोड़ सकता है जो मनुˈो ं और 
अɊ जानवरो ंमŐ बीमारी का कारण बन सकता है।  

● कुछ Ůजाितयाँ जो इन हािनकारक िवषाƅ पदाथŘ को छोड़ती 
हœ उनमŐ शािमल हœ: अलेƂŐिडŌ यम फ़ंडयŐस, अलेƂŐिडŌ यम 
कैटेनेला, करेिनया Űेिवस। जबिक कई लोग इन Ů˛ुटन को 
'लाल ǜार' कहते हœ, वैǒािनक हािनकारक शैवाल Ů˛ुटन 
शɨ को पसंद करते हœ। हािनकारक अʎल ɰूʈ, या 
एचएबी, तब होते हœ जब शैवाल की कॉलोिनयां िनयंũण से 
बाहर हो जाती हœ और लोगो,ं मछली, शंख, समुūी ˑनधाįरयो ं
और पिƗयो ंपर िवषाƅ या हािनकारक Ůभाव पैदा करती हœ। 
ɰूम गिमŊयो ं मŐ होने या िगरने की संभावना अिधक होती है 
लेिकन िकसी भी समय हो सकती है वषŊ का। अतः  कथन 1 
सही है। 

●  ɢोįरडा कई वषŘ से करेिनया Űेिवस शैवाल के कारण होने 
वाले लाल ǜार के Ůकोप से जूझ रहा है। ताɼा खाड़ी मŐ 
पहले दूिषत पानी छोड़े जाने के कारण इस वषŊ का İखलना 
बढ़ सकता है। इसिलए, कथन 2 सही नही ंहै।  

 
49-  उȅर : A  

ʩाƥा:  
● राजा राम मोहन राय ने अपने सावŊजिनक जीवन की शुŜआत 

1815 मŐ आȏीय सभा की ̾थापना के साथ की। इस सभा ने 
कुलीन परंपरा के नाम पर कुछ आिथŊक िहतो ंके कारण युवा 
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लड़िकयो ं को भावी पितयो ं को बेचने की Ůचिलत Ůथा का 
जोरदार िवरोध िकया। अतः  कथन 1 सही है। 

●  इसने बŠिववाह का भी िवरोध िकया और जाितगत 
अƗमताओ ंको दूर करने के िलए काम िकया। रॉय भारत मŐ 
िŰिटश शासन की Ůगितशील भूिमका मŐ िवʷास करते थे और 
सामािजक सुधारो ंके मामले मŐ, िवशेष ŝप से सामािजक ŝप 
से Ůगितशील िवधानो ं के ŝप मŐ सरकार की मांग करते थे। 
उɎोनें आȏीय सभा की शुŜआत की और धािमŊक और 
सामािजक कुŮथाओ ं के İखलाफ लगातार संघषŊ िकया। इस 
सभा ने मूितŊपूजा की िनंदा की और एकेʷरवाद की वकालत 
की नाİˑकता की नही।ं इसिलए, कथन 2 सही नही ंहै। 

 
50- उȅर: A  

ʩाƥा:  
 ŮायȪीपीय भारत मŐ İ̾थत, पेɄार बेिसन आंŬ Ůदेश और 

कनाŊटक राǛो ंतक फैला Šआ है। यह उȅर मŐ एराŊमला ŵेणी 
से, पूवŊ मŐ पूवŎ घाट के नʟामाला और वेिलकोडंा पवŊतमाला 
से, दिƗण मŐ नंदीदुगाŊ पहािड़यो ंसे और पिʮम मŐ कृˁ बेिसन 
की वेदवती घाटी से अलग करने वाली संकरी चोटी से िघरा 
Šआ है। .  

 पेɄार (उȅरा िपनािकनी के ŝप मŐ भी जाना जाता है) भारत मŐ 
12 Ůमुख नदी घािटयो ं (20000 िकलोमीटर से अिधक 
जलŤहण Ɨेũ वाले) पर है। यह पूवŊ की ओर बहती Šई अंततः  
बंगाल की खाड़ी मŐ िगरती है। अत: कथन 1 सही है।  

 इसमŐ पंखे के आकार का बेिसन होता है। पेɄार कनाŊटक के 
िचſाबʟापुरा िजले मŐ नंदीदुगŊ रŐज की चेɄाकेशव पहाड़ी से 
िनकलती है और पूवŊ की ओर बहती है और अंत मŐ की खाड़ी 
मŐ िगरती है। बंगाल। अत: कथन 2 सही है।  

 पेɄार बेिसन आंŬ Ůदेश और कनाŊटक राǛो ंमŐ 55,213 वगŊ 
िकमी के Ɨेũ मŐ फैली Šई है, िजसकी अिधकतम लंबाई और 
चौड़ाई 433 िकमी और 266 िकमी है। अत: कथन 3 सही नही ं
है। इसिलए, िवकʙ (ए) सही उȅर है। 

 
51- उȅर: d  

ʩाƥा:  
 भूमȯरेखीय गमŊ और आūŊ जलवायु भूमȯ रेखा के 50 से 

100 उȅर और दिƗण के बीच पाई जाती है। इसकी सबसे 
बड़ी सीमा अमेज़ॅन, कांगो, मलेिशया के िनचले इलाको ंमŐ पाई 
जाती है और ईː इंडीज। 

 इस Ɨेũ मŐ बाįरश के िबना कोई महीना नही ं है, हालांिक 
िविभɄ Ɨेũो ं मŐ वषाŊ मŐ िभɄता हो सकती है। िवषुवतीय 
वन˙ित की कुछ महȕपूणŊ िवशेषताएं इसकी उǄ िविवधता 
है वन˙ित, एक अलग ˑįरत ʩव̾था, कई Ůजाितयां और 
लकड़ी काटने और ̾थानांतįरत खेती के िलए जंगलो ंको साफ 
करना। अत: कथन 1 सही है।  

 भूमȯरेखीय जलवायु Ůाकृितक रबर (हेिवया Űािसिलएंिसस) 
की खेती के िलए उपयुƅ है, िजसे पहली बार Űाजील मŐ 
अमेज़ॅन बेिसन मŐ खोजा गया था। अत: कथन 2 सही है।  

 अमेज़न बेिसन की भारतीय जनजाितयाँ, कांगो की िपƵी और 
मलेिशया की ओरंग असली इन Ɨेũो ं की जनजाितयाँ हœ। 

इसिलए, कथन 3 सही है। इसिलए, िवकʙ (डी) सही उȅर 
है।  

 
52- उȅर c  

ʩाƥा: 
● 1858 के बाद भारतीय सेना को सावधानीपूवŊक पुनगŊिठत 

िकया गया था। Ţाउन को सȅा के हˑांतरण से कुछ बदलाव 
आवʴक हो गए थे। सबसे पहले, इसकी यूरोपीय शाखा Ȫारा 
सेना के वचŊˢ की सावधानीपूवŊक गारंटी दी गई थी। सेना मŐ 
भारतीयो ं के मुकाबले यूरोिपयनो ं का अनुपात बढ़ाया गया। 
इसके अलावा, यूरोपीय सैिनको ं को Ůमुख भौगोिलक और 
सैɊ पदो ंपर रखा गया था। इसिलए, कथन 1 सही नही ंहै।  

● सेना के भारतीय खंड का संगठन बांटो और राज करो की 
नीित पर आधाįरत था तािक िŰिटश िवरोधी िवūोह मŐ िफर से 
एकजुट होने की संभावना को रोका जा सके। सांŮदाियक, 
जाित, आिदवासी और Ɨेũीय वफादारी को ŮोȖािहत िकया 
गया। उदाहरण के िलए, अिधकांश रेजीमŐटो ं मŐ जाित और 
साɽदाियक कंपिनयां शुŝ की गईं। अतः  कथन 2 सही है।  

● अिधकारी कोर से भारतीयो ं को बाहर करने की नीित को 
सƢी से बनाए रखा गया था। 1914 तक कोई भी भारतीय 
सूबेदार के पद से ऊँचा नही ं उठ सकता था। अतः  कथन 3 
सही है। 

 
53- उȅर : C 

● िडŰू-सैखोवा रा Ō̓ ीय उȨान भारत के असम के िडŰूगढ़ और 
ितनसुिकया िजलो ंमŐ İ̾थत एक रा Ō̓ ीय उȨान है। इसे जुलाई 
1997 मŐ एक बायो˛ीयर įरजवŊ नािमत िकया गया था। जब 
आप अŜणाचल Ůदेश से असम की याũा करते हœ, तो आप 
इसे सबसे पहले पार करŐ गे। अत: कथन 1 सही है।  

● काजीरंगा रा Ō̓ ीय उȨान भारत के असम राǛ के गोलाघाट, 
काबŎ आंगलोगं और नागांव िजलो ं मŐ एक रा Ō̓ ीय उȨान है। 
अभयारǻ, जो दुिनया के दो-ितहाई महान एक-सीगं वाले 
गœडो ं की मेजबानी करता है, एक िवʷ िवरासत ̾थल है। 
Ű˦पुũ नदी के साथ, िडŰूगढ़ काजीरंगा रा Ō̓ ीय उȨान की 
तुलना मŐ ऊपर की ओर İ̾थत है, जैसा िक इससे ˙ʼ है ऊपर 
का नƕा। अत: कथन 2 सही नही ंहै। 

● दीपोर बील गुवाहाटी शहर के दिƗण-पिʮम मŐ कामŝप 
(मानिचũ पर) असम, भारत के महानगरीय िजले मŐ İ̾थत है। 
यह एक ̾थायी मीठे पानी की झील है और मुƥ नदी के 
दिƗण मŐ Ű˦पुũ नदी का एक पूवŊ चैनल है। यह रामसर 
कɋŐशन के तहत एक नािमत आūŊभूिम भी है। मानस नदी 
दीपोर बील की तुलना मŐ नीचे की ओर Ű˦पुũ मŐ िमलती है। 
अत: कथन 3 सही है। इसिलए, िवकʙ (सी) सही उȅर है। 

 
54- उȅर: c 

ʩाƥा। 
● डगोगं एक बड़ा शाकाहारी समुūी ˑनपायी है िजसमŐ पैडल 

जैसे अŤपाद होते हœ और कोई िहंद अंग या पृʿीय पंख नही ं
होता है। इसकी पंूछ चौड़ी, आकार मŐ िũकोणीय और Ɨैितज 
ŝप से चपटी होती है, िजसे यह तैरने के िलए ऊपर और नीचे 
ले जाती है। यह लाल सागर, िहंद महासागर और Ůशांत समेत 
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पूवŎ अůीका से ऑ Ōː ेिलया तक गमŊ तटीय जल मŐ पाया जा 
सकता है। 

●  डुगोगं संकटŤˑ Ůजाितयो ंकी IUCN लाल सूची मŐ सुभेȨ के 
ŝप मŐ सूचीबȠ हœ। िवकासाȏक गितिविधयो ं के कारण 
समुūी घास के आवासो ं के नुकसान, जल Ůदूषण और तटीय 
पाįरİ̾थितकी तंũ के Ɨरण ने इन धीमी गित से चलने वाले 
जानवरो ंके िलए जीवन किठन बना िदया है। अंतररा Ō̓ ीय ˑर 
पर, जंगली जीवो ं और वन˙ितयो ं (CITES) की लुɑŮाय 
Ůजाितयो ंमŐ अंतराŊ Ō̓ ीय ʩापार पर कɋŐशन के पįरिशʼ I मŐ 
डगोगं सूचीबȠ हœ, जो Ůजाितयो ंऔर उसके भागो ंके ʩापार 
पर Ůितबंध लगाता है। अत: कथन 1 सही है। 

 
55- उȅर: d 

ʩाƥा। 
● एƛ-रे पोलाįरमेटŌ ी सैटेलाइट (XPoSat) को 2022 की दूसरी 

ितमाही मŐ एक PSLV के माȯम से लॉȳ िकया जाएगा। 
XPoSat िमशन के उȞेʴ: 5-30 केİʢन के ऊजाŊ बœड मŐ 
Ŝिच के ~50 संभािवत खगोलीय ŷोतो ंसे एƛ-रे फोटॉनो ंके 
Ŭुवीकरण (िडŤी और िदशा) को मापने के िलए। अत: कथन 1 
सही है।  

●  िमशन जीवन - 5 वषŊ, ɘेटफामŊ - संशोिधत IMS-2 बस ▪ 
पेलोड - रमन įरसचŊ इंːीǨूट से एƛ-रे (पोिलƛ) मŐ 
पोलीमीटर उपकरण ▪ कƗा - वृȅाकार LEO (500-700 
िकमी), झुकाव ≤ 30° 

●  गगनयान कायŊŢम मŐ अʙाविध मŐ पृțी की िनचली कƗा 
(LEO) मŐ मानव अंतįरƗ उड़ान के ŮदशŊन की पįरकʙना की 
गई है और यह एक सतत भारतीय मानव अंतįरƗ अɋेषण की 
नीवं रखेगा। लंबे समय मŐ कायŊŢम। अत: कथन 2 सही है। 

●  गगनयान कायŊŢम का उȞेʴ LEO के िलए मानव अंतįरƗ 
उड़ान िमशन शुŝ करने की ˢदेशी Ɨमता का ŮदशŊन करना 
है। इस कायŊŢम के िहˣे के ŝप मŐ, दो मानव रिहत िमशन 
और एक मानवयुƅ िमशन भारत सरकार (जीओआई) Ȫारा 
अनुमोिदत हœ। 

●  नासा-इसरो िसंथेिटक एपचŊर राडार िमशन 
●  नासा और इसरो के बीच एक संयुƅ पįरयोजना है जो पृțी 

अवलोकन उपŤह पर दोहरी आवृिȅ िसंथेिटक एपचŊर रडार 
को सह-िवकिसत और लॉȳ करने के िलए है। उपŤह दोहरी 
आवृिȅयो ं का उपयोग करने वाला पहला रडार इमेिजंग 
उपŤह होगा। ◦ NISAR अंतįरƗ यान दो पूरी तरह से सƗम 
िसंथेिटक एपचŊर रडार उपकरणो ं को समायोिजत करेगा: 
NASA का 24 सेमी तरंग दैȯŊ L-बœड िसंथेिटक एपचŊर रडार 
(L-SAR) और इसरो Ȫारा Ůदान िकया गया 10 सेमी तरंग दैȯŊ 
S-बœड िसंथेिटक एपचŊर रडार (S-SAR)। ◦ िनसार मŐ ~ 240 
िकमी पǥी, टŌ ैक के साथ 7 मीटर įरजॉʞूशन और 2-8 मीटर 
įरज़ॉʞूशन Ţॉस-टŌ ैक (मोड के आधार पर) है। 

●  एनआईएसएआर अंतįरƗ मŐ अपनी तरह का पहला राडार 
होगा जो ʩवİ̾थत ŝप से पृțी का मानिचũण करेगा, दो 
अलग-अलग राडार आवृिȅयो ं (एल-बœड और एस-बœड) का 
उपयोग करके हमारे Ťह की सतह मŐ एक सŐटीमीटर से भी 
कम पįरवतŊन को मापने के िलए। िसंथेिटक एपचŊर रडार 
(एसएआर) एक संकʙ-सीिमत रडार Ůणाली  से ठीक-

įरज़ॉʞूशन वाली छिवयां बनाने के िलए एक तकनीक को 
संदिभŊत करता है। अत: कथन 3 सही है। इसिलए, िवकʙ 
(डी) सही उȅर है। 

 
56- उȅर: b 

ʩाƥा । 
● िवदेशी मुūा Ůवाह का घरेलू मौिūक नीित के संचालन और 

िविनमय दर Ůबंधन पर Ůभाव पड़ता है। जब कोई देश के 
बाहर से िकसी देश मŐ िनवेश करता है, तो वह बœक मŐ कुछ 
िवदेशी मुūा (जैसे - यूएस डॉलर) जमा करेगा।बœक इस िवदेशी 
मुūा को RBI के पास जमा करेगा, और Ůचिलत िविनमय दर 
के अनुसार INR Ůाɑ करेगा। बढ़े Šए िवदेशी मुūा Ůवाह के 
कारण बœिकंग Ůणाली मŐ तरलता बढ़ जाती है, िजसके 
पįरणामˢŝप मुūा˛ीित हो सकती है। इसे जांचने के िलए, 
आरबीआई बœक को दी जाने वाली आईएनआर के बराबर बœक 
को Ůितभूितयां बेचेगा, इस Ůकार अितįरƅ तरलता को 
अवशोिषत करेगा। आरबीआई और बœक दोनो ंकी बैलŐस शीट 
पर अब कोई बकाया नही ंहै, और इसने अितįरƅ तरलता की 
İ̾थित को अवशोिषत या िन˅ल कर िदया है। बœिकंग 
िसːम। इसे नसबंदी के ŝप मŐ जाना जाता है। 

● जब िकसी देश मŐ बड़ी माũा मŐ िवदेशी मुūा का Ůवाह होता है 
तो अथŊʩव̾था मŐ अȑिधक तरलता को अवशोिषत करने के 
िलए नसबंदी की जाती है। इस तरह के लेन-देन बœिकंग 
Ůणाली के माȯम से होते हœ और काले धन या हवाला लेनदेन 
की जांच नही ंकर सकते। 

● नसबंदी Ȫारा, कŐ ūीय बœक बœिकंग Ůणाली मŐ अितįरƅ तरलता 
को अवशोिषत करते हœ, इस Ůकार मुūा˛ीित की जाँच करते 
हœ। उǄ मुūा˛ीित खराब मैŢोइकॉनॉिमक फंडामŐटल का 
संकेत है, िजसके पįरणामˢŝप िविनमय दर मŐ िगरावट 
आती है, िजसका अथŊ भारत के मामले मŐ Ŝपये का मूʞŸास 
होगा। चंूिक नसबंदी कुछ हद तक दोनो ं की जांच करने मŐ 
सƗम है; 

● िवसंŢमण मुūा˛ीित को िनयंिũत करने और Ŝपये के 
अवमूʞन को कम करने मŐ मदद करता है; इसिलए इसके 
पįरणामˢŝप Ŝपये की सराहना हो सकती है। लेिकन यह 
हमारे िनयाŊत को आयात करने वाले देशो ंमŐ महंगा बनाता है, 
Ɛोिंक मूʞŸास मुūा के पįरणामˢŝप Ůित˙धŎ िनयाŊत 
होता है। 

िवसंŢमण से कŐ ūीय बœक का िवदेशी मुūा भंडार बढ़ता है। इसिलए, 
कथन d सही नही ंहै। इसिलए, िवकʙ (b) सही उȅर है। 

 
57- उȅर d 

ʩाƥा। 
● भारतीय िवūोिहयो ं के पास अपयाŊɑ हिथयार और पįरवहन 

संसाधन 1857 के िवūोह की छोटी अविध के Ůमुख कारणो ंमŐ 
से एक थे। िŰिटश कंपनी, पर दूसरी ओर, महीनो ं के भीतर 
िवūोह को दबाने के िलए हिथयार, पįरवहन और संचार 
संसाधनो ंके गोदाम थे। अत: कथन 1 सही है। 

● बंगाल ŮेसीडŐसी के जमीदंारो,ं अवध तालुकदारो ं और कुछ 
अɊ भारतीय शासको ंऔर बुİȠजीिवयो ंने 1857 के िवūोह मŐ 
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िŰिटश कंपनी को समथŊन Ůदान िकया। यह अंŤेजो ं के िलए 
बŠत महȕपूणŊ सािबत Šआ। अत: कथन 2 सही है। 

● िविभɄ िवचारधाराओ,ं योजनाओ ं और उȞेʴो ं के साथ 
िवūोिहयो ं के बीच िविवध तȕ थे। िवūोह के अिधकांश नेता 
ʩİƅगत लाभ के िलए लड़ रहे थे और आधुिनक भारत के 
िलए एक सुसंगत िवचार की कमी थी। उस समय भारत मŐ 
आधुिनक रा Ō̓ वाद का िवकास नही ं Šआ था। अत: कथन 3 
सही है। 

 
58- उȅर b  

ʩाƥा  
● एिशयाई काला भालू (उसुŊस िथबेटेनस), और सुˑ भालू 

(मेलुरसस उिसŊनस) वतŊमान मŐ संकटŤˑ Ůजाितयो ं की 
IUCN लाल सूची मŐ सुभेȨ के ŝप मŐ सूचीबȠ हœ। अतः  कथन 
1 सही नही ंहै।  

● ये दोनो ं Ůजाितयां भारतीय वɊजीव (संरƗण) अिधिनयम 
1972 के तहत संरिƗत हœ और अवैध ʩापार के िलए आपको 
तीन से सात साल की कैद और भारी जुमाŊना या दोनो ं का 
Ůावधान है। वे CITES के पįरिशʼ I मŐ भी सूचीबȠ हœ जो इन 
Ůजाितयो ंके अंतराŊ Ō̓ ीय ʩापार पर रोक लगाते हœ।  

● एिशयाई काले भालू के िपȅाशय का पारंपįरक िचिकȖा मŐ 
उपयोग के िलए बड़ी संƥा मŐ अवैध िशकार िकया गया था, 
जबिक सुˑ भालू को उनकी ȕचा और पंजो ं के िलए मार 
िदया गया था। अतः  कथन 2 सही है।  

● एिशयाई काले भालू सिदŊयो ं के महीनो ंमŐ हाइबरनेट करते हœ 
और इसिलए शरद ऋतु के महीनो ं मŐ बलूत, बीचनट और 
अखरोट जैसे खाȨ पदाथŘ का सेवन करते हœ िजनमŐ वसा की 
एक अǅी परत बनाने के िलए उɎŐ पूरे सिदŊयो ंमŐ बनाए रखने 
के िलए उǄ वसा वाली सामŤी होती है।  

● सुˑ भालू आम तौर पर एक गुफा मŐ िदन िबताता है, एक नदी 
के िकनारे के पास एक को पसंद करता है और अɊ भालुओं 
के िवपरीत, यह हाइबरनेट नही ंकरता है, लेिकन मानसून के 
दौरान तुलनाȏक िनİʻयता की अविध होती है। अतः  कथन 
3 सही नही ंहै। 

 
59- उȅर :D 

ʩाƥा  
ːाटŊअप इंिडया सीड फंड ˋीम (SISFS) अवधारणा के Ůमाण, 
Ůोटोटाइप िवकास, उȋाद परीƗण, बाजार-Ůवेश और 
ʩावसायीकरण के िलए ːाटŊअɛ को िवȅीय सहायता Ůदान 
करती है। अतः  कथन 1 सही नही ंहै। 
 • यह उȨोग और आंतįरक ʩापार संवधŊन िवभाग (DPIIT) के साथ 
भारत सरकार की एक पहल है। 
 • सीड फंड का िवतरण पूरे भारत मŐ पाũ इ̢Ɛूबेटरो ंके माȯम से 
चयिनत ːाटŊअɛ को िकया जाता है।  
• DPIIT Ȫारा माɊता Ůाɑ एक ːाटŊअप, िजसे आवेदन के समय 2 
वषŊ से अिधक समय पहले शािमल नही ंिकया गया है, को योजना के 
िलए आवेदन करने के िलए आमंिũत िकया जाता है। अतः  कथन 2 
सही नही ंहै।  
• ʩİƅगत उȨमी योजना के तहत सहायता के िलए आवेदन करने 
के िलए पाũ नही ंहœ। 

 • योजना Ůदान करती है: Ŝपये तक। अवधारणा के Ůमाण, 
Ůोटोटाइप िवकास, या उȋाद परीƗण के सȑापन के िलए अनुदान 
के ŝप मŐ 20 लाख। Ŝपये तक। पįरवतŊनीय िडबŐचर या ऋण या 
ऋण से जुड़े उपकरणो ं के माȯम से बाजार मŐ Ůवेश, 
ʩावसायीकरण या ˋेिलंग के िलए 50 लाख का िनवेश। एक 
ːाटŊअप आवेदक योजना के िदशा-िनदőशो ंके अनुसार Ůȑेक बार 
अनुदान और ऋण/पįरवतŊनीय िडबŐचर के ŝप मŐ बीज सहायता 
Ůाɑ कर सकता है। अतः  कथन 3 सही है।  

 
60- उȅर b  

ʩाƥा  
● बलबन ने लगातार राजशाही की Ůितʿा और शİƅ को बढ़ाने 

की कोिशश की, Ɛोिंक वह आʷˑ था िक उसके सामने 
आने वाले आंतįरक और बाहरी खतरो ंका सामना करने का 
यही एकमाũ तरीका था। 

● कुलीन रƅ के अपने दावे को सािबत करने के िलए, बलबन 
तुकŎ कुलीनता के चœिपयन के ŝप मŐ सामने आया। उɎोनें 
महȕपूणŊ सरकारी पदो ं के िलए िकसी ऐसे ʩİƅ का 
मनोरंजन करने से इनकार कर िदया जो एक कुलीन पįरवार 
से संबंिधत नही ं था। इसका वˑुतः  अथŊ था भारतीय 
मुसलमानो ं को सȅा के सभी पदो ं से बाहर और Ůािधकरण 
करना । अतः  कथन 1 सही नही ंहै। 

● मंगोलो ंको खदेड़ने के िलए िजɎोनें खुद को पंजाब मŐ ̾थािपत 
कर िलया था और िदʟी सʔनत के िलए एक गंभीर खतरा 
पैदा कर िदया था, बलबन ने सैɊ िवभाग (दीवान-ए-अजŊ) को 
पुनगŊिठत िकया, और उन सैिनको ंऔर सैिनको ंको पŐशन दी 
जो अब सेवा के िलए िफट नही ंथे। अतः  कथन 2 सही है। 

● बलबन ने अपने धन और शİƅ के साथ रईसो ंऔर लोगो ंको 
Ůभािवत करने के िलए भारत मŐ ŮिसȠ फ़ारसी ȑौहार नौŝज़ 
की भी शुŜआत की। अतः  कथन 3 सही है। 

 
61- उȅर :C 

ʩाƥा 
●  भारत छोड़ो आंदोलन के दौरान, िबहार मŐ िकसान आंदोलन 

को िŰिटश सेना Ȫारा बेरहमी से दबा िदया गया था, िजसे पूरे 
गाँवो ंको Ůतािड़त करने और जलाने की खुली छूट दी गई थी। 
इसके बाद यह आंदोलन भूिमगत हो गया और लगभग 1943 
से आज़ाद दˑो ं(ˢतंũता िŰगेड) या गुįरʟा बœड नामक एक 
नए संगठनाȏक ढांचे Ȫारा समİɋत िकया गया, जो मुƥ 
ŝप से दिƗण िबहार मŐ संचािलत होता था।  

● इन आज़ाद दˑो ंको जयŮकाश नारायण ने नेपाल के इलाको ं
मŐ आयोिजत िकया था और उɎŐ गुįरʟा युȠ मŐ ŮिशिƗत 
िकया था। इसने गोला-बाŝद िडपो, कोषागारो ं और अɊ 
सरकारी कायाŊलयो ंपर छापे मारे। कांŤेस सोशिलː पाटŎ के 
कुछ नेताओ ं जैसे जयŮकाश नारायणन ने आज़ाद दˑो ं पर 
िनयंũण बनाए रखने की कोिशश की, लेिकन बाद मŐ जʗ ही 
पेशेवर डकैत िगरोहो ं के साथ संबंध िवकिसत हो गए और 
कांŤेस सोशिलː पाटŎ ने दˑो ं से दूरी बना ली। 1944 मŐ 
अंतत: दˑो ंको दबा िदया गया। • इसिलए, िवकʙ (सी) सही 
उȅर है।  
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62- उȅर : B 
 ʩाƥा 
● पंच रथ Ťेनाइट से बने अखंड भारतीय रॉक-कट आिकŊ टेƁर 

का एक उदाहरण है। पंच रथ पįरसर मŐ पांच ˝ारको ंमŐ से 
Ůȑेक एक रथ (रथ) जैसा िदखता है, और Ůȑेक को एक 
पȈर के ऊपर उकेरा गया है जो उȅर-दिƗण िदशा मŐ मामूली 
झुकाव के साथ ढलान करता है। संरचनाओ ं की Ůितʿा 
इसिलए नही ंकी गई Ɛोिंक वे नरिसंहवमŊन Ůथम की मृȑु के 
बाद पूरी नही ंŠई थी।ं इसिलए, कथन 1 सही है। 

●  ये 7वी ंशताɨी के मंिदर (या मंिदर; कोई भी शɨ उपयुƅ 
है) राजा ममʟा (नरिसंहवमŊन I, सी। 630 - 670) के 
शासनकाल के दौरान बनाए गए थे, िजनके बाद साइट 
(मामʟपुरम, िजसे महाबलीपुरम भी कहा जाता है) का नाम 
रखा गया है। अतः  कथन 2 सही नही ंहै। 

● उनका नाम ʩİƅगत ŝप से ūौपदी और महाभारत के 
पांडव भाइयो ंके नाम पर रखा गया है, हालांिक उनका मंिदर 
की गािड़यो ं या महाभारत से कोई लेना-देना नही ं है। अतः  
कथन 3 सही नही ंहै।  

 
63- उȅर : A  

ʩाƥा  
● ˙ेिनश भाषा मŐ शाİɨक ŝप से 'लड़का' और 'लड़की' के 

ŝप मŐ अनुवािदत, अल नीनो और ला नीना, एल नीनो-दिƗणी 
दोलन (ENSO) चŢ नामक एक जलवायु घटना के सटीक 
िवपरीत चरण हœ, जो Ůशांत महासागर मŐ होता है। . 
 इसमŐ पूवŎ और मȯ Ůशांत महासागर के पानी मŐ तापमान 
पįरवतŊन शािमल है।  
• ला नीना का मतलब ˙ेिनश मŐ िलिटल गलŊ होता है। 
• ला नीना को कभी-कभी एल िवएजो, अल नीनो िवरोधी या 
बस "एक ठंडी घटना" भी कहा जाता है।  
• ला नीना का Ůभाव अल नीनो के िवपरीत होता है।  
• ला नीना की घटनाओ ंके दौरान, ʩापाįरक हवाएं सामाɊ से 
भी अिधक तेज होती हœ, जो अिधक गमŊ पानी को एिशया की 
ओर धकेलती हœ। अतः  कथन 1 सही है।  
• अमेįरका के पिʮमी तट पर, जलˑर मŐ वृİȠ होती है, 
िजससे ठंडा, पोषक तȕो ंसे भरपूर पानी सतह पर आ जाता 
है। 
 • ला नीना के दौरान, Ůशांत तट का पानी ठंडा होता है और 
इसमŐ सामाɊ से अिधक पोषक तȕ होते हœ।  
• यह वातावरण अिधक समुūी जीवन का समथŊन करता है 
और अिधक ठंडे पानी की Ůजाितयो ंको आकिषŊत करता है, 
जैसे िक ˍीड और सैʝन, कैिलफ़ोिनŊया तट जैसी जगहो ं
पर।  
• यह पेŝ और इƓाडोर के दिƗण अमेįरकी देशो ंमŐ सूखा, 
ऑ Ōː े िलया मŐ भारी बाढ़, पिʮमी Ůशांत Ɨेũ मŐ उǄ तापमान, 
िहंद महासागर, सोमािलयाई तट से दूर और भारत मŐ 
तुलनाȏक ŝप से बेहतर मानसूनी बाįरश का कारण बनता 
है। अतः  कथन 2 सही नही ंहै।  
• आम तौर पर एल नीनो और ला नीना हर 4-5 साल मŐ होते 
हœ।  
• एल नीनो, ला नीना की तुलना मŐ अिधक बारंबारता है। 

 
64- उȅर :B 

ʩाƥा 
●  जावधू िहʤ (जवधी, जवधु िहʤ भी) पूवŎ घाट का एक 

िवˑार है जो दिƗण-पूवŎ भारत मŐ तिमलनाडु राǛ के उȅरी 
भाग मŐ वेʟोर और ितŜवɄामलाई िजलो ं के िहˣो ं मŐ फैला 
Šआ है। अत: कथन 1 सही है।  

● मलयाली आिदवासी लोग इस ɰॉक मŐ कुल आबादी का 
92.60% िहˣा हœ और उनका मुƥ आधार गैर-लकड़ी वन 
उपज और इस पǥा भूिम पर उगाए जाने वाले िविभɄ Ůकार 
के पेड़ जैसे इमली, कटहल, नाįरयल, नीबूं और केला और 
आंवला हœ। अत: कथन 2 सही नही ंहै। 

●  वैनू बापू वेधशाला, भारतीय खगोल भौितकी सं̾थान के 
ˢािमȕ और संचािलत भारत की खगोलीय वेधशाला, जावड़ी 
पहािड़यो ंमŐ कवलूर मŐ İ̾थत है। अत: कथन 3 सही है।  

 
65- उȅर :C 

ʩाƥा:  
"आिदवासी महोȖव, अनुसंधान, सूचना और जन िशƗा" योजना के 
उǽृʼता कŐ ūो ंको समथŊन के िलए िवȅीय सहायता के तहत, िवȅीय 
सहायता जनजातीय भाषाओ ंके Ůलेखन सिहत अनुसंधान अȯयन 
कायŊŢम चलाने के िलए Ůितिʿत सं̾थान को Ůदान िकया जाता है। 
 इस संबंध मŐ, मंũालय ने 2018-19 और 2019-20 के दौरान भाषा 
अनुसंधान और Ůकाशन कŐ ū को पįरयोजनाओ ं को मंजूरी दी है, 
िजसमŐ अɊ बातो ं के साथ-साथ लुɑŮाय/मृȑु वाली भाषाओ ं की 
पहचान और Ůलेखन की गितिविध शािमल है।1. संगठन ने कोरकू, 
िनहाली, कोलामी, वादी, हलपित, डंूगरा भीली, धावडी, धǥी, थाली, 
नाहल और सेहįरया भाषाओ ंका Ůलेखन िकया है। इसिलए िवकʙ 
(सी) सही है। 

 
66- उȅर : B 

ʩाƥा:  
डंडेली वɊजीव अभयारǻ उȅर कɄड़, कनाŊटक मŐ İ̾थत है, और 
काली नदी के तट पर İ̾थत है। यह काली टाइगर įरजवŊ (िजसे पहले 
डंडेली अंशी टाइगर įरजवŊ कहा जाता था) का िहˣा है। [काली 
टाइगर įरजवŊ मŐ दो संरिƗत Ɨेũ हœ - डंडेली वɊजीव अभयारǻ 
और अंशी रा Ō̓ ीय उȨान]। इसिलए, िवकʙ (बी) सही है। 

 
67- उȅर :A  

ʩाƥा:  
● Ɋायालय की दƗता मŐ सहायता के िलए सुŮीम कोटŊ का पोटŊल 

एक ऐसा उपकरण है जो Ůासंिगक तȚो ं और कानूनो ं को 
एकũ करता है और उɎŐ Ɋायाधीश को उपलɩ कराता है। 
अत: कथन 1 सही है। 

●  इसे इस पर कोई िनणŊय लेने के िलए िडजाइन नही ंिकया गया 
है। इसका उपयोग बॉɾे और िदʟी उǄ Ɋायालयो ं के 
Ɋायाधीशो ं Ȫारा Ůायोिगक आधार पर िकया जाएगा। अतः  
कथन 2 और 3 सही नही ंहœ।  

 
68- उȅर d  

ʩाƥा। 
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● एसडीआर 1969 मŐ आईएमएफ Ȫारा बनाया गया था  
● इसे सद˟ देशो ं के मौजूदा मुūा भंडार के पूरक के ŝप मŐ 

संचािलत िकया जाता है।  
● एसडीआर को पेपर गोʒ भी कहा जाता है लेिकन यह न तो 

कागज है और न ही सोना। यह एक लेखा Ůिविʼ है। 
 
69- उȅर :B 

ʩाƥा।  
● बीओपी एक सांİƥकीय िववरण को संदिभŊत करता है जो 

एक िनिʮत अविध के दौरान दुिनया के साथ देश के िनवािसयो ं
के मौिūक लेनदेन के लेखांकन को įरकॉडŊ करता है।  

● बीओपी मजबूत होता है Ɛोिंक िनयाŊत मŐ सुधार होता है और 
आयात मŐ िगरावट आती है। िकसी देश की बीओपी का 
उपयोग िकसी देश की मुūा के मूʞ मŐ वृİȠ या मूʞŸास के 
संकेतक के ŝप मŐ िकया जाता है। रीड के 2022 सʃेलन की 
थीम भी िवदेशी मुūा भंडार मŐ बदलाव को दशाŊती है। 

 
70- उȅर  a 

ʩाƥा। 
● सूचना ही बाजार की िवफलता का कारण बन सकती है। नीबूं 

के िलए बाजार एक ऐसी İ̾थित को संदिभŊत करता है जहां 
िवŢेताओ ंको िबŢी के िलए अǅी तरह से उपयोग की जाने 
वाली कारो ं की गुणवȅा के बारे मŐ खरीदारो ं की तुलना मŐ 
बेहतर जानकारी दी जाती है।  

● सूचनाȏक िवषमता िवŢेताओ ंको खरीदारो ंसे अिधक पता है 
िक बाजार के पतन का कारण बनता है। िनरीƗण, वारंटी और 
Ůमाणन नीबूं की सम˟ा को कम करते हœ। 

●  इन महंगे समाधानो ंका अİˑȕ ही इस बात का Ůमाण है िक 
नीबूं की सम˟ा (सूचनाȏक िवषमता ʩापार के िलए एक 
बाधा है) एक वाˑिवक और महȕपूणŊ सम˟ा है। 

●  नीबूं की सम˟ा का एक उदाहरण आिवʺारक है जो एक 
ऐसा िवचार बनाता है जो पेटŐट के िलए मुİʭल या असंभव है 
और Ůकट िकए िबना सȑािपत नही ं िकया जा सकता है 
इसिलए, िवकʙ (ए) सही है।  

 
71- उȅर सी  

ʩाƥा  
● यह इंटरपोल (अंतराŊ Ō̓ ीय आपरािधक पुिलस संगठन) के साथ 

संपकŊ  के िलए भारत का आिधकाįरक ŝप से नािमत एकल 
िबंदु है। अत: कथन 1 सही है। 

●  राǛो ंके मामले मŐ, सीबीआई राǛ मŐ िकसी मामले को तभी 
ले सकती है जब राǛ सरकार कŐ ū से एजŐसी Ȫारा जांच करने 
के िलए कहे, या उǄ Ɋायालय या सवŖǄ Ɋायालय के 
आदेश पर। लेिकन कŐ ū शािसत Ůदेशो ंके साथ, यह अपराधो ं
की ˢत: संǒान लेकर जांच कर सकता है। 

●  यह कािमŊक, लोक िशकायत और पŐशन मंũालय के अिधकार 
Ɨेũ मŐ काम करता है। मूल ŝप से įरʷत और सरकारी 
űʼाचार की जांच के िलए ̾थािपत, 1965 मŐ इसे भारत 
सरकार Ȫारा लागू कŐ ūीय कानूनो ं के उʟंघन, बŠ-राǛ 
संगिठत अपराध, और बŠ-एजŐसी या अंतराŊ Ō̓ ीय मामलो ं की 

जांच करने के िलए िवˑाįरत अिधकार Ɨेũ Ůाɑ Šआ। अत: 
कथन 3 सही है। 

 
72- उȅर d 

 ʩाƥा।  
● भाषाई आधार पर राǛ के िनमाŊण की िफर से जांच करने के 

िलए फ़ज़ल अली आयोग की ̾थापना की गई थी। फ़ज़ल अली 
आयोग ने भाषाई और सांˋृितक समŝपता का समथŊन 
िकया लेिकन, इसने 'एक भाषा-एक राǛ' के िसȠांत को 
खाįरज कर िदया। इसका िवचार था िक भारत की एकता को 
देश की राजनीितक इकाइयो ं के िकसी भी पुनिनŊधाŊरण मŐ 
Ůाथिमक िवचार के ŝप मŐ माना जाना चािहए। अतः  कथन 1 
सही नही ंहै। 

● भारतीय आपातकाल (1975-77) मŐ Šई सभी Ǜादितयो ं की 
जाँच करने के िलए 1977 मŐ भारत सरकार Ȫारा िनयुƅ जाँच 
आयोग के ŝप मŐ ɊायमूितŊ जे.सी. शाह आयोग की ̾थापना 
की गई थी। शाह आयोग 1966 की िसफाįरश पर। पंजाबी 
भाषी Ɨेũो ंको पंजाब के एकभाषी राǛ मŐ गिठत िकया गया 
था, िहंदी भाषी Ɨेũो ंको हįरयाणा राǛ मŐ गिठत िकया गया था 
और पहाड़ी Ɨेũो ं को िहमाचल Ůदेश के िनकटवतŎ कŐ ū 
शािसत Ůदेश मŐ िमला िदया गया था। अत: कथन 2 सही नही ं
है।  

 
73- उȅर :c 

ʩाƥा: 
●  लॉडŊ वेलेˠी Ȫारा वषŊ 1799 मŐ Ůेस अिधिनयम की सŐसरिशप 

के माȯम से Ůेस सŐसरिशप लागू की गई थी, िजसने भारत से 
Ůकािशत होने वाले समाचार पũो ंपर सƢ Ůितबंध लगा िदया 
था। अत: कथन 1 सही है।  

● अिधिनयम के अनुसार, समाचार पũो ंको िनदőश िदया गया था 
िक वे Ůȑेक अंक, मुūक, संपादक और मािलक का नाम ˙ʼ 
ŝप से छापŐ। Ůकाशको ं को सरकार के सिचव को पूवŊ-
सŐसरिशप के िलए सभी सामŤी जमा करनी थी। इन िनयमो ं
का उʟंघन दंडनीय अपराध था। लॉडŊ हेİːंƺ के तहत इन 
Ůितबंधो ंमŐ ढील दी गई थी। अत: कथन 2 सही है।  

● Ůȑेक Ůकाशक को सरकार से लाइसŐस Ůाɑ करना 
आवʴक था, िडफ़ॉʐ के मामले मŐ, जुमाŊना 400 Ŝपये था 
और सरकार Ȫारा Ůेस को बंद कर िदया जाएगा, गवनŊर 
जनरल जॉन एडʈ Ȫारा अिधिनयिमत लाइसŐिसंग िविनयम, 
1823 का Ůावधान है। अतः  कथन 3 सही नही ंहै। 

 
74- उȅर c 

ʩाƥा  
● 1793 से पहले, भूिम का ˢािमȕ समुदाय पर आधाįरत था, 

और भूिम के ʩİƅगत ˢािमȕ की कोई अवधारणा नही ंथी। 
लेिकन लॉडŊ कानŊवािलस ने ̾थायी बंदोबˑ की शुŜआत की, 
िजसने भूिम पर ʩİƅगत संपिȅ का अिधकार बनाया। उɎोनें 
आशा ʩƅ की िक कानून का शासन और िनजी संपिȅ के 
अिधकार ʩİƅगत उȨमो ं को रीित-įरवाजो ं और परंपरा के 
बंधनो ं से मुƅ करŐ गे। और इससे कृिष भूिम मŐ िनवेश बढ़ेगा 
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और अथŊʩव̾था और समाज मŐ आधुिनकीकरण आएगा। 
अत: कथन 1 सही है। 

●  मūास के गवनŊर सर थॉमस मुनरो ने सोचा िक कॉनŊवािलस 
̾थायी बंदोबˑ Ůणाली ने भारतीय परंपरा और अनुभव पर 
ȯान नही ं िदया। उɎोनें सोचा िक इस तरह के सुधारो ं को 
भारतीय संदभŊ के अनुŝप संशोिधत िकया जाना चािहए और 
इसिलए उɎोनें भारत के Ťामीण समुदायो ंको संरिƗत करने 
और कंपनी की सरकार की सुरƗाȏक भूिमका पर जोर देने 
के िलए रैयतवारी बंदोबˑ की शुŜआत की। 

●  लेिकन अंततः , उनका उȞेʴ कंपनी के राजˢ आधार का 
िवˑार करके दिƗण मŐ कंपनी के राǛ को मजबूत करना था, 
जहां बड़ी संƥा मŐ िŰिटश अिधकाįरयो ंȪारा भूिम कर सीधे 
िकसानो ंसे एकũ िकया जाएगा। अत: कथन 2 सही है। 

 
75- उȅर d 

ʩाƥा  
● मंũी सामाɊ ŝप से संसद के Ůित और िवशेष ŝप से 

लोकसभा के Ůित सामूिहक ŝप से उȅरदायी होते हœ। इसका 
मतलब यह है िक वे तब तक पद पर बने रहते हœ जब तक वे 
लोकसभा मŐ बŠमत वाले सद˟ो ंके िवʷास का आनंद लेते हœ। 
दूसरे शɨो ंमŐ, मंिũपįरषद को उसके Ȫारा पद से हटाया जा 
सकता है लोक सभा Ȫारा अिवʷास Ůˑाव पाįरत करके। 
लोकसभा िनɻिलİखत तरीको ं से भी सरकार मŐ िवʷास की 
कमी ʩƅ कर सकती है:  
1) धन िवधेयक को अˢीकार करके  
2) रा Ō̓ पित के उद्घाटन अिभभाषण पर धɊवाद Ůˑाव 
पाįरत न करके। 
 3) एक महȕपूणŊ मुȞे पर सरकार को हरा कर। (संवैधािनक 
संशोधन िवधेयक की अˢीकृित सरकार मŐ िवʷास की कमी 
को ʩƅ करने के बराबर नही ंहै) 
 4) िनंदा Ůˑाव या ̾थगन Ůˑाव पाįरत करके। 
 5) कट मोशन पास करके  

 
76- उȅर a 

यह असम के भीतर कुछ आिदवासी Ɨेũो ं मŐ एक 'ˢायȅ 
राǛ' के िनमाŊण की अनुमित देता है। 
इसे संिवधान (बाईसवाँ संशोधन) अिधिनयम, 1969 Ȫारा 
डाला गया था। 
छठी अनुसूची के तहत ˢायȅ पįरषदो ंमŐ, उनके पास कानून 
और ʩव̾था का अिधकार Ɨेũ नही ंहै। 
 

77- उȅर a 
यह हवा से ŮƗेिपत की जाने वाली मȯम दूरी की बैिलİːक 
िमसाइल है। 
इसे संभािवत िवरोिधयो ंकी उǄ-मूʞ वाली अचल और चल 
संपिȅयो,ं जैसे लंबी दूरी के रडार और वायु रƗा Ůणािलयो ं
को लिƗत करने के िलए िडज़ाइन िकया गया है। 
यह नई मȯम दूरी की बैिलİːक िमसाइल 'अिư' ŵंृखला की 
िमसाइल Ůणािलयो ंका िहˣा नही ंहै। 
 

78- उȅर डी 
कथन 1 सही है: 
अनुǅेद 361 रा Ō̓ पित और राǛपालो ंको उनके कायŊकाल 
के दौरान मुकदमा चलाने या मुकदमा चलाने से छूट Ůदान 
करता है। यह सुरƗा यह सुिनिʮत करने के िलए महȕपूणŊ है 
िक सवŖǄ संवैधािनक अिधकारी ʩİƅगत ŝप से िनदő िशत 
कानूनी कारŊवाइयो ंमŐ हˑƗेप िकए िबना अपने कतŊʩो ंका 
पालन कर सकŐ । 
कथन 2 सही है: 
अनुǅेद 361 संिवधान Ȫारा गारंटीकृत कुछ मौिलक 
अिधकारो ं के अपवाद का Ůितिनिधȕ करता है, िजसमŐ 
अनुǅेद 14 भी शािमल है, जो समानता के अिधकार को 
बरकरार रखता है। जबिक अनुǅेद 14 सभी नागįरको ं के 
िलए कानून के समƗ समानता और कानूनो ंकी समान सुरƗा 
̾थािपत करता है, अनुǅेद 361 रा Ō̓ पित और राǛपालो ंके 
िलए उनकी संवैधािनक भूिमकाओ ं की अनूठी Ůकृित के 
कारण िविशʼ अपवाद पेश करता है। यह माɊता इन 
कायाŊलयो ं से जुड़ी िवशेष İ̾थित और िजʃेदाįरयो ं को 
ˢीकार करती है। 
कथन 3 सही है: 
अनुǅेद 361 राǛपाल या रा Ō̓ पित Ȫारा पद पर उनकी 
िनयुİƅ से पहले भी िकए गए कायŘ के िलए छूट Ůदान 
करता है। इसका ताȋयŊ यह है िक, चाहे उनके चुनाव से 
पहले या उसके दौरान शुŝ िकया गया हो, उनकी ʩİƅगत 
Ɨमताओ ंमŐ िकए गए कायŘ के िनवारण की मांग करने वाली 
िकसी भी नागįरक कारŊवाई को उनके पद पर रहते Šए आगे 
बढ़ने से रोक िदया जाता है। 
कथन 4 सही है: 
रा Ō̓ पित और राǛपालो ंको अनुǅेद 361 Ȫारा कायाŊलय मŐ 
सेवा करते समय िगरɞारी और कारावास से संरिƗत िकया 
जाता है। कायाŊलय की गįरमा की रƗा करने और यह 
सुिनिʮत करने के िलए िक Ɋाियक कायŊवाही संवैधािनक 
अिधकाįरयो ंकी अपने कतŊʩो ंको पूरा करने की Ɨमता मŐ 
हˑƗेप नही ंकरती है, यह Ůावधान आवʴक है। 

 
 

79- उȅर a 
यह गैस टरबाइन इंजन Ȫारा संचािलत एक लागत Ůभावी 
पुन: ŮयोǛ उǄ सबसोिनक हवाई लƙ Ůणाली है। 
इसे भारतीय सश˓ बलो ंके िलए डीआरडीओ की सहायक 
कंपनी एयरोनॉिटकल डेवलपमŐट एːेİɰशमŐट (एडीई) Ȫारा 
िडजाइन और िनिमŊत िकया गया था। 
 

80- उȅर d 

पिʮम अůीकी राǛो ंका आिथŊक समुदाय लागोस संिध Ȫारा 
̾थािपत िकया गया था। अतः , कथन 1 सही है। 
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इसका दाियȕ अपने सद˟ो ंके बीच आिथŊक एकीकरण को 
बढ़ावा देना है। तो, कथन 2 सही है। 
ECOWAS का ̊िʼकोण "सीमाहीन Ɨेũ" का िनमाŊण है। 
अतः , कथन 3 सही है। 
पिʮम अŽीकी मौिūक एजŐसी ECOWAS की एक िवशेष 
एजŐसी है। अतः , कथन 4 सही है। 
 

81- उȅर a 
इस योजना के तहत, छाũ कƗा 9 से 10 तक Ůी-मैिटŌ क 
छाũवृिȅ और पोː-मैिटŌ क या पोː-माȯिमक ˑर पर 
अपने उǄ अȯयन के िलए पोː मैिटŌ क छाũवृिȅ का लाभ 
उठा सकते हœ। तो, कथन 2 गलत है। 
सामािजक Ɋाय और अिधकाįरता मंũालय ओबीसी और 
अɊ लोगो ं के िलए एक ʩापक योजना लागू कर रहा है, 
िजसका नाम है पीएम यंग अचीवसŊ ˋॉलरिशप अवाडŊ  
ˋीम फॉर वाइŰŐट इंिडया (पीएम-यसएएसवीआई)। अतः , 
कथन 3 सही नही ंहै। 
 

82- उȅर c 
जीवन रƗा पदक ŵंृखला के पुरˋार िकसी ʩİƅ के जीवन 
को बचाने मŐ मानव ˢभाव के सराहनीय कायŊ के िलए िदए 
जाते हœ। अतः , कथन 1 सही है। 
यह पुरˋार तीन ŵेिणयो,ं सवŖȅम जीवन रƗा पदक, उȅम 
जीवन रƗा पदक और जीवन रƗा पदक मŐ िदया जाता है। 
तो, कथन 2 सही है। 
जीवन के सभी Ɨेũो ंके ʩİƅ इन पुरˋारो ंके िलए पाũ हœ। 
यह पुरˋार मरणोपरांत भी Ůदान िकया जा सकता है। 
अतः , कथन 3 सही है। 
 

83- उȅर b 

कथन 1 गलत है: यह दो चरणो ंवाली कनˑर वाली िमसाइल 
है िजसकी अिधकतम सीमा 1,000 से 2,000 िकमी है। 
कथन 2 सही है: 'अिư Ůाइम' या 'अिư-पी' अिư वगŊ की 
िमसाइलो ं का एक परमाणु-सƗम नई पीढ़ी का उɄत 
संˋरण है। यह IGMDP - इंटीŤेटेड गाइडेड िमसाइल 
डेवलपमŐट ŮोŤाम के तहत बनाई गई अिư ŵंृखला की छठी 
िमसाइल है। 
कथन 3 सही है: 'अिư Ůाइम' िमसाइल अिư ŵंृखला की सभी 
िपछली िमसाइलो ंसे हʋी है। 
 

84- उȅर- c 
˙ʼीकरण 
कथन 1 सही है: भारतीय लॉरेल वृƗ, िजसे वैǒािनक ŝप से 
िफ़कस माइŢोकापाŊ के ŝप मŐ जाना जाता है, 
उˁकिटबंधीय या उपोˁकिटबंधीय वृƗ है। 

कथन 2 सही है: भारत मŐ, यह मुƥ ŝप से दिƗणी भारत मŐ 
1000 मीटर तक सूखे और नम दोनो ं Ůकार के पणŊपाती 
जंगलो ंमŐ पाया जाता है। 
कथन 3 सही है: इसकी पिȅयो ंका उपयोग एंथेįरया पिफया 
(रेशम के कीड़ो)ं Ȫारा भोजन के ŝप मŐ िकया जाता है जो 
टसर रेशम (तुˣा) का उȋादन करते हœ, जो ʩावसाियक 
ŝप से महȕपूणŊ जंगली रेशम का एक ŝप है। 
 

85- उȅर c 
एक पेपर के अनुसार, कʟाſडल मूल ŝप से Ůी-मॉनसून 
(अŮैल-मई) सीज़न के दौरान भारत के दिƗण-पिʮमी तट 
पर Ůचंड लहरो ंके कारण होने वाली तटीय बाढ़ है। 
 

86- उȅर a 
कथन 1 ग़लत है: 
यह भारत का दूसरा Ůदूषण िनयंũण पोत है (पहला 
आईसीजीएस समुū Ůहरी था। 
कथन 2 ग़लत है: 
समुū पहरेदार का िनमाŊण ˢदेशी ŝप से एबीजी िशपयाडŊ , 
सूरत Ȫारा िकया गया था। 
कथन 3 सही है: 
यह जहाज 502 िकलोलीटर की भंडारण Ɨमता के साथ, 
िबना िकसी बाधा के तेल-वसूली कायŘ मŐ सƗम है। 
कथन 4 ग़लत है: 
भारतीय तट रƗक जहाज समुū पहरेदार मुआरा, Űुनेई मŐ 
एक बंदरगाह पर कॉल करता है 
यह दौरा आिसयान देशो ंमŐ चल रही िवदेशी तैनाती के िहˣे 
के ŝप मŐ िकया गया था। 
आिसयान देशो ं मŐ आईसीजी के िवशेष जहाजो ं की याũा 
समुūी Ůदूषण के िलए भारत आिसयान पहल के अनुसरण मŐ 
है, जैसा िक रƗा मंũी ŵी राजनाथ िसंह ने वषŊ 2022 मŐ 
कंबोिडया मŐ आिसयान रƗा मंũी ɘस बैठक के दौरान 
घोषणा की थी। 
 

87- उȅर b 

िडŌ प Ůाइिसंग एक मूʞ िनधाŊरण तकनीक है िजसमŐ कंपिनयां 
िकसी उȋाद की कीमत के केवल एक िहˣे का िवǒापन 
करती हœ और अɊ शुʋो ं का खुलासा बाद मŐ करती हœ 
Ɛोिंक Ťाहक खरीदारी ŮिŢया से गुजरता है। 
 

88- उȅर a 
यह एक उǄ-ऊंचाई, लंबे समय तक सहन करने वाला 
सश˓ मानव रिहत हवाई वाहन (यूएवी) है, जो दूर से 
िनयंिũत या ˢायȅ उड़ान संचालन मŐ सƗम है। 
यह जनरल एटॉिमƛ एयरोनॉिटकल िसːʈ (GA-ASI) 
Ȫारा िवकिसत MQ-9 "रीपर" का एक Ůकार है, िजसका 
Ůाथिमक उȞेʴ संयुƅ राǛ वायु सेना (USAF) के िलए है। 
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यह सुरिƗत ŝप से नागįरक हवाई Ɨेũ मŐ एकीकृत हो 
सकता है, िजससे संयुƅ बलो ंऔर नागįरक अिधकाįरयो ंको 
िदन या रात, समुūी Ɨेũ मŐ वाˑिवक समय İ̾थितजɊ 
जागŝकता Ůाɑ करने मŐ सƗम बनाया जा सकता है। 
 

89- उȅर b 

आम तौर पर, इन सं̾थानो ंको जनता से पारंपįरक मांग जमा 
लेने की अनुमित नही ंहै। वे केवल साविध जमा ˢीकार कर 
सकते हœ, और वे बचत या चालू खाता सुिवधाएं Ůदान नही ं
करते हœ। 
एनबीएफसी िडमांड िडपॉिजट ˢीकार नही ंकर सकते। 
एनबीएफसी भुगतान और िनपटान Ůणाली का िहˣा नही ं
बनते हœ और ˢयं आहįरत चेक जारी नही ंकर सकते हœ 
जमा बीमा और Ţेिडट गारंटी िनगम की जमा बीमा सुिवधा 
बœको ंके मामले के िवपरीत, एनबीएफसी के जमाकताŊओ ंके 
िलए उपलɩ नही ंहै। 
 

90- उȅर b 

यह महारा Ō̓  मŐ पिʮमी घाट की स˨ािū पवŊतमाला मŐ İ̾थत 
है। 
टाइगर įरज़वŊ की सबसे िविशʼ िवशेषता कई बंजर चǥानी 
और लेटराइट पठारो ंकी उपİ̾थित है, िजɎŐ ̾थानीय ŝप से 
"सदा" कहा जाता है। 
इस टाइगर įरज़वŊ के Ɨेũ मŐ कोयना बांध, वानाŊ नदी और 
पिʮमी घाट से िनकलने वाली और पूवŊ की ओर बहने वाली 
कई अɊ छोटी निदयाँ और धाराएँ शािमल हœ। 
 

91- उȅर a 
यह पहली ˢतंũ 2D धातु है और केवल एक परमाणु मोटी 
है। इसका उपयोग इलेƃŌ ॉिनƛ उȨोग मŐ िकया जा सकता 
है। 
इसका उपयोग काबŊन डाइऑƛाइड ŝपांतरण, हाइडŌ ोजन-
उȋɄ उȌेरण, मूʞ विधŊत रसायनो ंके चयनाȏक उȋादन, 
हाइडŌ ोजन उȋादन, जल शोधन आिद मŐ भी िकया जा सकता 
है। 
 

92- उȅर b 

FWD-200B - एक मȯम ऊंचाई, लंबी सहनशİƅ (MALE) 
मानव रिहत लड़ाकू हवाई वाहन। 
बŐगलुŜ मŐ एक भारतीय रƗा और एयरो˙ेस फमŊ ɢाइंग 
वेज िडफŐ स एंड एयरो˙ेस टेƋोलॉजीज Ȫारा िवकिसत। 
इसकी पेलोड Ɨमता 100 िकलोŤाम है और यह ऑिɐकल 
सिवŊलांस पेलोड के साथ-साथ सटीक हवाई हमले वाले 
हिथयार भी ले जा सकता है। 
 

93- उȅर d 

यह पहली ˢतंũ 2डी धातु और दुिनया की सबसे पतली सोने 
की पȅी है, जो केवल एक परमाणु मोटी है। 
इसका उपयोग उȌेरक के ŝप मŐ िकया जा सकता है 
Ɛोिंक यह मोटे, िũ-आयामी सोने की तुलना मŐ आिथŊक ŝप 
से कही ंअिधक ʩवहायŊ है। 
 

94- उȅर a 
यह अपनी तीŴ गित के िलए जाना जाता है। 
एटा एƓाįरड उʋापात - तब बनता है जब पृțी ŮिसȠ 
हैली धूमकेतु के कƗीय तल से गुजरती है, िजसे सूयŊ की एक 
बार पįरŢमा करने मŐ लगभग 76 वषŊ लगते हœ। 
उʋाएँ - ये केवल धूल या चǥान के कण हœ जो पृțी के 
वायुमंडल मŐ Ůवेश करते ही जल जाते हœ। इस जलने से एक 
संिƗɑ पँूछ भी बन जाती है। 
 

95- उȅर : b 

पेिनिसिलन, िजसकी खोज 1928 मŐ अलेƂŐडर ɢेिमंग ने 
की थी, पेिनिसिलयम मोʒ से Ůाɑ एक एंटीबायोिटक एजŐट 
है। 
काबाŊपेनेʈ और एमोİƛिसिलन पेिनिसिलन के ʩुȋɄ हœ। 
इसके चलते भारतीय कंपिनयां पेिनिसिलन और इसके 
मȯवतŎ उȋादो ं के उȋादन के िलए पूरी तरह से चीन पर 
िनभŊर हो गईं। 
 

96- उȅर b 

सीपीजीआरएएमएस नागįरको ं को अपील की सुिवधा भी 
Ůदान करता है यिद वे िशकायत अिधकारी के समाधान से 
संतुʼ नही ंहœ। इसिलए, कथन 3 सही नही ंहै। 
 

97- उȅर a 
वैिʷक जीडीपी वृİȠ: įरपोटŊ मŐ वैिʷक सकल घरेलू उȋाद 
(जीडीपी) की वृİȠ मŐ 2023 मŐ अनुमािनत 2.7% से 2024 मŐ 
2.4% तक की िगरावट का अनुमान लगाया गया है। इसिलए, 
कथन 1 सही नही ंहै। 
मुūा˛ीित: वैिʷक हेडलाइन मुūा˛ीित 2022 मŐ 8.1% से 
िगरकर 2023 मŐ अनुमािनत 5.7% हो गई और 2024 मŐ 
घटकर 3.9% होने का अनुमान है। इसिलए, कथन 2 सही 
नही ंहै। 
जलवायु पįरवतŊन: आईपीसीसी का अनुमान है िक अकेले 
तापमान के Ůभाव के कारण 2100 तक वैिʷक सकल घरेलू 
उȋाद मŐ 10 से 23% की हािन होगी। अतः , कथन 3 सही है। 
 

98- उȅर c 
हाल ही मŐ, सामािजक Ɋाय और अिधकाįरता मंũालय ने 
Ůधान मंũी अनुसूिचत जाित अɷुदय योजना (पीएम-
एजेएवाई) पर Ůकाश डाला, जो तीन कŐ ū Ůायोिजत 
योजनाओ ंको िमलाकर एक ʩापक योजना है। 
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इन योजनाओ ंमŐ शािमल हœ: 
Ůधानमंũी आदशŊ Ťाम योजना (पीएमएजीवाई), 
अनुसूिचत जाित उपयोजना (एससीए से एससीएसपी) के िलए 
िवशेष कŐ ūीय सहायता, और 
बाबू जगजीवन राम छाũावास योजना (बीजेआरसीवाई)। 
(पीएमएवाई को इस योजना के तहत िवलय नही ं िकया गया 
है)। इसिलए, कथन 1 और कथन 3 सही हœ। 
िवȅीय वषŊ 2021-22 मŐ शुŝ की गई इस पहल का उȞेʴ 
कौशल िवकास, आय-सृजन योजनाओ ंऔर िविभɄ पहलो ंके 
माȯम से रोजगार के अवसर पैदा करके अनुसूिचत जाित 
(एससी) समुदायो ंका उȈान करना है। अतः , कथन 2 सही 
है। 
 

99- उȅर d 

भारत-मालदीव संबंध: 
आठ िडŤी चैनल भारतीय िमिनकॉय (लƗȪीप Ȫीप समूह का 
िहˣा) को मालदीव से अलग करता है। अतः , कथन 1 सही 
है। 
रƗा सहयोग संयुƅ अɷासो ं - "एकुवेįरन", "दोˑी", 
"एकथा" और "ऑपरेशन शीʒ" (2021 मŐ शुŝ) के Ɨेũो ं
तक फैला Šआ है। अतः , कथन 2 सही है। 
भारत मालदीव के रा Ō̓ ीय रƗा बल (एमएनडीएफ) के िलए 
सबसे बड़ी संƥा मŐ ŮिशƗण के अवसर Ůदान करता है, जो 
उनकी रƗा ŮिशƗण आवʴकताओ ंका लगभग 70% पूरा 
करता है। अतः , कथन 3 सही है। 
 

100- उȅर c 
मसूर, चपटी िडˋ के आकार के बीजो ंवाली एक फिलयां, 
छोटे कद और ˢ-परागण वाले फूलो ंवाले झाड़ीदार वािषŊक 
पौधे हœ। अतः , कथन 1 सही है। 
मसूर, एक वषाŊ आधाįरत फसल है, जो वान˙ितक िवकास 
के दौरान ठंडे तापमान और पįरपƓता के समय गमŊ 
तापमान मŐ पनपती है, आमतौर पर इसकी खेती रबी मौसम 
मŐ की जाती है। अतः , कथन 2 सही है। 
उȅर Ůदेश और मȯ Ůदेश के बुȽेलखǷ Ɨेũ को दाल का 
कटोरा माना जाता है जो देश के कुल दाल उȋादन मŐ 
लगभग 25% का योगदान देता है। अतः , कथन 3 सही है। 
 
 

 
 

 
 
 

 

 
 


